5| THE INTEGRAL

5.1 Approximating and Computing Area

Preliminary Questions

1. Suppose that [2, 5] is divided into six subintervals. What are the right and left endpoints of the subintervals?
SOLUTION If the interval [2, 5] is divided into six subintervals, the length of each subinterval is 5—g2 = % The right

endpoints of the subintervals are then 3,3, 7,4, 3,5, while the left endpoints are 2, 3,3, £, 4, 3.

2. If f(x) = x~2on [3, 7], which is larger: Ry or L»?
SOLUTION On [3, 7], the function f(x) = x~2 is a decreasing function; hence, for any subinterval of [3, 7], the

function value at the left endpoint is larger than the function value at the right endpoint. Consequently, L, must be larger
than R».

3. Which of the following pairs of sums are not equal?

4 4 4 5
@ i O k2
i=1 =1 j=1 k=2
4 5 4 5
(c) B (i—-1) (d i+, (i —Dj
=1 i=2 i=1 j=2
SOLUTION

(a) Only the name of the index variable has been changed, so these two sums are the same.

(b) These two sums are not the same; the second squares the numbers two through five while the first squares the
numbers one through four.

(c) These two sums are the same. Note that when i ranges from two through five, the expression i — 1 ranges from one
through four.

(d) These two sums are the same. Both sumsare1-2+2-3+3-4+4.5,

100 100 100 100
4. Explain why j isequal to j but 1is not equal to 1.
=1 j=0 =1 j=0
SOLUTION  The first term in the sum :J|_.0=00 j is equal to zero, so it may be dropped. More specifically,
100 100 100
j=0+ j= ]
i=0 i=1 =1
On the other hand, the first term in 110:00 1 is not zero, so this term cannot be dropped. In particular,
100 100 100
1=1+ 1= 1
j=0 =1 =1

5. We divide the interval [1, 5] into 16 subintervals.
(a) What are the left endpoints of the first and last subintervals?
(b) What are the right endpoints of the first two subintervals?

SOLUTION  Note that each of the 16 subintervals has length >l = 1.
(a) The left endpoint of the first subinterval is 1, and the left endpoint of the last subinterval is 5 — % = 17.

(b) The right endpoints of the first two subintervalsare 1 + + = 2and1+2 1 =3,
171 7 =3

6. Are the following statements true or false?
(a) The right-endpoint rectangles lie below the graph if f(x) is increasing.
(b) If f(x) is monotonic, then the area under the graph lies between Ry and Ly .
(c) If f(x) is constant, then the right-endpoint rectangles all have the same height.
SOLUTION
(a) False. If fis increasing, then the right-endpoint rectangles lie above the graph.
(b) True. If f(x) is increasing, then the area under the graph is larger than Ly but smaller than Ry ; on the other hand,
if f(x) is decreasing, then the area under the graph is larger than Ry but smaller than L.
(c) True. The height of the right-endpoint rectangles is given by the value of the function, which, for a constant function,
is always the same.
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Exercises

1. An athlete runs with velocity 4 mph for half an hour, 6 mph for the next hour, and 5 mph for another half-hour.
Compute the total distance traveled and indicate on a graph how this quantity can be interpreted as an area.

SOLUTION The figure below displays the velocity of the runner as a function of time. The area of the shaded region
equals the total distance traveled. Thus, the total distance traveled is (4) (0.5) + (6) (1) + (5) (0.5) = 10.5 miles.

BN WS 0o

Velocity (mph)

05 1 15 2
Time (hours)

2. Figure 14 shows the velocity of an object over a 3-min interval. Determine the distance traveled over the intervals
[0, 3] and [1, 2.5] (remember to convert from miles per hour to miles per minute).

mph

30

20

10

1 2 3 min
FIGURE 14

SOLUTION The distance traveled by the object can be determined by calculating the area underneath the velocity graph
over the specified interval. During the interval [0, 3], the object travels

10 1 25 15 1 20 23 )
— -+ — + — -+ — = — =0. .
60 2 o YV &% 32 g0 (1= 54 =0.96mile
During the interval [1, 2.5], it travels
25 1 15 1 20 1 _1_05mile
60 2 60 2 60 2 2 '

3. Arainstorm hit Portland, Maine, in October 1996, resulting in record rainfall. The rainfall rate R(t) on October 21
is recorded, in inches per hour, in the following table, where t is the number of hours since midnight. Compute the total
rainfall during this 24-hour period and indicate on a graph how this quantity can be interpreted as an area.

t 0-2 | 2-4 | 4-9 | 9-12 | 12-20 | 20-24
R() | 02 | 0.1 | 04 1.0 0.6 0.25

SOLUTION Over each interval, the total rainfall is the time interval in hours times the rainfall in inches per hour. Thus
R =2(.2) +2(.1) +5(.4) + 3(1.0) + 8(.6) + 4(.25) = 11.4 inches.
The figure below is a graph of the rainfall as a function of time. The area of the shaded region represents the total rainfall.

1 —
0.8

o o
ENE

0.2

Rainfall
(inches per hour)

5 10 15 20 25
Time (hours)

4. The velocity of an object is v(t) = 32t ft/s. Use Eq. (2) and geometry to find the distance traveled over the time
intervals [0, 2] and [2, 5].
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SOLUTION The total distance traveled is given by the area under the graph of v = 32t. From the figure below, we see
that the region under the velocity graph over the interval [0, 2] is a right triangle with base 2 and height 64. The area
under the graph is %(2)(64) = 64, so the object travels 64 feet fromt =0tot = 2.

The region under the velocity graph over the interval [2, 5] is a trapezoid with height 3 and bases 64 and 160. The
area under the graph is %(3)(64 + 160) = 336, so the object travels 336 feet fromt =2tot = 5.

v(t)

160
140
120

5. Compute Rg, Lg, and M3 to estimate the distance traveled over [0, 3] if the velocity at half-second intervals is as
follows:

t () 0 05 1 15 2 25 3
v(ft/s) [0 12 18 25 20 14 20

SOLUTION ForRgandLg, t=3z0=5ForMs, t=330=1 Then

Rg = 0.5 sec (12 + 18 + 25 + 20 + 14 + 20) ft/sec = .5(109) ft = 54.5ft,

Lg = 0.5sec (0 + 12 + 18 + 25 + 20 + 14) ft/sec = .5(89) ft = 44.5ft,
and

M3 = 1sec (12 + 25 + 14) ft/sec = 51ft.

6. Use the following table of values to estimate the area under the graph of f (x) over [0, 1] by computing the average
of Rg and Ls.

X 0 02 04 06 08 1
f(x) | 50 48 46 44 42 40

soLuTion  x = 120 =2 Thus,

L =.2(50 + 48 + 46 + 44 + 42) = .2(230) = 46,
and
Rg = .2 (48 + 46 + 44 + 42 + 40) = .2(220) = 44.

The average is

46 + 44
7 = 45
This estimate is frequently referred to as the Trapezoidal Approximation.
7. Consider f(x) =2x +3on [0, 3].
(a) Compute Rg and Lg over [0, 3].
(b) Find the error in these approximations by computing the area exactly using geometry.
SOLUTION Let f(x) =2x +3o0n]0,3].

(a) We partition [0, 3] into 6 equally-spaced subintervals. The left endpoints of the subintervals are 0, % 1, % 2, %

whereas the right endpoints are % 1, %,2, %,3 .
e Leta=0,b=3,n=6, x=(b—a)/n= %,andxk =a+k x,k=0,1,...,5(left endpoints). Then

5 5
1
Lg = f(xk) x= x f(xk) == (@B+4+5+6+7+8)=16.5.
k=0 k=0 2
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e Withxy =a+k x,k=1,2,...,6 (right endpoints), we have

6 6
1
Rg = f(xg) x= x f(xk) =z (4+5+6+7+8+9)=19.5.
k=1 k=1 2

(b) Via geometry (see figure below), the exact area is A = % 3) (6) + 32 = 18. Thus, Lg underestimates the true area
(Leg — A = —1.5), while Rg overestimates the true area (Rg — A = +1.5).

y
94

6

05 1 15 2 25 3

8. Let f(x) =x2+x—2.
(a) Calculate R3 and L3 over [2, 5].
(b) Sketch the graph of f and the rectangles that make up each approximation. Is the area under the graph larger or
smaller than R3? Than L3?
SOLUTION Let f(x)=x2+x—2andseta=2b=5n=3 x=(b—a)/n=(5-2)/3=1.
(a) Letxx =a+k x,k=0,1,2,3.

= Selecting the left endpoints of the subintervals, xx, k = 0,1, 2, or {2, 3, 4}, we have

2 2
L3 = f(xk) x= x f(xk) = (1) (4 + 10+ 18) = 32.
k=0 k=0

= Selecting the right endpoints of the subintervals, xx, k = 1, 2, 3, or {3, 4, 5}, we have

3 3
Ra=  fOu) x= x  f(x) = (1) (10 + 18 + 28) = 56.

(b) Here are figures of the three rectangles that approximate the area under the curve f(x) over the interval [2, 5].
Clearly, the area under the graph is larger than L3 but smaller than R3.

y y
25 ks 25 Rs
20 20
15 15
10 10
5 5
0 | - - - X 0 - - - X
2 25 3 35 4 45 5 2 25 3 35 4 45 5

9. Estimate Rg, Lg, and Mg over [0, 1.5] for the function in Figure 15.

3
2 B——
1
X
05 1 15
FIGURE 15

SOLUTION  Let f(x)on[0, 3]begivenby Figure15.Forn =6, x=(3—-0/6= 1 {x}_,= 0.7.3.3.1.3.3 .
Therefore

5
1
f(xk) = 2 (2.4+2.35+2.25+ 2+ 1.65+ 1.05) = 2.925,

1 1
Re=7 (&)=, (235+225+2+165+1.05+0.65) = 24875,
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E

1
foxk— 3 X =-(24+23+22+185+1.45+0.8) =2.75.

10. Estimate Ry, M3, and Lg for the graph in Figure 16.

y

15

1

0.5

X

12 1 4 5 2
3

5
3
FIGURE 16

SOLUTION Let f(x) on [0, 2] be given by Figure 16. To calculate Ry, we take x = % = 1 and evaluate the
function at the right endpoints. This gives

Ry = x(f(l)+ f(2))=1(1.125+ 1) = 2.125,

To calculate M3, we take x = % = % and evaluate the function at the subinterval midpoints. This gives
1 5 2
Mg= x f 3t f(1)+ f 3 = §(0.625 +1.125 + 0.75) = 1.667.
Finally, for Lg, we take x = % = % and evaluate the function at the left endpoints. This gives

1
Lo = 5(05+0.625+0.9+1125+1+0.75) = 1633,

11. Let f(x)= x2+1and x = % Sketch the graph of f(x) and draw the rectangles whose area is represented by
the sum ?:1 f(l+i x) x.

SOLUTION Because the summation index runs from i = 1 through i 6, we will treat this as a right-endpoint

approximation to the area under the graph of y = x2 + 1. With x = % it follows that the right endpoints of the
subintervals are x| = %, Xo = % X3 =2,%X4 = % X5 = 3 and Xxg = 3. The sketch of the graph with the rectangles

represented by the sum i6:1 f(1+1i x) xisgiven below.

y

3
2.5+
24
1.5+
14
0.5+

X

05 1 15 2 25 3

12. Calculate the area of the shaded rectangles in Figure 17. Which approximation do these rectangles represent?

+—t + X
3 2 -1 | 1 2 3

FIGURE 17

SOLUTION Each rectangle in Figure 17 has a width of 1 and the height is taken as the value of the function at the
midpoint of the interval. Thus, the area of the shaded rectangles is

26 22 18 14 10 6 18784

— =+ —+ — + — + — + — = —— = 9.0965.

29 13 5 5 13 29 1885
Because there are six rectangles and the height of each rectangle is taken as the value of the function at the midpoint of
the interval, the shaded rectangles represent the approximation Mg to the area under the curve.
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In Exercises 13-24, calculate the approximation for the given function and interval.
13. Rg, f(x)=7-—x, [3,5]

SOLUTION Let f(x) =7—xon[3,5].Forn=8, x=(5-3)/8= % and{x}l_, = 3,3},31,33,4,47,4},43 5.
Therefore

8

1 1
Rg = 7—x¢) = Z(S.?5 +35+325+3+275+25+225+2)= Z(23) =5.75.

Bl

k=1

14. My, f(xX)=7-—x, [3,5]

SOLUTION Let f(x) =7—xon[3,5].Forn =4, x = (5-—3)/4 = % and {Xk}E=0 = {3.25,3.75,4.25,4.75}.
Therefore,

[(7 = 3.25) + (7 — 3.75) + (7 — 4.25) + (7 — 4.75)] = %(12) =6.

N =

1
Mg = = 7T—x, =
4= k

15. Mg, f(x) =x2, [0,1]

SOLUTION Let f(x) = x2 on [0,1]. Forn =4, x = (1—-0)/4 = 7 and X, E:O = {.125, .375, .625, .875}.
Therefore

3

1
My = ()2 = =(0.125% + 0.3752 + 0.6252 + 0.8752) = .328125.
k 4

k=0
v_
16. Mg, f(x)= x, [2,5]
V_
SOLUTION Let f(x) = xon[2,5].Forn =6, x =(5—2)/6= %and X izo = {2.25,2.75,3.25,3.75, 4.25, 4.75}.
Therefore

15— 1V ~___ N ~N___ N ~__
Mg = 3 _—( 225+ 275+ 325+ 375+ 425+ 4.75)=5.569291.

k=0

17. Rg, f(X)=2x2—x+2, [1,4]
SOLUTION Let f(x)=2x> —x+20n[l,4].Forn=6, x=@4—-1)/6=3 {x}_,= 1,13,2,25,3,3},4 .
Therefore

6

1
Rg = (2xlf—xk+2):5(5+8+12+17+23+3O):47.5.

N+~

k=1

18. Lg, f(x)=2x2—x+2, [1,4]

SOLUTION Let f(x)=2x? —x +2on[L,4]. Forn=6, x=(4—-1)/6=3 {xJ}_,= 1,1},2,23,3,3},4 .
Therefore

1
(le%_xk+2)=5(3+5+8+12+17+23):34_

19. Ls, f)=x71 [1,2]
SOLUTION Let f(x)=x"lon[1,2].Forn=5 x= @ =L o= 1.8 £, 8, 2,2 . Therefore

4

(x )"t = = .745635.

k=0

L 1
57 5

20. Mg, f()=x72, [1,3]
SOLUTION Let f(x)=x"2on[1,3].Forn=4, x= % = % and {xk}ﬁ=0 = {1.25,1.75, 2.25, 2.75}. Therefore
8 11 1 1 1

(x) 2= + + ~ 64815.

My =
4 2 1252 1752 T 2.5 ¢ 2752

k=0
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21. Lg, f(x)=cosx, [F,7]
SOLUTION Let f(x) =cosx on [, 2] Forn =4,

_(m2—n/4) _m
= . =15 M k== 7155162

Therefore

m 3
Ly = — cos Xk = .361372.
4 16 k

k=0

22. Rg, f(x)=¢€*, [0,2]
SOLUTION Let f(x) =¢e*on[0,2]. Forn =6, x =(2—0)/6=1/3and

12 4 5
6 _
{Xkdk=0 = 0’5'5’1’§’§’2

Therefore,

23. Mg, f(x)=1Inx, [1,2]
SOLUTION Let f(x) =Inxon[1,2]. Forn=6, x=(1—0)/6=1/6and

Therefore,

Inx, = 0.386871.
k=1

[0

24. L, f(x)=x2+3[x|, [-3,2]
SOLUTION Let f(x) = x2 +3|x]on[-3,2].Forn =5, x =(2—(-3))/5=1,and {xk}EZO ={-3,—-2,-1,0,1,2}.
Therefore

4
Ls=1 (x2+3[x[) = (18 + 10+ 4+ 0 + 4) = 36.
k=0

In Exercises 25-28, use the Graphical Insight on page 304 to obtain bounds on the area.

v_
25. Let A be the area under the graph of f(x) = x over [0, 1]. Prove that 0.51 < A < 0.77 by computing R4 and L4.
Explain your reasoning.

soLuTion Forn=4, x=10="1and{x}_,={0+i x}={0,3, 3,3 1} Therefore,
4 11 \/E \/§
Ri= x  f()=> -+ —+-—"+1 =.768
4 - (I) 4 2 2 2
8 1 1 \/E \/§
Lg = f(xj)=- 0+-+—+ — = 518
4 Xizo (xi) 2 5 2 5

In the plot below, you can see the rectangles whose area is represented by L4 under the graph and the top of those whose
area is represented by R4 above the graph. The area A under the curve is somewhere between L4 and R4, so

518 < A <.768.

L4, R4 and the graph of f(x).
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26. Use Rg and Lg to show that the area A under y = X2 over [10, 12] satisfies 0.0161 < A < 0.0172.
SOLUTION Let f(x) =x"20n[10,12]. Forn =6, x = (10—12)/6 = % and

1.2 1.2
6 —
_,= 10,105,10%,11,11,115,12
{Xkd=0 03 03, gs s
Therefore
18 19
Re== () 2=.0162 and Lg== (x¢) 2=.0172.
3k:1 3k=0

On[10,12], f(x) = Xx"2isa decreasing function, so Rg < A < Lg, or 0.0162 < A < 0.0172.
27. Use R4 and L4 to show that the area A under the graph of y = sin x over [0, /2] satisfies 0.79 < A < 1.19.
SOLUTION Let f(x) = sinx. f(x) is increasing over the interval [0, /2], so the Insight on page 304 applies, which

iﬂf:iicates that Ly < A< Ryq.Forn =4, x = # = Tand {xi}'_g = {0+i x}_y=1{0,% % 3, I} From
is,

3 4
|_4:g f(xj) = .79, R4=7—; f(xj) = 1.18.

Hence A is between .79 and 1.19.

Left and Right endpoint approximations to A.

28. Show that the area A under the graph of f(x) = x~1 over [1, 8] satisfies

1 1 1 1 1 1 1 1 1 1 1 1 1
A+ 4+ S+ i+ I+ A<SIHF A+ A+ + I+
2 3 4 5 6 7 8 2 3 4 5 6 7

SOLUTION Let f(x) = x71 1< x =< 8. Since fis decreasing, the left endpoint approximation L7 overestimates
the true area between the graph of f and the x-axis, whereas the right endpoint approximation R7 underestimates it.
Accordingly,

1 1 1 1 1 1 1 1 1 1 1 1 1
—+-—+-+ -+ - +-_+-_=R<A<Ly=1l+_-+_+-+_+_+_
2 3 4 5 6 7 8 2 3 4 5 6 7
1 Left endpoint approximation, n =7 1 Right endpoint approximation, n =7
0.8 0.8
0.6 0.6
0.4 0.4
0.2 0.2
0 0
1 2 3 4 5 6 7 8 1 2 3 4 5 6 7 8

29. £H'S  Show that the area A in Exercise 25 satisfies Ly < A < Ry for all N. Then use a computer algebra system
to calculate Ly and Ry for N = 100 and 150. Which of these calculations allows you to conclude that A = 0.66 to two
decimal places?

V_
SOLUTION On[0,1], f(x) = X isan increasing function; therefore, Ly < A < Ry for all N. Now,

L1gp = .6614629 R10p = .6714629
L150 = .6632220 R150 = .6698887

Using the values obtained with N = 150, it follows that .6632220 < A < .6698887. Thus, to two decimal places,
A = .66.

30. £AS  Show that the area A in Exercise 26 satisfies Ry < A < Ly for all N. Use a computer algebra system to
calculate Ly and Ry for N sufficiently large to determine A to within an error of at most 10™4.
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SOLUTION On [10,12], f(x) = x2isa decreasing function; therefore, Ry < A < Ly forall N. With N = 100,
we find

R100 = .0166361 and L100 = .0166973.

It follows that .0166361 < A < .0166973. Thus, A = .0166 with an error that is at most .0001 = 1074,

31. Calculate the following sums:
5 5 4

@ 3 () 3 © K
i=1 i=0 k=2
4 4 3
L 1
@ s j3 @ M 3
SOLUTION
5 5 5
(€)) 3 =3+3+3+3+ 3 =15 Alternatively, 3=3 1=(3)(5) =15.
i=1 i=1 i=1
5 5 5
(b) 3=3+3+3+ 3+ 3+ 3=18. Alternatively, 3=3 = (3)(6) = 18.
i=0 i=0 i=0
4
©  k3=2%+3%+4% =99 Alternatively,
k=2
4 4 1 4 3 2 4 3 2
4 4 4 1 1 1
= K = K= geo+g - Froeg =0
k=2 k=1 k=1
4 jT[
(d) sin — =sin — +sin — =-1+0=-1
- 2
j=3
4 11 1
© =i 'tz e
k=2
3
M 3 =1+3+32+3%=40
j=0
32. Letby =3,by =1, b3 =17, and by = —17. Calculate the sums.
4 2 b 3 by
(@ b (b)  (bj +27) © 5
i=2 i=1 k=1 "k+l
SOLUTION
4
(€)) bj =by+bg+by=1+17+ (—-17) = 1.
i=2
2
()  bj+2% =@+ +@a+2h =14
i=1
k=g Pk+1 b2 bz by 17 17
200
33. Calculate J by writing it as a difference of two sums and using formula (3).
j=101
SOLUTION
200 200 100 2 2
. . . 200 200 100 100
i= i— j= —+— — — + — =20100— 5050 = 15050.

j=101  j=1  j=1 2 2 2 2

In Exercises 34-39, write the sum in summation notation.

34. 4" +5" +6" + 77 + 8
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SOLUTION The first term is 47, and the last term is 87, so it seems the kth term is k”. Therefore, the sum is:

8

k=4

35. (22 +2) + (32 +3) + (42 + 4) + (52 +5)
SOLUTION The first term is 22 + 2, and the last term is 52 + 5, so it seems that the sum limits are 2 and 5, and the kth
term is k2 + k. Therefore, the sum is:

5
(K2 + k).
k=2

36. (22+2)+ (B +2)+ (Y +2)+(2°+2)

SOLUTION The first term is 22 + 2, and the last term is 2° + 2, so it seems the sum limits are 2 and 5, and the kth term
is 2K + 2. Therefore, the sum is:

5
2 +2).
k=2

37 1+13+ 2+25+...+ n+nd
SOLUTION Thefirsttermis 1+ 13 and the last term is n + n3, so it seems the summation limits are 1 through n,
and the k-th term is  k + k3. Therefore, the sum is

n
k + k3.
k=1

1 2 n
38 —+ —+ e+ —
2-3 3-4 (n+1)(n+2)

SOLUTION The first summand is (m%(m; This shows us
1 2 n n i
—t—+ = _—
2:3 3-4 (n+1)(n+2) i:1(|+1)(|+2)

30. en_,_enlz_,_en/3_|_.”_|_en/n

SOLUTION The first term is ™ and the last term is e"/”, so it seems the sum limits are 1 and n and the kth term is
e™ K Therefore, the sum is

n
en/k_
k=1

In Exercises 40-47, use linearity and formulas (3)—(5) to rewrite and evaluate the sums.

15
40 12j3
j=1
15 15 4 3 2
1 1 1
SOLUTION Rif=12 JP=12 2+ D 15 14400) = 172800
- - 4 2 4
j=1 j=1
20
41, (2k+1)
k=1
20 20 20 202 20
SOLUTION (2k+1)=2 k + 1=2 T+7 + 20 = 440.
k=1 k=1 k=1
150
42. (2k + 1)

k=51



540 CHAPTER 5 | THE INTEGRAL

SOLUTION

150 150 150 150 50
2k+1)=2 k + 1=2 k — k +100
k=51 k=51 k=51 k=1 k=1
1502 150 502 50
200
43. k3
k=100

SOLUTION By rewriting the sum as a difference of two power sums,

200 200 99 4 3 2 4 3 2
200 2008 200 99 993 99
K= K- 3= Sty YT, T ot T = 379507500,
k=100 k=1 k=1
10
4. (%-2?
=1
SOLUTION
10 10 10 4 3 2 3 2
104 108 10 108 102 10
(3-2%=  3-2 2= 4+ -2 4+ =225
_ _ _ 4 2 4 3 2 6
=1 =1 =1
30 i2
4
45. 6j+%
i=2
SOLUTION
30 2 30 30 30 1 30 1
4j .4 .
6j+— =6 j+g [P=6  j- | +3 IR &
j=2 j=2 i=2 i=1 =1 =1 i=1
2 3 2
=6 £+§_1 +f £+£+§_1
2 2 3 3 2 6
4 37816 _ 46168
= 6(464) + = (9454) = 2784+ Z—— =
3 3 3
50
46.  j(j—1)
i=0
SOLUTION
50 50 ) 50 ) 50
ig-n=G°=-bH= "= i
i=0 i=0 i=0 i=0
3 2 2 3
S0 L5050 S S0 _S0° 50 _ 124950 _
3 2 6 2 2 3 3 3
50 50
The power sum formula is usable because j(j—1= j(j —1).
j=0 i=1
30
47. (3% —4s—1)
s=1
SOLUTION
30 30 30 30 3 2 2
303 302 30 302 30
(Bs2—4s—1)=3 s2—4 s— 1=3 Sttty T4 oyt —30=20475.

s=1 s=1 s=1 s=1
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10 10
In Exercises 48-51, calculate the sum, assuming that a; = —1, aj =10, and b =7.
i=1 i=1
10
48. 2aj
i=1
10 10
SOLUTION 2ai =2 aj = (2)(10) = 20.
i=1 i=1
10
49.  (aj —bj)
i=1
10 10 10
SOLUTION (aj —bj) = aj — bj =10—7=3.
10
50. (3a +4b)
=1
10 10 10
SOLUTION (Ba +4b )= 3 a + 4 b =(3)(10) + (4)(7) = 58.
10
51. aj
i=2
10 10
SOLUTION aj = aj —a; =10—(—-1) =11
i=2 i=1
In Exercises 52-55, use formulas (3)—(5) to evaluate the limit.
N
52. lim 5
N -0,y N
N
SOLUTION Letsy = —Z.Then,
i=1
S Ni_lNI_l N2 N 11
NTNZONZL_ N2 2 2 2 N
. 1
Therefore, lim sy = 7
53. lim 7
N - oo =1 N
SOLUTION Letsy = —. Then
. N4
=1
1 N, o1 N4 N3 N2 111
SN = — = — 4+t — 4+ — =4 —+ —
N4 ) N4 4 2 4 4 2N 4N
Therefore, lim sy = L
"N_ oo N~ 4’
Ni2—j+1
54. lim 3
~eoi N
Ni2—jen
SOLUTION Letsy = —————.Then
) N3
=1
N :2 _: N N N
ic—i+1 1 2
SN NE = N3 ic - i + 1
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1 N3 N2 N N2 N 1 2
= — —+ —+— - — 4+ — +N =4 —
N3 3 2 6 2 2 3 3N?
Therefore, lim s =1
"N o oo N_-g
N .3
55. lim '—4—il—o
-~ N
N 3
SOLUTION Letsy = — — — . Then
N4
i=1
N N 4 3 2
1 20 1 N N N 1 1 1
SN= —  iS—2 1= . 4+ —20=C 4+ — —20.
N4 ) N._, N+ 4 2 4 4 2N 4NZ
1 79
Therefore, lim sy =-—20=——.
Nooo N 4 4

In Exercises 56-59, calculate the limit for the given function and interval. Verify your answer by using geometry.
56. lim Ry, f(x)=5x, [0,3]
N - oo

SOLUTION Let f(x) = 5x on [0, 3]. Let N be a positive integer and seta = 0, b = 3,and x = (b —a)/N =
(3—0)/N =3/N.Also, letxy =a+k x =3k/N,k =1,2,...,N be the right endpoints of the N subintervals of
[0, 3]. Then

N N N 2
3 3k 45 45 N N 45 45
Ry=x fd=g 5§ =3z, ¥ 8 772 T2t
k=1 k=1 N k=1 N
The area under the graph is
. . 45 45 45
lim Ry = Iim —+ — = —.
N - oo Noco 2 2N 2

The region under the graph is a triangle with base 3 and height 15. The area of the region is then %(3)(15) , Which

agrees with the value obtained from the limit of the right-endpoint approximations.
57. NIim Ln, f(xX)=5x, [1,3]

— 45
-2

SOLUTION Let f(x) =5x on[1,3]. Let N > 0 be an integer, and seta = 1,b = 3,and x = (b —a)/N = 2/N.
Also, letxy =a+k x=1+ 2N_k k =0,1,...N — 1 be the left endpoints of the N subintervals of [1, 3]. Then

N—1 N—1 N—1 N—1
2 2k 10 20
k=0 k=0 k=0 k=0
10 20 (N—-1)2 N-1 30 20
=—N+— ——+—— =20——+ —.
N N2 2 2 N N2

The area under the graph is
lim Ly = 20.
N - oo N

The region under the curve is a trapezoid with base width 2 and heights 5 and 15. Therefore the area is %(2)(5 +15) = 20,
which agrees with the value obtained from the limit of the left-endpoint approximations.

58. lim Ly, f(g=6-2x [0,2]

SOLUTION Let f(x) =6—2x on [0, 2]. Let N > 0 be an integer, and seta = 0,b =2,and x = (2 —0)/N = %
Also, letxy =0+k x = 2N—k k=0,1,...,N — 1 be the left endpoints of the N subintervals. Then

N—1 N—1 N—1 N—1
2 2k 12 8
k=0 k=0 k=0 N7 k=0
8 (N—12 N-1 4
—pp- 8 (NZD7 N-1 g, 4

N2 2 2
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The area under the graph is
lim Ly =8.
Nooo N

The region under the curve over [0, 2] is a trapezoid with base width 2 and heights 6 and 2. From this, we get that the
area is %(2)(6 + 2) = 8, which agrees with the answer obtained from the limit of the left-endpoint approximations.

59. NIim Mn, f(xX)=x, [0,1]

SOLUTION Let f(x) =xon[0,1]. Let N > 0beanintegerandseta=0,b=1,and x =(b—a)/N = ﬁ Also,
letx, =0+ (k- %) x =251 k=12 . .Nbethe midpoints of the N subintervals of [0, 1]. Then

2N
N N N
1 2k —1 1
k=1 k=1 2N k=1
1 N 1 N2 N 1 1
=— 2 k=N =— —+—-— —_— =7z
2N N2 2 2 2N 2

The area under the curve over [0, 1] is

lim My =

— 0o

N -

The region under the curve over [0, 1] is a triangle with base and height 1, and thus area % which agrees with the answer
obtained from the limit of the midpoint approximations.

In Exercises 60-69, find a formula for Ry for the given function and interval. Then compute the area under the graph as
a limit.

60. f(x)=x2, [0,1]

1-0 1
SOLUTION Let f(x) = x2 on the interval [0,1]. Then x = N = N and a = 0. Hence,
N N 3 2
1 1 1 N N N 1 1 1
RN = X fO+j x)=— P == —+—+— =+ +—
N O+i 0 N NZTNE 3 T2 T8 T3 N Ten?
and
. 1 1 1 1
lim Ry = lim = + =z
S oo ~o 3 2N  6N? 3
61. f(x)=x3, [0,1]
3 : 1-0_ 1
SOLUTION Let f(x) = x° on the interval [0, 1]. Then x = N = N and a = 0. Hence,
N N N
: 1 31 1 3
Rv=x  fO+j =2 35 =5
3 4
j=1 N j=1 N N j=1
1 N* N3 N? 11 1
= — 4+ — 4+ — =4+ —+
N4 4 2 4 4 2N  4NZ
and
. . 1 1 1 1
lim Ry = lim -+ —+— =-.
N = oo Noeco 4 2N 4N?2 4
62. f(x)=x3+2x2, [0,3]
3—0
SOLUTION Let f(x) = x3 + 2x2 on the interval [0,3]. Then x = N = N and a = 0. Hence,
N N N N
. 3 3 27 2 9 81 .3 54 2
Ru= x  fO+j =5 Pope2ifin = P
3 2 4 3
i=1 N, N N N% o) N3

81 N4 N3 N2 54 N3 NZ N

+ +— +— — +
N4 4 2 4 N3 3 2 6
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81 81 81 27 9
=— 4+ —+—+18+ — + —
4 2N  4N? N N2
and
lim Re = lim 153 135 117 _ 153
Noow N Nooe 4 2N 4NZ2 4

63. f(x)=1—x3 [0,1]

1- 1
SOLUTION Let f(x) =1 — x3ontheinterval [0, 1]. Then x = N = N and a = 0. Hence,
N N
1 1
RN = x  fO+] x) =1 1-j3—
=1 =1 N
1 N 1 N 1 N4 N3 N2 11 1
= — 1—— ] =—N—— — _——_—— =1-=- = — -
N ._ N4 _ N4 4 2 4 4 2N 4N?2
=1 =1
and
3 1 1 3
lim Ry = lim - ———— =-
S0 ~oo 4 2N 4N2 4
64. f(x) =3x2—x+4, [0,1]
2 _ 1-0 1
SOLUTION Let f(x) = 3x“ —x + 4 on the interval [0, 1]. Then x = N = — and a = 0. Hence,
N N N N N
. 1 o 1 .1 3 . 1 .4
Ry= x f(O+]j x)=W 3JZW—JN+4 =3 JZ—W j+—
3 N3 N2 N 1 N2 N 4 3 1 1 1
== —+—+— —— —+—- +_N=1+_—+_————__+4
N3 3 2 6 N2 2 2 N 2N 2N2 2 2N
and
9 1 1 9
lim Ry = Ilim -+ _—+— =_—
oo N T NLee 2 N 2N 2

65. f(x) =3x2—x+4, [1,5]

. 5—-1 4
SOLUTION Let f(x) = 3x2 — x + 4 on the interval [1,5]. Then x = —— = — and a = 1. Hence,

N
N N N N N
4 48 20 192 80 24
Ry = x  fA+] =5 PPowiyre =15 PP g+
ji=1 ji=1 N N j=1 N j=1 =1
192 N3 N2 N 80 N2 N 24 9% 32 40
=— —+ —+—= +— —+— +—N=64+—+ — +40+ —+24
N3 3 2 6 N 2 2 N N N2 N
and
136 32
lim Ry = lim 128+ — + — = 128.
N - co N N - co N N2

66. f(x)=2x+7, [3,6]

6—3 3
SOLUTION Let f(x) = 2x + 7 on the interval [3,6]. Then x = —— = — and a = 3. Hence,

N
N _ 3 N 3
RN = X fB+] x)=— 2 3+ )j— +7
L N ._ N
=1 j=1

N N 2
39 18 39 18 N N 9
= — 1+ — j=—N+— —+— =39+90+ —
Nio N2 7 N NZ 2 2 N
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and
im Ry = Ilim 48+9 =48
N_N_.oo N - ’

|
N - oo

67. f(x)=x2, [2,4]

SOLUTION Let f(x) = x2 on the interval [2, 4]. Then x = 4%2 = % and a = 2. Hence,
N N N N N
. 2 8 ., 4 8 16 .8 )
Ry = x  fQ+]j x):N 4+JW+12_2 =3 1+ = j+— j2
j=1 j=1 N = M= N
8 16 N2 N 8 N3 N2 N 8 8 4 4
=—N+— —+— +— —+ —+— =84+8+—+ -+ —+ —
N N2 2 2 N3 3 2 6 N 3 N 3NZ
and
lim Ry = lim 2+, 4 30
Nboo N Noe 3 N 3N2  3°

68. f(x)=2x+1, [a,b] (a,bconstantswitha <b)

. b—a
SOLUTION Let f(x) = 2x + 1 onthe interval [a,b]. Then x = N Hence,

N _ N _
Rv= x f@a+] X)z(b 2) 2 a+j(b D 4
i N
=1 j=1
—_ N N2 N
_(b-a (2a+1) 14 A 2a)
N =1 N j=1
_(b—a) 2b—a)2 N2 N
2, (b—a)
=(h—-a)ka+1)+(bh—a) +T
and
im Ry = fim (b= a)(2a+ 1)+ (b —a) + &2
N - oo N N - oo N

(b —a)(2a + 1) + (b — a)? = (b2 + b) — (a2 + a).

69. f(x) =x2, [a,b] (a,b constantswitha < b)

. b—a
SOLUTION Let f(x) = x2 on the interval [a,b]. Then x = N Hence,

N _ N _ _ )2
Ry= x  fla+j =02 0 g2 202
L L N N2
j=1 j=1
2(h — N _ 2 N A3 N
_2 (b—a) 1+ 2a(b —a) j+ (b—a)
N . N2 . N3

j=1 j=1 j=1

2(h — — )2 2 _ )3 3 2
ac(b a)N+2a(b a) N_+N +(b a) N_+N +N

N N2 2 2 N3 3 2 6

a(b — a)? . (b —a)d . (b —a)3 . (b —a)d

— 2 —a)2
a'b-a)+ab-a)y+ N 3 2N 6N?2

and

a(b — a)? . (b—a)d . (b—a)d . (b—a)d
N 3 2N 6N2

lim Ry = lim a’(b—a)+ab—a)’+

— oo

=-pd - Zas.

— )3
=a2(b—a) +ab—a)? + L Sa) b7 2l

545
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70. Let A be the area under the graph of y = e* for 0 < x < 1 [Figure 18(A)]. In this exercise, we evaluate A using the

formula for a geometric sum (valid for r = 1):

T4+r+r2+...+rN"1=

(a) Show that the left-endpoint approximation to A is
1 N-1

Ly = —
N i=0
(b) Apply Eq. (8) with r = N to prove that
A=(e—1) lim

-1 fim N

(c) Evaluate the limit in Figure 18(B) and calculate A. Hint: Show that L’Hdpital’s Rule may be used after writing

1

N—lrj B r.N -1
j=1 r—1
el/N

(ellN —1)

N1

N(ellN —1) T elUN 4

(A)

©)

FIGURE 18

SOLUTION

(@) Let f(x) =eXon[0,1]. Withn =N, x =(1—0)/N =1/N and

Xj=a+j X

forj =0,1,2,...,N. Therefore,

N—1
Ly = X f(xj) =
j=0
(b) Applying Eq. (8) with r = /N we have
1 (el/N)N -1

e—1

NTN TN T NEN 1)

Therefore,
A= lim Ly=(—1) |
N = oo N ( )N

(c) Using L’Hépital’s Rule,

-1

A=(e—1) lim m
N - oo

N N
/N7 - €D MmN

. 1
m ——.
— oo N(el/N —1)

-2
=(e—1) lim e
( )Nﬂw

“UN —g—1.

71. Use the result of Exercise 70 to show that the area B under the graph of f(x) = Inx over [1, e] is equal to 1. Hint:

Relate B to the area A computed in Exercise 70.
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SOLUTION Because y = Inx and y = e are inverse functions, we note that if the area B is reflected across the line
y = x and then combined with the area A, we create a rectangle of width 1 and height e. The area of this rectangle is
therefore e, and it follows that the area B is equal to e minus the area A. Using the result of Exercise 70, the area B is
equal to

e—(e—1)=1.

In Exercises 72-75, describe the area represented by the limits.

N L4

. 1 |

72. lim — —
N-»oonzl N

SOLUTION The limit

lim Ry = lim — =
_, 00 N - oo i N

j=1
represents the area between the graph of f(x) = x* and the x-axis over the interval [0, 1].

N 4
. 3 3]
73. lim — 2+ —
N_'OONJ':]_ N

SOLUTION The limit

N 4

3 3
lim Ry = lim — C—
N - oo N N oo N =1 N

2+ j

represents the area between the graph of f(x) = x# and the x-axis over the interval [2,5].

5 N-1 )
74. lim — g"2+5J/N
N - oo j=0
SOLUTION The limit

5 N—-1
lim Ly = lim —
N - co N oo N jZO

e—2+5j/N

represents the area between the graph of y = eX and the x-axis over the interval [—2, 3].

SOLUTION The limit

lim n " sin + i
N-oco2N ._, 3 2N
represents the area between the graph of f(x) = sinx and the x axis over the interval [%, %’T].
1 N j 2
76. Evaluate lim N 1-— N by interpreting it as the area of part of a familiar geometric figure.
SOLUTION The limit
N j 2
lim Ry = lim — 1- =
N - oo N oo N j=1 N

represents the area between the graph of y = f(x) = 1 — x2 and the x-axis over the interval [0, 1]. This is the portion
of the circular disk x2 + y2 < 1 that lies in the first quadrant. Accordingly, its area is %n(l)2 = %.

In Exercises 77-82, use the approximation indicated (in summation notation) to express the area under the graph as a
limit but do not evaluate.
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77. RN, f(x) =sinx over [0, r]
SOLUTION Let f(x) =sinx over [0, 1] andseta =0,b =m,and x = (b—a)/N = n/N. Then

N N

m . km
Ry = X f(xk)=W sin N
k=1 k=1
Hence
N
. . m . km
lim Ry = lim — sin —
N - oo _, 00 k=1

is the area between the graph of f(x) = sinx and the x-axis over [0, m].
78. Ry, f(x)=x"Lover[1,7]

. 7—1 6
SOLUTION Let f(x) = x~1 over the interval [1, 7]. Then x = N = N and a = 1. Hence,
N 6 N -1
Ry = x fA+j x)=— 1+ j—
. N . N
=1 =1
and
N -1
6 6
lim Ry = lim — 1+ j—
N — co N N oo N JN

is the area between the graph of f(x) = x 1 and the x-axis over [1, 7].
79. My, f(x) =tanx over [%,1]

—1
SOLUTION Let f(x) = tanx over the interval [%, 1]. Then x = 1T2 = ﬁ anda = % Hence
N N
1 1 1
My = X f -+ j—= X = — tan -+ — j—=
_ 2 2N 2 2 2
=1 j=1
and so
lim My = lim ! Ntan +l j- 1
Noeo M TN 2N 2T N 1T

is the area between the graph of f(x) = tanx and the x-axis over [%, 1].
80. My, f(x)=x"2over[3,5]

SOLUTION Let f(x) = x 2 over the interval [3,5]. Then x = 5N;3 = % and a = 3. Hence,
N N -2
1 2 1 2
My = f 3+ j—<= = — 3+ j—- —
NEX 172 Y TN 172 N
j=1 j=1
and so
N ; -2
. 2 . 2j—1
lim My = — lim 3+
N - oo N N N_>ooj:1 N

is the area between the graph of f(x) = x 2 and the x-axis over [3, 5].
81. Ly, f(x)=cosxover[g,n]

n
. -3 mn
SOLUTION Let f(x) = cosx over the interval %, m.Then x = 8 = N anda = %. Hence,
Ly = xN_lf n+_ X = nN_lcos +_7n
A L T TV g I8N
j=0 j=0
and
lim Ly = lim T N_lcos T + j mn
NTe M TN BN 7 8T e

is the area between the graph of f(x) = cosx and the x-axis over [%, m].
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82. Ly, f(x)=cosx over[§, 7]

m nm m
i—8 @ s
SOLUTION Let f(x) =cosx overtheinterval Z, % Then x=4_8 =8 = " anda= 1, Hence:
() 84 N N 8N 8
L xN_lf n+_ x—ancos rr+
NEox T gt X TEN g " I8N
j=0 j=0
and
im Ly = fim = eos Tt
Noeo M TN BN o B BN

is the area between the graph of f(x) = cosx and the x-axis over [§, 71.

In Exercises 83-85, let f(x) = x2 and let Ry, L, and My be the approximations for the interval [0, 1].

1 1 1 1 1
83. & Show that Ry = 3 + 5N + oNZ’ Interpret the quantity 5N + N2 as the area of a region.
SOLUTION Letf(x)=x20n[0,1].LetN > 0 be an integer and seta = 0, b =1 and xz%z%.Then
N N 3 2
1 1 1 N N N 1 1 1
Ry = x f(O0+j x)==— j2> =" — + —+_ =Z+_"+_~_
N ©+1 N NZTNS 3 T2 6 T a3 N eNe
The quantity
1 . 6 in R _1+ 1 . 1
2N~ N2 NT3T 2N T 6N?

549

represents the collective area of the parts of the rectangles that lie above the graph of f(x). It is the error between Ry

and the true area A = 1.

0.8
0.6
0.4

° 7'7
X

02 04 06 08 1

84. Show that

1 1
—+ —,
2N 6N2

1

My = & —
N= 37 12n2

Ly=2o
NT3

Then rank the three approximations Ry, Ly, and My in order of increasing accuracy (use the formula for Ry in

Exercise 83).

SOLUTION Let f(x) = x2 on [0, 1]. Let N be a positive integer and seta = 0,b = 1,and x = (b —a)/N = 1/N.

Letxk =a+k x=k/N,k=0,1,... ,Nandletx, =a+(k+3) x=(k+3)/N,k=0,1,... ,N —1 Then

N—1 N—1 2 N—1
Ly = X f(xk):i k -1 K2
N N N3
k=0 k=0 k=1
1 (N—-1® (N—-1)2 N-1 1 1 1
= — —+ + == — 4+ —
N3 3 2 6 3 2N  6N2
N—1 N-1 41 2 N—1
My = X f(x):i a1 K24kt
N k7N N N3 4
k=0 k=0 k=0
1 N—1 N—1 N—1
=— K2+ k += 1
N k=1 k=1 k=0

1 (N=13 (N—-1)2 N-1 (N=-1)2 N-1 1 1 1
— + + + + N == ———
N3 3 2 6 2 2 4 3 12N2
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1 1 1 1
The error of Ry is given by — + ——, the error of L is given by ——— + —— and the error of My is given b
NISg Y oN 6N2 NISg Y 75N 6N2 NISg y

l - - - . )
_—12N2' Of the three approximations, Ry is the least accurate, then Ly and finally My is the most accurate.

85. For each of Ry, Ly, and My, find the smallest integer N for which the error is less than 0.001.
SOLUTION

= For Ry, the error is less than .001 when:

1
— + — < .001.
2N 6N?
We find an adequate solution in N:
1 1
— + — < .001
2N 6N?

3N + 1 < .006(N?)
0 < .006N2 —3N —1,

V.
in particular, if N > 3+ 9024 = 500.333. Hence Rsp; is within .001 of A.
= For Ly, the error is less than .001 if

1 1
-——+ — < .00L
2N 6N2
We solve this equation for N:
1 1
— —— <.001
2N 6N2
SN—1 _ om
6N 2

3N — 1 < .006N2
0 <.006N? —3N +1,
v
% = 499.666. Therefore, Lgqg is within .001 units of A.
= For My, the error is given by —

which is satisfied if N >
TlNZ’ so the error is less than .001 if

1
- < .001
12N?2

1000 < 12N?
9.13< N

Therefore, My is within .001 units of the correct answer.

Further Insights and Challenges

86. Although the accuracy of Ry generally improves as N increases, this need not be true for small values of N. Draw
the graph of a positive continuous function f (x) on an interval such that R1 is closer than R, to the exact area under the
graph. Can such a function be monotonic?

SOLUTION Let & be a small positive number less than %. (In the figures below, & = %. But imagine o being very
tiny.) Define f(x) on [0, 1] by

ifosx<1-9o

| <

el 1
if 5 5sx<2

f(x) =
ifl<x<i+s

= o< g|H -
§|'—‘ [

if+5=<x=<1
Then f is continuous on [0, 1]. (Again, just look at the figures.)

= The exact area between f and the x-axis is A = 1 — $bh = 1 — 1(28)(1) = 1 — 4. (For & = 5, we have
A=2)
10
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= With Ry = 1, the absolute error is [E;| = |R{ — Al = |1—(1—9)| = 9. (Ford = %, this absolute error is

|E1l = 15.)
= With Ry, = %,the absolute error is |Eo| = |[Rp — Al = %—(l— 0) = 6—% = % — 9. (Ford = 1—10,W6 have
|E2l =)

Accordingly, R1 is closer to the exact area A than is Ro. Indeed, the tinier o is, the more dramatic the effect.

= For a monotonic function, this phenomenon cannot occur. Successive approximations from either side get progres-
sively more accurate.

Graph of f(x) 1Right endpt approx, n =1 1Right endpt approx, n =2
0.8+
0.6+
0.5 0.5
0.4+
0.2+
0 0
0.2 0.4 06 08 1 0.5 1 0.5 1

X

87. Draw the graph of a positive continuous function on an interval such that R, and L, are both smaller than the exact
area under the graph. Can such a function be monotonic?

SOLUTION In the plot below, the area under the saw-tooth function f (x) is 3, whereas Lo = Ry, = 2. Thus L and R»
are both smaller than the exact area. Such a function cannot be monotonic; if f(x) is increasing, then L underestimates
and Ry overestimates the area for all N, and, if f(x) is decreasing, then L overestimates and Ry underestimates the
area for all N.

Left/right-endpoint approximation, n = 2

2

88. & Explain the following statement graphically: The endpoint approximations are less accurate when f (x) is
large.

SOLUTION When f is large, the graph of f is steeper and hence there is more gap between f and Ly or Ry.
Recall that the top line segments of the rectangles involved in an endpoint approximation constitute a piecewise constant
function. If f is large, then f is increasing more rapidly and hence is less like a constant function.

y y

3 Smaller f' 8 Larger f'

2 2

1 1

0 X 0 X
0 1 2 3 4 0 1 2 3 4

89. & Assume that f(x) is monotonic. Prove that My lies between Ry and Ly and that My is closer to the
actual area under the graph than both Ry and Ly . Hint: Argue from Figure 19; the part of the error in Ry due to the ith
rectangle is the sum of the areas A + B + D, and for My itis |B — E]|.

-

Pt

Xj -1 midpoint X;

FIGURE 19



552

CHAPTER 5 | THE INTEGRAL

. . . . b
SOLUTION Suppose f(x) is monotonic increasing on the interval [a, b], X = ——,

e, =fa,a+ x,a+2 x,...,a+(N—1) x,b}

and

N—-1_ a+(@+ x) (@a+ x)+(@+2 x) (@+(N—=1) x)+b
Xk k=0 —_ 2 y 2 'RERR] 2

Note that x; < x; < Xj+1 implies f(xj) < f(x;) < f(xj+1) forall0 <i < N because f(x) is monotone increasing.
Then

b—a N1 b—a N1 b—a N
Ln = —— f(xk) < My =—— fix) < RNZT f(xk)

N k=0 N k=0 k=1

Similarly, if f(x) is monotone decreasing,
b—a N1 h—a N1 b—a N
- f) > My =—— f(x) = Rv=—F— f(x)

N k=0 N k=0 N k=1

Ln =

Thus, if f(x) is monotonic, then My always lies in between Ry and Ly .

Now, as in Figure 19, consider the typical subinterval [xj—1, Xj] and its midpoint X; - We let A, B,C, D, E, and

F be the areas as shown in Figure 19. Note that, by the fact that x; is the midpoint of the interval, A = D + E and
F = B + C. Let ER represent the right endpoint approximation error (= A + B + D), let E_ represent the left endpoint
approximation error ( = C + F + E) and let E ) represent the midpoint approximation error ( = |B — EJ).

« If B> E, then Epy = B — E. In this case,
ER—EmM=A+B+D—-(B—E)=A+D+E >0,
so Er > Epm, while
EfL ~-EM=C+F+E-(B—-E)=C+(B+C)+E—(B—E)=2C +2E >0,

so E. > Ewm. Therefore, the midpoint approximation is more accurate than either the left or the right endpoint
approximation.

* If B < E, then Epq = E — B. In this case,
ER—-EmM=A+B+D—-—(E—-B)=D+E+D—-(E—B)=2D+B >0,
so that ER > E while
EL. —EM=C+F+E—-(E—-B)=C+F+B=>0,

so E| > E. Therefore, the midpoint approximation is more accurate than either the right or the left endpoint
approximation.

= If B = E, the midpoint approximation is exactly equal to the area.

Hence, for B < E, B > E, or B = E, the midpoint approximation is more accurate than either the left endpoint or the
right endpoint approximation.

90. Prove that for any function f(x) on [a, b],

b—a
RN — Ly =~ (1)) — f(2)) o]
SOLUTION Forany f (continuous or not) on I = [a, b], partition | into N equal subintervals. Let x = (b —a)/N
andset xx =a+k x,k =0,1,...N. Then we have the following approximations to the area between the graph of
f and the x-axis: the left endpoint approximation Ly = X |’(\':_ol f (xx) and right endpoint approximation Ry =
X kN=1 f (xk). Accordingly,
N N—1
RN —Lny=  x f(xk) — X f(Xk)
k=1 k=0
N—1 N—-1
= x f(xn)+ fxi) — f(xo) — f(xk)

b—

a
N (F0) = f(@).

x (f(xn) — f(x0)) =
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In other words, Ry — Ly = bNLa (f(b) — f(a)).

91. & In this exercise, we prove that the limits NIim Ry and I|m L existand are equal if f(x) is positive and

increasing [the case of f(x) decreasing is similar]. We use the concept of a least upper bound discussed in Appendix B.
(a) Explain with agraphwhy Ly < Ry forall N, M = 1.

(b) By part (a), the sequence {L y} is bounded by Ry, for any M, so it has a least upper bound L. By definition, L is the
smallest number such that Ly < L for all N. Show that L < Ry, for all M.

(c) According to part (b), Ly < L < Ry forall N. Use Eq. (9) to show that I|m Ly =Land Iim Ry = L.

— OO

SOLUTION

(a) Let f(x) be positive and increasing, and let N and M be positive integers. From the figure below at the left, we see
that Ly underestimates the area under the graph of y = f (x), while from the figure below at the right, we see that Ry
overestimates the area under the graph. Thus, forall N,M =1, Ly < Rp.

y y

X X

(b) Because the sequence {L} is bounded above by Ry for any M, each Ry, is an upper bound for the sequence.
Furthermore, the sequence {L n } must have a least upper bound, call it L. By definition, the least upper bound must be
no greater than any other upper bound; consequently, L < Ry, for all M.

(c) SinceLy =L =RN,RN—L=RyN—LN,S0|RN —L|=<|Rn — Ln|. From this,

lim |[Ry — L[ < lim |[Ry — L]

NLOOI N [ NLOOI N N

By Eg. (9),
. ! 3
N'HNOOIRN LNl_NILmooﬁl(b a)(f(b) — f(a))l =0,

S0 I|m IRy — L] < |Rn — Ln| =0, hence I|m Rn = L.
Slmllarly, ILN —L|=L—LNy<Rn— LN so

b—
iy - L= 1Ry — Lyl = &2

- f(@)).
This gives us that
1
li Ly =Ll lim —|(b—a)(f(b)— f =0,
Jim Ly =L < im0 —a)(f(b) — @)l

so lim Ly =1L.
N N

— 0o

Thisproves lim Ly = lim Ry =L.
N - oo N - oo

92. & Assume that f (x) is positive and monotonic, and let A be the area under its graph over [a, b]. Use Eq. (9)
to show that

b—a
RN = Al= ——1T(0) = T(a)l
SOLUTION Let f(x) be continuous, positive, and monotonic on [a, b]. Let A be the area between the graph of f and

the x-axis over [a, b]. For specificity, say f is increasing. (The case for f decreasing on [a, b] is similar.) As noted in
the text, we have Ly < A < Ry . By Exercise 90 and the fact that A lies between Ly and Ry, we therefore have

0<Ry—A<Ry-—Ly =bN;a(f(b)— f(a)).
Hence

[Rn —

— @I,

where f(b) — f(a) = |f(b) — f(a)| because f is increasing on [a, b].
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In Exercises 93-94, use Eq. (10) to find a value of N such that |[Ry — A| < 10~ for the given function and interval.

V_
93. f(x)= Xx, [1,4]
SOLUTION Let f(x)= Xxon[1,4]. Thenb=4,a=1,and

Ry - Al L@ -t = -1 =

Z|w

V_
We need % < 104, which gives N > 30000. Thus |R3gp01 — A| < 1074 for f(x) = "X on [1, 4].
94, f(x)= 9-—x2, [0,3]
SOLUTION Let f(x)= 9—x20n][0,3]. Thenb =3,a =0, and
b—a 3 9
— < — —_ = — =
IRy —Al= ——1TO) = f@) = 50O = -

We need & < 1074, which gives N > 90000. Thus [Rgooo1 — Al < 107 for f(x) = 9—x2 on [0, 3].

5.2 The Definite Integral

Preliminary Questions
1. What is ’ dx [here the function is f(x) = 1]?
: b b
SOLUTION . dx = . l-dx=1(b—a)=b—a.
2. Are the following statements true or false [assume that f (x) is continuous]?
b

() f (x) dx is the area between the graph and the x-axis over [a, b].
a

b
(b) f (x) dx is the area between the graph and the x-axis over [a, b] if f(x) = 0.
a

b
(c) If f(x) =<0, then — f (x) dx is the area between the graph of f (x) and the x-axis over [a, b].
a

SOLUTION

b : : .
(a) False. 5 f(x)dx is the signed area between the graph and the x-axis.
(b) True.
(c) True.

m
3. Explain graphically why cosx dx =0.
0

SOLUTION Because cos(m — x) = —cos X, the “negative” area between the graph of y = cosx and the x-axis over
[%, 1] exactly cancels the “positive” area between the graph and the x-axis over [0, Z].
-1
4. 1Is 8 dx negative?
-5

SOLUTION No, the integrand is the positive constant 8, so the value of the integral is 8 times the length of the integration
interval (—1 — (—5) = 4), or 32.

6
5. What is the largest possible value of f)dxif f(x) < %?
0

6 1
SOLUTION Because f(x) < % f(x)dx < 5(6— 0) =2
0
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Exercises
In Exercises 1-10, draw a graph of the signed area represented by the integral and compute it using geometry.

3

1. 2x dx
-3

SOLUTION The region bounded by the graph of y = 2x and the x-axis over the interval [—3, 3] consists of two right
triangles. One has area %(3)(6) = 9 below the axis, and the other has area %(3)(6) = 9 above the axis. Hence,
3
2xdx =9—-9=0.
3

<

3
2. (2x + 4) dx
-2

SOLUTION The region bounded by the graph of y = 2x + 4 and the x-axis over the interval [—2, 3] consists of a single
right triangle of area %(5)(10) = 25 above the axis. Hence,
3
(2x +4)dx = 25.
-2

y

1
3. (3x + 4)dx
-2

SOLUTION The region bounded by the graph of y = 3x + 4 and the x-axis over the interval [—2, 1] consists of two
right triangles. One has area %(%)(2) = % below the axis, and the other has area %(%)(7) = % above the axis. Hence,
1 49 2 15
X +4)dx =——=- = —.
LG d=e =7

N

-2 -1 1

1
4. 4dx
-2
SOLUTION The region bounded by the graph of y = 4 and the x-axis over the interval [—2, 1] is a rectangle of area
(3)(4) = 12 above the axis. Hence,

4dx =12.
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PN W b

8
5. (7 —x)dx
6

SOLUTION The region bounded by the graph of y = 7 — x and the x-axis over the interval [6, 8] consists of two right
triangles. One triangle has area %(1)(1) = 5 above the axis, and the other has area %(1)(1) = % below the axis. Hence,

8 1 1

3n/2
6. sinx dx
/2

SOLUTION The region bounded by the graph of y = sinx and the x-axis over the interval [%, 37"] consists of two parts
of equal area, one above the axis and the other below the axis. Hence,

3n/2
sinxdx = 0.
/2

5
7. 25 — x2dx
0

SOLUTION The region bounded by the graph of y = 25 — x2 and the x-axis over the interval [0, 5] is one-quarter of
a circle of radius 5. Hence,

T 1 25m
25 —x2dx = - n(5)? = =-.
o 270 2

y

PN W s O

X
12 3 45

3
8. [x] dx
-2

SOLUTION The region bounded by the graph of y = |x| and the x-axis over the interval [—2, 3] consists of two right
triangles, both above the axis. One triangle has area %(2)(2) = 2, and the other has area %(3)(3) = %. Hence,
3 9 13

x[dx = = +2=—.
_2|| 2 2
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2
9. 2 —|x])dx
-2

SOLUTION The region bounded by the graph of y = 2 — |x| and the x-axis over the interval [—2, 2] is a triangle above
the axis with base 4 and height 2. Consequently,

2 1
@2—Ix))dx = 5(2)(4) =4
-2

1
10. (2x —|x])dx
-1

SOLUTION The region bounded by the graph of y = 2x — |x| and the x-axis over the interval [—1, 1] consists of two
right triangles. One triangle has area %(1)(3) = % below the axis, and the other has area %(l)(l) = % above the axis.
Hence,

1
@2x —|x])dx = —
-1

N w
+
N~
Il
I
[N

6
11. Calculate (4 — x)dx in two ways:
0
(a) As the limit NIim RN
(b) By sketching the relevant signed area and using geometry

SOLUTION Let f(x) =4 — x over [0, 6]. Consider the integral g f(x)dx = 06(4 —Xx)dx.
(a) Let N be a positive integer and seta = 0, b =6, x = (b—a)/N = 6/N. Also, let xx = a+k x = 6k/N,
k=1,2,...,N be the right endpoints of the N subintervals of [0, 6]. Then

N N N N
6 6k 6 6
k=1 k=1 k=1 k=1
6 6 N2 N 18
=— AN—— —+— =6—_—.
N N 2 2 N
18
Hence lim Ry = lim 6—— =6.
N - oo N -, 00 N

(b) The region bounded by the graph of y = 4 — x and the x-axis over the interval [0, 6] consists of two right triangles.
One triangle has area %(4)(4) = 8 above the axis, and the other has area %(2)(2) = 2 below the axis. Hence,

6
(4—x)dx =8—2=6.
0
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5
12. Calculate  (2x + 1) dx intwo ways: As the limit lim Ry and using geometry.
2

N - oo
5 5
SOLUTION Let f(x) = 2x + 1 over [2, 5]. Consider the integral f(x)dx = (2x +1)dx.
2 2

= Let N be a positive integer and seta =2, b =5, x =(b—a)/N =3/N.Thenxy =a+k x =2+ 3k/N,
k=1,2,...,N are the right endpoints of the N subintervals of [2, 5]. Then

N N N N
3 15 18
Rn = X f(xk)—ﬁ 4+ —+1 =N 1+ k
k=1 k=1 k=1 N k=1
15 18 N2 N 9
== = —+— =15+4+9+ — =24+ —,
N( ) N2 2 2 N

. . 9
Hence lim Ry = lim 24+ — =24
N - oo N - oo N

= The region bounded by the graph of y = 2x + 1 and the x-axis over the interval [2, 5] is a trapezoid with height 3
and bases 5 and 11. Hence,

5(2x +1)dx = %(3)(5 +11) = 24.
2

y

12

N b o ™

13. Evaluate the integrals for f(x) shown in Figure 14.
2 6
(@ f(x) dx (b) f(x) dx
0 0

4 6
(©) f(x) dx (d) [ ()l dx
1 1

FIGURE 14 The two parts of the graph are semicircles.

SOLUTION Let f(x) be given by Figure 14.
(a) The definite integral 02 f (x) dx is the signed area of a semicircle of radius 1 which lies below the x-axis. Therefore,

2 n

= lrap=_rI
f(x)dx = 271(1) =5
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(b) The definite integral : f(x) dx is the signed area of a semicircle of radius 1 which lies below the x-axis and a
semicircle of radius 2 which lies above the x-axis. Therefore,

6 1 1 3
f =n@?-Zn@)? ==,
. (x)dx 271() 2H() >

(c) The definite integral 14 f (x) dx is the signed area of one-quarter of a circle of radius 1 which lies below the x-axis
and one-quarter of a circle of radius 2 which lies above the x-axis. Therefore,

4 1 1 3
= 2 _* 2_29
. f(x)dx-4n(2) 471(1) 4n.

(d) The definite integral 16 | f(x)] dx is the signed area of one-quarter of a circle of radius 1 and a semicircle of radius
2, both of which lie above the x-axis. Therefore,

o

6|f(x)| dx = ln(z)2 + ln(1)2 =
1 T2 4 T4

In Exercises 14-15, refer to Figure 15.

y=9()

FIGURE 15

3 5
14. Evaluate g(t)dt and g(t) dt.
0 3

SOLUTION

= The region bounded by the curve y = g(x) and the x-axis over the interval [0, 3] is comprised of two right
triangles, one with area % below the axis, and one with area 2 above the axis. The definite integral is therefore equal
to2— % = %

= The region bounded by the curve y = g(x) and the x-axis over the interval [3, 5] is comprised of another two right
triangles, one with area 1 above the axis and one with area 1 below the axis. The definite integral is therefore equal
to 0.

a C
15. Find a, b, and ¢ such that . g(t)dt and A g(t) dt are as large as possible.

a
SOLUTION To make the value of g(t) dt as large as possible, we want to include as much positive area as possible.
0
C
This happens when we take a = 4. Now, to make the value of g(t) dt as large as possibe, we want to make sure to

include all of the positive area and only the positive area. This happens when we take b = 1 and ¢ = 4.

16. Describe the partition P and the set of intermediate points C for the Riemann sum shown in Figure 16. Compute the
value of the Riemann sum.

34.25

d /
1 N

051 225332 455
FIGURE 16

X

SOLUTION The partition P is defined by
Xx0=0 < x1=1 < xp=25 < x3=32 < x4=5

The set of intermediate points is given by C = {c1 = 0.5, ¢y, = 2,c3 = 3, ¢4 = 4.5}. Finally, the value of the Riemann
sumis

34.25(1 — 0) + 20(2.5 — 1) + 8(3.2 — 2.5) + 15(5 — 3.2) = 96.85.
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In Exercises 17-22, sketch the signed area represented by the integral. Indicate the regions of positive and negative area.
2
17. x—= x2) dx
0

SOLUTION Here is a sketch of the signed area represented by the integral 02(x —x2)dx.

y
o.s]l
e X

-
N

3
18. (2x —x2)dx
0

SOLUTION Here is a sketch of the signed area represented by the integral 03(2x —x2)dx.

2n
19. sinx dx
s
SOLUTION Here is a sketch of the signed area represented by the integral ,f" sinx dx.
y
04
X
1 2 3\ 4 5 6 7
-0.4
-0.8
-12
3n
20. sinx dx
0
3n

SOLUTION Here is a sketch of the signed area represented by the integral 5 sinx dx.

2

21. Inx dx
1/2

SOLUTION Here is a sketch of the signed area represented by the integral 12/2 Inx dx.

0.6 1
0.4 +
02 4

-02 + 05 - 1 15 2

0.4+
-0.6 +
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1

22. tan~1 x dx
-1

SOLUTION Here is a sketch of the signed area represented by the integral El tan~ 1 x dx.

In Exercises 23-26, determine the sign of the integral without calculating it. Draw a graph if necessary.

23. x4 dx

-2
SOLUTION The integrand is always positive. The integral must therefore be positive, since the signed area has only
positive part.

1

24. x3 dx

-2
SOLUTION By symmetry, the positive area from the interval [0, 1] is cancelled by the negative area from [—1, 0]. With
the interval [—2, —1] contributing more negative area, the definite integral must be negative.

2n

25. [GUI X sin x dx
0

SOLUTION As you can see from the graph below, the area below the axis is greater than the area above the axis. Thus,
the definite integral is negative.

12 3\4 5 6 7
-02
0.4

-0.6

] 21 of
26. [GU| ? dx
0

SOLUTION From the plot below, you can see that the area above the axis is bigger than the area below the axis, hence
the integral is positive.

In Exercises 27-30, calculate the Riemann sum R( f, P, C) for the given function, partition, and choice of intermediate
points. Also, sketch the graph of f and the rectangles corresponding to R(f, P, C).

27. f(x)=x, P={1,12,15,2}, C={11,14,19}
SOLUTION Let f(x) = x. With

P={xp=1,x1 =12,x3 =15,x4 =2} and C={c;1=11,cp =14,c3 =109},
we get
R(f,P,C)= xpf(cy)+ xof(cp)+ x3f(c3)
= (1.2 —1)(1.1) + (1.5 — 1.2)(1.4) + (2 — 1.5)(1.9) = 1.59.

Here is a sketch of the graph of f and the rectangles.
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X

[ 05 1 15 2 25

28. f(x)=x?+x, P={2,3,455)}, C={235,5}
SOLUTION Let f(x) = x2 + x. With
P={xp=2,x1 =3,x3 =4.5,x4 =5} and C ={cy =2,cp =3.5,c3 =5},
we get
R(f,P,C)= x1f(cy)+ xpf(cp)+ x3f(c3)
= (3—2)(6) + (4.5 — 3)(15.75) + (5 — 4.5)(30) = 44.625.
Here is a sketch of the graph of f and the rectangles.

y

30
25
20
15

10
5
: f f — X

1 2 3 4 5

29. f(x)=x+1, P ={-2—-1.6,—1.2,—0.8,—0.4,0},
C ={-1.7,-1.3,-0.9, 0.5, 0}

SOLUTION Let f(x) = x + 1. With
P={xg=-2,x1 =—1.6,x3=-1.2,x4 = —.8,x5 = —.4,xg = 0}
and
C={c=-17,cp=-13,c3=—-.9,c4 = —.5,c5 =0},
we get
R(f,P,C)= xif(c))+ xaf(c))+ xaf(ca)+ xaf(ca)+ xs5f(cs)
= (1.6 — (=2))(=.7) + (—1.2 — (—1.6))(—.3) + (—0.8 — (—1.2))(.1)
+ (=0.4 — (—0.8))(.5) + (0 — (=0.4))(1) = .24.

Here is a sketch of the graph of f and the rectangles.

30. f(x)=sinx, P={0,%, 1,1} C={04,07,12}

SOLUTION Let f(x) =sinx. With
m m m
P= x=0,X1 = =,X3= =, X4 = = and C={ci=4,c0=.7,c3 =12},
6 3 2
we get
R(f,P,C)= xif(c1)+ xa2f(cy)+ x3f(ca)
= g —0 (sin.4) + g - g (sin.7) + g - g (sin1.2) = 1.029225.

Here is a sketch of the graph of f and the rectangles.
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0.8
0.6
0.4
0.2

t t t t t t t +— X
02040608 1 121416

In Exercises 31-40, use the basic properties of the integral and the formulas in the summary to calculate the integrals.

4
3L x2 dx
0
4, 1, 5 64
SOLUTION By formula (6), x“dx = 5(4) =73
0
4
32 x2 dx
1
4 4 1 1 1
SOLUTION x?2dx = x%dx— x¥dx=Z(@)3-Z@)°=21
1 0 0 3 3
3

33, (3t+4)dt
0

3 3 3 1 51
SOLUTION GBt+4)dt=3 tdt+4 1dt=3--@3)°2+4(3@-0)=—.
0 0 0 2 2
3
34. (3x +4)dx
-2
SOLUTION
3 3 3 0 3
(Bx+4)dx =3 xdx +4 dx =3 xdx + xdx +43—(-2))
-2 -2 -2 -2 0
3 —2 1 1 55
= - +20=3 23 —2(-2)%> +20=—.
3 . x dx . x dx 0=3 23 2( ) 0 >
1
35. (u2—2u)du
0
SOLUTION
1 1 1 1 1 1 2
2 — 2 — 3 2 _ —
—2u)du = du—2 du=-(1)°—-2 - (D)f==-—-1=—-.
) (u u)du . u®du . udu 3() 7 1) 3 3

3
36. (6y2 +7y +1)dy
0
SOLUTION

3 3 3 8 1 1 177
(6y>+7y+1)dy=6 y’dy+7 ydy+ 1dy=6~§(3)3+7-5(3)2+(3—0)=7.
0 0 0 0

1
37 (X2 +x)dx
a

soLUTION First, J(x2+x)dx = OxZdx+ Pxdx = 203 + 2b2. Therefore

1 0 1 1 —a
x2+x)dx = (Z+x)dx+ (x2+x)dx= (x2+x)dx — (x2 + x) dx
—a —a 0 0 0

1 1 1 1
3+ 2.12 — Z(-a)p¥+Z(-a)? =Za®-Za?+>
1 1 3( a) 2( a) 3a 2a .

N~
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aZ
38. x2 dx
a
SOLUTION
a? a? a 1 3 1 1
x2dx = x2dx — x2dx =2 a ——(a)?’:—a6——a3
a 0 0 3 3 3
4
39 e* dx
0
4
SOLUTION eXdx =e* —1.
0
0
40.  (x?—e¥)dx
2
SOLUTION
0 2 2 2 1
(x2—eX)dx =— (x2—eX)dx =— x2dx —  eXdx =-— Z28—(e2—-1) =e?—
0 0 0 3
41. Prove by computing the limit of right-endpoint approximations:
b 4
x3dx = b—
0 4
SoLUTION Let f(x)=x3,a=0and x = (b—a)/N =b/N.Then
N N 3 4 N 4 4 3 2 4 4
b b b b N N N b b
Ry = x  f(x)=— KB == K= — o+t = — 4
1 N, _, N NY oy N4 4 2 4 4 2N
b b4 b4 b4 b4
Hence x3dx = lim Ry = lim —+—+ — =—.
0 Neoo N Noeo 4 2N 4NZ 4

In Exercises 42-49, use the formulas in the summary and Eq. (9) to evaluate the integral.

42. x2 dx
0

SOLUTION By the formula from Example 5, x2dx =

2
43. (x2 + 2x) dx
0

SOLUTION  Applying the linearity of the definite integral and the formulas from Examples 5 and 6,

2 2 2 2 2 1.3 1.2_20
(x“+2x)dx = xfdx+2  xdx==-(2)°+2--(2)° = —.
0 0 0 3 2 3

44, x3 dx
0
3
SOLUTION By Eqg. (9), x3dx =
0

IS

81
7
2
45, x = x3) dx
0
SOLUTION  Applying the linearity of the definite integral, the formula from Example 6 and Eq. (9):

2 3 2 2 3 1ov_Lloua
(x —x°)dx = xdx — xZdx = -(2)° — -(2)" = —2.
0 0 0 2 4

1
46.  (2x3 —x +4)dx
0

b4
4AN2’
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SOLUTION  Applying the linearity of the definite integral, Eq. (9), the formula from Example 6 and the formula for the
definite integral of a constant:

1 1 1 1 1 1
@x3—x+4)dx=2 x3dx— xdx+ 4dx=2-Z()*—-Z(1)’+4=4.
0 0 0 0 4 2

0
47. (2x —5) dx
-3

SOLUTION Applying the linearity of the definite integral, reversing the limits of integration, and using the formulas
for the integral of x and of a constant:

0 0 0 -3 0 1
(2x—5)dx =2 xdx— 5dx=-2 xdx —  5dx=—2.2(=3)%—15=—24.
-3 -3 -3 0 -3 2
3
48. x3 dx
1
3 3 1 34 14
SOLUTION Using Eq. (9), x3dx = x3dx — x3dx = = — = =20.
1 0 0 4 4
2

49. (x —x3)dx
1

SOLUTION Applying the linearity and the additivity of the definite integral:

2 2 2 2 1 2 1
(x—x3)dx= xdx — x3dx = xdx — xdx — x3 dx — x3 dx
1 1 0 0 0 0
1., 15 1. 4 1, .4 3 15 9
=-2)—-z(1)—- -@"—--(1)" =z——=—-.
5@ -0 - @' =0 =5-F=—
In Exercises 50-54, calculate the integral, assuming that
5 5
f(x)dx =5, g(x)dx =12
0

5
50. . (f(x) +g(x))dx

5 5 5
SOLUTION (f(x) +g(x))dx = f(x)dx + g(x)dx =5+12 =17.
0 0 0

5
51. o (f(x) +4g(x))dx

5 5 5
SOLUTION (f(x) +4g(x))dx = f(x)dx +4 g(x)dx =5+ 4(12) = 53.
0 0 0

0
52. g(x)dx
5
0 5
SOLUTION g(x)dx =— g(x)dx = —12.
5 0
5

53. (3f(x) —5g(x))dx
0

5 5 5
SOLUTION (Bf(x) —5g(x))dx =3 f(x)dx =5  g(x)dx = 3(5) — 5(12) = —45.
0 0 0

5
54. Is it possible to calculate g(x) f (x) dx from the information given?
0

SOLUTION It is not possible to calculate cgr’g(x) f (x) dx from the information given.

In Exercises 55-58, calculate the integral, assuming that

1 2 4
f(x)dx =1, f(x)dx =4, f(x)dx =7
0 1
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4
55. f(x)dx
0

4 1 4
SOLUTION f(x)dx = f(x)dx + f(x)dx =1+7=8.
0 0 1

2
56. f(x)dx
1

2 2 1
SOLUTION f(x)dx = f(x)dx — f(x)dx =4—-1=3.
1 0 0

1

57. f(x)dx
4
1 4
SOLUTION f(x)dx = — f(x)dx = —7.
4 1
4
58. f(x)dx
2

SOLUTION From Exercise 55, 6‘ f (x) dx = 8. Accordingly,

4 4 2
fOdx = f(x)dx— f()dx=8—4=4.
2 0 0

In Exercises 59-62, express each integral as a single integral.

3 7
59. f(x)dx + f(x)dx
0 3

3 7 7
SOLUTION f(x)dx + f(x)dx
0 3

f(x)dx.

9 9
60. f(x)dx — f(x)dx
2 4

9 9 4 9 9 4
SOLUTION f(x)dx — f(x)dx f(x)dx + f(x)dx — f(x)dx = f(x)dx.
2 4 4 4 2

9 5
61. f(x)dx — f(x)dx
2 2

9 5 5 9 5 9
SOLUTION f(x)dx — f(x)dx = f(x)dx + f(x)dx — f(x)dx = f(x)dx.
2 2 2 5 2 5

3 9
62  f()dx+  f(x)dx
7 3

3 9 7 7 9 9
SOLUTION f(x)dx + f(x)dx =— f(x)dx + f(x)dx + f(x)dx = f(x)dx.
7 3 3 3 7 7
b
In Exercises 63-66, calculate the integral, assuming that f is an integrable function such that f(x)dx =1— b1
1
forallb > 0.
3
63. f(x)dx
1
3 2
SOLUTION fx)dx =1-3"1= 3
1
4
64. f(x)dx
2
4 4 2 1 1 1
SOLUTION f(x)dx = f(x)dx — fx)dx=1—-— 1—- =-.
2 1 1 4 2 4
4

65.  (4f(x)—2)dx
1
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4 4 4
SOLUTION @Af(x)—2)dx =4 f(x)dx —2 ldx :4(1—4_1)—2(4—1):—3.
1 1 1
1
66. f(x)dx
1/2
1 1/2 1 1
SOLUTION f(x)dx =— fx)dx=— 1— = =1.
1/2 1 2

67. Use the result of Example 4 and Theorem 4 to prove that forb > a > 0,
b

eXdx =el —g
a

SOLUTION

b b a
eXdx = eXdx— e¥dx=(eP —1)—(e? —1) =P — 8.
a 0 0

4
68. Use the result of Exercise 67 to evaluate  (x — e*) dx.
2

SOLUTION

4 4 4 1 1
(x—eX)dx = xdx— eXdx=-42-222—(e*—e?d) =6+e2—¢"
2 2 2 2 2

b b

69. & Explain the difference in graphical interpretation between f(x)dx and | f(x)]dx.
a

a
SOLUTION When f(x) takes on both positive and negative values on [a, b], ;’ f(x) dx represents the signed area
between f(x) and the x-axis, whereas ;’lf(x)l dx represents the total (unsigned) area between f(x) and the x-axis.

Any negatively signed areas that were part of ;’ f(x) dx are regarded as positive areas in ab | f(x)] dx. Here is a
graphical example of this phenomenon.

Graph of f (x) Graph of | f (x)|
10 30
X
-4 | A2 \/1 20
-10
V -20 10
-30 X
4 2 | 2 4
2 2n
70. & Let | = sinxdx and J = cos? x dx. Use the following trick to prove that | = J = m: First
0 0
2mn
show with a graph that | = J and then prove | +J = dx.
0

SOLUTION The graphs of f(x) = sin?x and g(x) = cos? x are shown below at the left and right, respectively. It is
clear that the shaded areas in the two graphs are equal, thus

2mn 9 2m ’
| = sin“xdx = cos“xdx = J.
0 0

Now, using the fundamental trigonometric identity, we find

2n 2n
I+J= (sin? x + cos® x) dx = 1.-dx =2m.
0 0

Combining this last result with | = J yields | = J = .

y y

14
0.81
0.61
0.4
0.21




58 CHAPTER 5 | THE INTEGRAL

In Exercises 71-74, calculate the integral.
6
71. |3 —x|dx
0

SOLUTION Over the interval, the region between the curve and the interval [0, 6] consists of two triangles above the x
axis, each of which has height 3 and width 3, and so area %. The total area, hence the definite integral, is 9.

y
3

Alternately,
6 3 6
[3—x]dx = (B—x)dx+ (x—3)dx
0 0 3
3 3 6 3 6
=3 dx — xdx + xdx — xdx —3 dx
0 0 0 0 3
1o, 1o 1,
=90 — — + — —_ = —9 =09,
9 23 26 23 9=9
3

72. |2x — 4] dx
1

SOLUTION The area between |2x — 4| and the x axis consists of two triangles above the x-axis, each with width 1 and
height 2, and hence with area 1. The total area, and hence the definite integral, is 2.

y
2
15
1
05

05 1 15 2 25 3

Alternately,

3 2 3
[2x — 4] dx = (4—2x)dx + (2x — 4) dx
1 1 2

2 2 1 3 2 3
=4 dx —2 xdx — xdx +2 xdx — xdx —4 dx
1 0 0 0 0 2

1 1 1 1
=4-2 222-212 +2 232222 4=
2 2 2 2

1
73. x3| dx
-1
SOLUTION
3 x3 x=0
X7 = 3
—x° x <0.
Therefore,
1 0 1 -1 1 1 1 1
X3ldx =  —x3dx+ x3dx= x3dx +  x3dx=>(=D*+ () ==,
-1 -1 0 0 0 4 4 2

2
74, |x?—1]dx
0
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SOLUTION

2 x2—1 lsx<?2

[xc=1] = 2
—(xc—=1) 0=sx<1.

Therefore,

1 2
X2 —1ldx= (@ —-x¥dx+ (x2—1)dx
0 0 1

1 12 22 12 2
= dx — Xcdx + X“dx — xcdx — 1dx
0 0 0 0 1

1 I
=1-Z(+ @-30 -1=2

75. Use the Comparison Theorem to show that

SOLUTION On the interval [0, 1], x> < x*, so, by Theorem 5,

1 1
xOdx < x4 dx.
0 0

On the other hand, x4 < x5 forx  [1, 2], so, by the same Theorem,

2 2
xAdx < x° dx.
1 1

1 61 1
76. Prove that = < —dx < -=.
3 4 X 2

SOLUTION  On the interval [4, 6], £ < £, so, by Theorem 5,

1 61 61
- = —dx = —dx.
3 4 6 X 4 X X
On the other hand, % < % on the interval [4, 6], so
61 61 1 1
—dx < —dx=-(6—-4)=-.
, x =, =69 =7
Therefore 2 < 2 1 dx < 4, as desired.
0.3
77. Prove that 0.0198 < sinx dx < 0.0296. Hint: Show that 0.198 < sinx < 0.296 for x in [0.2, 0.3].

0.2

SOLUTION For0 < x < % = 0.52, we have ad;(sin X) = cosx > 0. Hence sinx is increasing on [0.2,0.3].
Accordingly, for 0.2 < x < 0.3, we have

m = 0.198 < 0.19867 = sin0.2 < sinx < sin0.3 = 0.29552 < 0.296 = M

Therefore, by the Comparison Theorem, we have

0.3 0.3 0.3
0.0198 =m(0.3—0.2) = mdx < sinxdx < Mdx = M(0.3 —0.2) = 0.0296.
0.2 0.2 0.2
/4
78. Prove that 0.277 < cosx dx < 0.363.
/8

SOLUTION cos X is decreasing on the interval [1/8, /4]. Hence, for 1/8 < x < ni/4,

cos(m/4) < cosx < cos(1/8).
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. V_
Since cos(/4) = 2/2,

T \/i /4 \/i n/4
0277T< - — = —dx < cos x dx.
8 2 /g 2 /8
Since cos(1/8) < .924,
/4 /4 T
cosxdx < 924dx = — (.924) < 0.363.
/8 /8 8
Therefore .277 < ,f//él cos X < .363.
79. Prove that
V_
/2 sinx 2
—dx = —
n/4 X 2

. sinx - .
Hint: Graphy = ~ and observe that it is decreasing on [%, % .

SOLUTION Let

As we can see in the sketgh below, f(x) is decreasing on the interval [/4, 1/2]. Therefore f(x) < f(n/4) for all x in
[n/4,n/2). f(n/4) = 222, so:

V_
/2 sinx m2p°3 n2 2
dx < —dx =

n/4 X n/4 T 4

80. Find upper and lower bounds for

SOLUTION Let

1

f(x) =

SN

x3 +
f(x) is decreasing for x on the interval [0, 1], so f(1) =< f(x) = f(0) forall x in [0, 1]. f(0) = 5 and f(1) = s«% S0

1 1 1
xL_dxs f(x)dx < ldx
0o 5 0 02

=

1
*L_s f(x)dx < —=.
<, x)

N

b b

81. & Suppose that f(x) < g(x) on [a, b]. By the Comparison Theorem, f(x)dx < g(x) dx. Isitalso
a a

true that f (x) < g (x) forx [a, b]? If not, give a counterexample.

SOLUTION The assertion f (x) < g (x) is false. Considera = 0,b =1, f(x) = x, g(x) = 2. f(x) < g(x) for all x
in the interval [0, 1], but f (x) =1 while g (x) = 0 for all x.

82. & State whether true or false. If false, sketch the graph of a counterexample.

b
(@) If f(x) >0, then f(x)dx > 0.
a

b
(b) If f(x)dx >0, then f(x) > 0.
a



SECTION 5.2 | The Definite Integral 571

SOLUTION
(a) Itistruethatif f(x) >0forx [a,b], then f f(x)dx > 0.

(b) Itis false that if ;’ f(x)dx > 0,then f(x) >0forx [a,b]. Indeed, in Exercise 3, we saw that f2(3x +4)dx =
7.5 >0, yet f(—2) = —2 < 0. Here is the graph from that exercise.

y
6

-2 -1 1
-2

Further Insights and Challenges
a

83. Explain graphically: f(x)dx = 0if f(x) is an odd function.
a

soLuTION If f isan odd function, then f(—x) = — f(x) for all x. Accordingly, for every positively signed area in the
right half-plane where f is above the x-axis, there is a corresponding negatively signed area in the left half-plane where
f is below the x-axis. Similarly, for every negatively signed area in the right half-plane where f is below the x-axis,
there is a corresponding positively signed area in the left half-plane where f is above the x-axis. We conclude that the
net area between the graph of f and the x-axis over [—a, a] is 0, since the positively signed areas and negatively signed
areas cancel each other out exactly.

<

1
84. Compute  sin(sin(x))(sin?(x) + 1) dx.

SOLUTION Let f(x) = sin(sin(x))(sinz(x) +1)). sinx is an odd function, while sin x is an even function, so:

f (—x) = sin(sin(—=x))(sin?(—=x) + 1) = sin(—sin(x))(sin%(x) + 1)
= —sin(sin(x))(sin®(x) + 1) = — f (x).

Therefore, f(x) isan odd function. The function is odd and the interval is symmetric around the origin so, by the previous
exercise, the integral must be zero.

85. Letk and b be positive. Show, by comparing the right-endpoint approximations, that
b 1
xKdx =bk*1  xKdx
0 0
SOLUTION Let k and b be any positive numbers. Let f(x) = xK on [0, b]. Since f is continuous, both é’ f(x)dx
and 01 f(x)dx exist. Let N be a positive integer and set x = (b —0)/N = b/N. Letx; = a+j x = bj/N,
j = 1,2,...,N be the right endpoints of the N subintervals of [0, b]. Then the right-endpoint approximation to
Otpodx = Pxkdxis
N N -k N
b b 1
RN — X f(XJ): J :bk+1 - -k
=1

N k1 )
N oy N NKH

In particular, if b = 1 above, then the right-endpoint approximation to 01 f(x)dx = 01 xK dx is

N Nk N
1 1
SN = X f(xj) =
=1

I
N N Nkt
Ny N NKk+

1
ik —
. lJ - bk+1RN
J:
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In other words, Ry = bk+1SN. Therefore,

b 1
xKdx = lim Ry = lim b**Isy = bkt jim sy =bk*1  xkdx.
N - oo N 0

0 N - oo — 00

86. Verify by interpreting the integral as an area:

b —— 1 — 1
1—x2dx=Zb 1—Db2+280
0 2 2

Here, 0 < b < 1 and 6 is the angle between 0 and % such that sin 8 = b.

SOLUTION The function f(x) = 1 — x2 is the quarter circle of radius 1 in the first quadrant. For 0 < b < 1, the area
represented by the integral (;3 1 — x2dx can be divided into two parts. The area of the triangular part is %(b) 1—Db2
using the Pythagorean Theorem. The area of the sector with angle 6 where sin@ = b, is given by %(1)2(9). Thus

O 1-x2dx=13b 1-p2+16.

y

—

87. Show that Eq. (6) holds for b < 0.

SOLUTION Letc = —h.Sinceb <0, c > 0, so by Eq. (6),

C 2 1
x2dx = =cS.
0 3
Furthermore, X2 is an even function, so symmetry of the areas gives
0 c
x2dx = x2 dx
—C 0
Finally,
b —C 0 c 1 1
x2dx = x2dx = — x2dx = — x2dx = —=c3 = Zps.
0 0 —c 0 3 3

88. Theorem 4 remains true without the assumption a < b < c. Verify this for the casesb <a <candc <a <h.

SOLUTION The additivity property of definite integrals states for a < b < c, we have ac f(x)dx = ;’ f(x)dx +
y T (x)dx.
- Suppose that we have b < a < c. By the additivity property, we have  f(x)dx = & f(x)dx + S f(x)dx.
Therefore,  f(x)dx = ¢ f(x)dx— & f(x)dx = ;’ f(x)dx + 5 f(x)dx.
= Now suppose that we have ¢ < a < b. By the additivity property, we have Cb f(x)dx = Ca f(x)dx +
Dt (x)dx. Therefore, S fo)dx=— 2f()dx= 2 fp)dx— 2 feodx= 2 feodx+ S Fx)dx.

= Hence the additivity property holds for all real numbers a, b, and c, regardless of their relationship amongst each
other.

5.3 The Fundamental Theorem of Calculus, Part |

Preliminary Questions

1. Assume that f(x) = 0. What is the area under the graph of f(x) over [0, 2] if f(x) has an antiderivative F(x) such
that F(0) =3 and F(2) = 7?
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SOLUTION Because f(x) = 0, the area under the graph of y = f (x) over the interval [0, 2] is

2
f(x)dx = F(2) — F(0) =7—3=4.

2. Suppose that F(x) is an antiderivative of f(x). What is the graphical interpretation of F(4) — F(1) if f(x) takes on
both positive and negative values?

SOLUTION Because F(x) is an antiderivative of f(x), it follows that F(4) — F(1) = 14 f(x)dx. Hence, F(4) — F(1)
represents the signed area between the graph of y = f (x) and the x-axis over the interval [1, 4].

7 7
3. Evaluate f(x)dx and f (x) dx, assuming that f (x) has an antiderivative F(x) with values from the follow-
0 2

ing table:

X 027
Fx) | 31719

SOLUTION Because F(x) is an antiderivative of f (x),

! f(x)dx = F(7)— F(0)=9—3=6

and

7
f(x)dx = F(7)—FQ)=9—-7=2.

4. Avre the following statements true or false? Explain.
(a) The FTC I is only valid for positive functions.
(b) To use the FTC I, you have to choose the right antiderivative.
(c) If you cannot find an antiderivative of f(x), then the definite integral does not exist.

SOLUTION
(a) False. The FTC I is valid for continuous functions.
(b) False. The FTC I works for any antiderivative of the integrand.

(c) False. If you cannot find an antiderivative of the integrand, you cannot use the FTC | to evaluate the definite integral,
but the definite integral may still exist.

9
5. What is the value of f (x)dx if f(x) is differentiable and f(2) = f(9) = 4?
2

9
SOLUTION Because f is differentiable, f(x)dx=f0OQ)—f(2)=4—-4=0.
2

Exercises
In Exercises 1-4, sketch the region under the graph of the function and find its area using the FTC I.

1. f(x)=x2, [0,1]
SOLUTION

We have the area
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2. f(x)=2x—x2, [0,2]
SOLUTION

0.8
0.6 1
0.4
0.21

Let A be the area indicated. Then:

2 2 2 2 1 2
A= (2x—x2)dx= 2x dx — x2dx =x% —Zx3 =4-0)-
0 0 3 0

3. f(x) =sinx, [0,1/2]
SOLUTION

0.8
0.6
0.4
0.2 1

02040608 1 121416

Let A be the area indicated. Then

/2 /2
A= sinx dx = —cos x =0—(-1)=1.
0 0
4. f(x) =cosx, [0,m/2]
SOLUTION

y

1,

0.8

0.6

0.4

0.2

X
02040608 1 121416

Let A be the shaded area. Then
/2 /2

A= cosx dx =sinx =1-0=1.
0 0

In Exercises 5-40, evaluate the integral using the FTC I.

6
5. x dx
3
6 1,8 1 1 27
SOLUTION dx ==x2 =2(6)2-2(3)%="2.
S Xax=d =507 =507 =3
9
6. 2dx
0
9 9
SOLUTION 2dx =2x =2(9)—2(0) = 18.
0 0
2
7. u?du

-3



SOLUTION

1
8. (x—xz)dx
0

2% -
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35

1 _3_
3 =7

1 1 1 1 1 1 1 1
2 _ 2 3 _ 2 3 2 3 _
SOLUTION X —Xx9)dx = —=x°— =x = -()—=(1 —(0)*—==(0 =—.
( ) > 3 . 2( ) 3( ) 2( ) 3( ) 6
5
9. eXdx
3
5 5
SOLUTION e¥dx =¥ =e®—¢ed.
3 3
4 1
10. X+ — dx
1 X
4 1 41 1 15
SOLUTION X+ — dx = —x2+ln|x| = Z42+In4 — Z12—In1 == +1In4
n X 2 2 2
0
11. (3x — 2eX) dx
-2
0 32 0 32 _,.0 3 2 -2 -2
SOLUTION (Bx —2e¥)dx = =x= —2¢e¥ = —0°—2e —(—2)*—2e =2e"“—8.
- 2 2 2
12 X dx
—12 X
4 dx 4 1
SOLUTION — =1In|x| =In|—4|—=In|-12| =In- = —In3.
—12 X —12 3

3
13, (2 —tH)dt
1

8 1 1
SOLUTION t®—tH)dt = Zt4 -8
1

1
14.  (4—5u%)du
0

1
SOLUTION (4—5u4)du = qu—ud
0

4

15, (x%+2)dx
-3

SOLUTION

4 1
(X2 +2)dx = §x3+2x
-3

4

16.  (3x® +x%2 —2x)dx
0

SOLUTION

4

1
(3x5+x2—2x)dx = x84+ 2x3—x
0

= 41)-(@1)° - 40)-(0° =3
0

4

_ 1.3 1 3oy — 133
_3— 5(4) +2(4) 5( 3)°+2(—3) = 3
1s_ 5 °
2" 73 0
= Yoo Tond a2 164 Ligyd_ 2 - 6160
= ;@+34° - 507+ 207 =0 3

2
17. (10x? +3x%) dx
—2

2

SOLUTION (10x° + 3x°) dx =
2

2

10, 1 _

P =
2

210 4 1,6 210 4 156
_2 2 2

575
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1
18. (5u4 - 6u2)du
-1
1 1
SOLUTION (Gu* —6u)du= u®—2ud = (15 -2(1)%) — ((-1)° - 2(-1)®)
-1

1
19. (@32 +t72y 4t
3

SOLUTION
3 8 2 S - Vi 8 2
4302 4 2y gt = Oi5/2 4 2492 _ +18'3 - 8,2
y ) 5 9 1 5 59
2
20. (x2 - x_z) dx
1
2 1 2 8 1 1 11
v N 3,1 _ _
SOLUTION X< —X dx = =x>+xX = —4+=- - —+1 ==,
L ) 3 . 3 2 3 6
41
21. — dt
1 t2
49 4 4 3
SOLUTION Sdt=  t72dt= -ttt = —@7' - 7! =2
1t 1 1 4
4y
22. ydy
0
4 4 2 4t 2 2 16
soLution  Vydy=  yM2ay=2y32 =22 216
0 0 3 o 3 3 3
27
23. x1/3 dx
1
27 7
SOLUTION X3y = 3343 = 3(g1y - 3 — g0,
1 4" T a 4
4
24, x4 dx
1
4 1 3% 1 121
-4, _ -3 _ -3 _
SOLUTION X" Tdx = —=x =——@)"C+=-=_
1 3 1 3() 3 64
9
25. t72qt
1

9 9
SOLUTION 124y = 2t1/2 = ()2 —p(1)1/2 = 4,
1 1

98
26. — dx
4 x3
9 8 9 65
SOLUTION Zdx = —4x"2 = —4(9) 2 +4(4)"2 = =,
4 x3 4 ©) ) 324
10
7.
0.2 3X
gy 1 0 4 1 1
SOLUTION — = —In|x| = -In10— = In0.2 = - In50.
0.2 3x 3 0.2 3 3 3

1
28, (9e¥)dx
0

1 1
SOLUTION (9e¥)dx = 9¢¥ =9e —9e? = 9(e —1).
0 0

29. dx

L3

=-2.
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11 1,71 1 1 3
SOLUTION Sdx=—2x"2  =-Z(-1)2+ (- ?=-2.
—p x3 2 —2 2( ) 2( ) 8
4
30. m dx
2
4 4
SOLUTION mldx = m?x = n2(4) - n2(2) =2n2.
2 2
27
t+1
1 t
SOLUTION
27 27 27
ilat= T2 V2ygr= 2302 4 02
1 t 1 3 1
2 Voo Vo 2 V- 8
= -8l 3)+6 3 — —+2 =60 3—-.
3( ) 3 3
/2
32. cos6do
0
/2 /2 P
SOLUTION cos6dO =sin@ =sin > —sin(0) = 1.
0 0
/2
33. cos x dx
—n/2
/2 /2
SOLUTION cosx dx =sinx =1—-(-1) =2
—m/2 —n/2
2n
34, costdt
0
2mn 2m
SOLUTION costdt =sint =0—-0=0.
0 0
3n/4
35. sin6do
n/4
3n/4 3n/4 \/E \/E v_
SOLUTION sin6d6 = —cos 6 = — 4+ —= 2.
n/4 n/4 2 2
an
36. sinx dx
2n
4 Am
SOLUTION sinxdx =—cosx =-1—(-1)=0.
2m 2
/4
37. sec? t dt
0
/4 /4 T
SOLUTION sec? tdt = tant =tan— —tan0 = 1.
0 0 4
/4
38. secOtan6dO
0
/4 /4 I V_
SOLUTION secOtan6d6 = sec 6 =secZ—sec0= 2—1.
0 0
/3
39. cscx cotx dx
/6
/3 /3 T i 2\/_
SOLUTION cscx cotxdx = (—cscx) = —¢Cc- — —csc—- =2—- 3.
/6 /6 3 6 3
/2
40. csc? ydy

/6
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/2 /2 T m V_
2 — — —
SOLUTION csceydy = (—coty) = —cot— — —cot—- = 3.
/6 /6 2 6

In Exercises 41-46, write the integral as a sum of integrals without absolute values and evaluate.
1

41, [x]| dx
-2
SOLUTION
1 0 1 1,9 1,1 1 1_5
x]dx = —x)dx + xdx=—2x2 +x? =0- —-Z(4) +-==
M L 0dr Xt @ +3=2
5
42. |3 —x]dx
0
SOLUTION
5 3 5 1 3 1 5
3—x]dx= @—x)dx+ (x—3)dx= 3x—=-x% + =x%-3x
0 3 2 o 2 3
9 25 9 13
= 9—- —0+ —-15 — - -9 =2
2 2 2 2
3
43. x3| dx
-2
SOLUTION
3 0 3 1 0 1 3
|x3|dx = (—x3)dx + x3dx = —>x* 4+ x4
-2 -2 0 4 -2 4 0
1 1 97
=0+>(-2)*+23—0=".
4 4 4
3
44, |x%—1|dx
0
SOLUTION
3 1 3 1 1 1 3
X2 —1ldx = (@1—x¥)dx+ (x2—1dx= x—=-x> + =x3—x
0 0 1 3 o 3 1
1 1 22
= 1-2 —0+(9-3—- -1 ==,
3 ( ) 3 3
n
45, |cos x| dx
0
SOLUTION
m /2 m /2 T
|cosx|dx = cosx dx + (—cosx)dx =sinx —sinx =1-0—-(-1-0)=2.
0 /2 0 n/2
5
46. |x2 —4x + 3| dx
0
SOLUTION
5 5
X2 —4x +3[dx = |(x —3)(x — )] dx
0 0
1 3 5

(x2 —4ax +3)dx + —(x2—4x+3)dx+ (x%—4x +3)dx
1 3

1 3 5

1 1 1
= x3—2x%+3x — Zx3—2x2+3x + §x3—2x2+3x

0 1 3



SECTION 5.3 | The Fundamental Theorem of Calculus, Part | 579

1 1 125

5—2+3 —0—-(9—18+9)+ 5—2+3 + T_50+15 —(9—-18+9)
28

T

In Exercises 47-52, evaluate the integral in terms of the constants.

b
47. x3 dx
1
b 1,0 1 1 1
SOLUTION x3dx = =x4 =—b4——(1)4=— b*—1 for any number b.
1 4 4 4 4 4
a
48. x4 dx
b
& 4 15% 15 15
SOLUTION XxTdx = =x = —a” — —b> for any numbers a, b.
b 5 y 5 5
b
49, x2 dx
1
b 5 16° 16 1.6 1.4
SOLUTION x> dx = =x°> = =b”— =(1)° = =(b® — 1) for any number b.
1 6 4, 6 6 6
X
50. (3 +t)dt
—X
SOLUTION
X 1 1 X 1 1 1 1
3 _ 4 2 _ 4 2 4 2 _
t°+t)dt = —t*+ =t = X"+ =X — —x"+=x =0.
_X( ) 4 2 —x 4 2 4 2
Sad
5. 00X
a X
5a 4y 5a
SOLUTION — =In|x] =In|5a]—In]a] =In5.
a X a
b% 4x
52. —
b

b% gx b?
SOLUTION - =In|x] =In |b2| —In|b] =In|b].
b b

1
53. Use the FTC I to show that x"dx = 0if n is an odd whole number. Explain graphically.
-1

SOLUTION We have
1 Xn+1 1 (l)n+l (_1)n+l

x"dx =
-1 n+1_, n+1 n+1

Because n is odd, n + 1 is even, which means that (—1)"*1 = (1)"*1 = 1. Hence

(1)n+1 B (_1)n+1 _ 1 1

n+1 n+1 n+l1 n+l

Graphically speaking, for an odd function such as x3 shown here, the positively signed area from x = 0to x = 1 cancels
the negatively signed area from x = —1to x = 0.

<
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54. What is the area (a positive number) between the x-axis and the graph of f(x) on [1, 3] if f (x) is a negative function
whose antiderivative F has the values F(1) = 7 and F(3) = 4?

3
SOLUTION f (x) dx represents the signed area bounded by the curve and the interval [1, 3]. Since f(x) is negative
1

3
on [1, 3], f (x) dx is the negative of the area. Therefore, if A is the area between the x-axis and the graph of f (x),
1

we have:
3
A=— fx)dx =—(FQR)—FQ)=—-@4-7=—(-3)=3.
1

55. Show that the area of a parabolic arch (the shaded region in Figure 8) is equal to four-thirds the area of the triangle

shown.
/\ |

S

2
FIGURE 8 Graphofy = (x —a)(b — x).

SOLUTION W first calculate the area of the parabolic arch:

b b b
x—a)b—x)dx =— (x—a)x—b)dx =— (x2—ax—bx+ab)dx
a a a

b
a b
— Zx? — —x% +abx
30 20 T2 .

2x3 — 3ax? — 3bx? + 6abx

|
ol Ol Ol ol

(2b3 — 3ab? — 3b3 + 6ab?) — (2a° — 3a° — 3ba? + 6a°b)

(=b® + 3ab?) — (—a + 3a%h)

1
ad+3ab?—3a%h—pd = s0- a)s.

The indicated triangle has a base of length b — a and a height of

a+b a+b b—a ?
—=a b—— = —
2 2 2
Thus, the area of the triangle is
1 b—a 2 1 3
E(b a) — = g(b a)°.
Finally, we note that
1 N3 4 1 \3
gb-a =z gb-a)7,

as required.

1
56. & Does x" dx get larger or smaller as n increases? Explain graphically.
0
SOLUTION Letn = 0 and consider le” dx. (Note: for n < 0 the integrand x" — oo asx — 0+, so we exclude this
possibility.) Now
1 1 ! 1

1
xVdx = xN+1 — . o)n+1
0 n+1 0 n+1() n+1()

T n+1
which decreases as n increases. Recall that le” dx represents the area between the positive curve f(x) = x" and the
x-axis over the interval [0, 1]. Accordingly, this area gets smaller as n gets larger. This is readily evident in the following
graph, which shows curves for several values of n.
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y
1,
1/4
1/2
1
2
4
8
X
0 1
3
57. Calculate f (x) dx, where
12—x2 forx<2
f(x) =
() x3 forx >2
SOLUTION
3 2 3 2 3
fo)dx= fx)dx+  fe)dx=  (12—x%)dx+  x3dx
-2 -2 2 -2 2
1, 2 1,8
= 12x —=x° + =x4
3 2 4

12(2) - %(2)3 - 12(-2) - %(—2)3 + %34 - %24

58. A5 Plotthe function f(x) = sin3x — x. Find the positive root of f (x) to three places and use it to find the area
under the graph of f (x) in the first quadrant.
SOLUTION The graph of f(x) = sin3x — x is shown below at the left. In the figure below at the right, we zoom in on
the positive root of f(x) and find that, to three decimal places, this root is approximately x = 0.760. The area under the
graph of f(x) in the first quadrant is then

0.760 1 0.760

1
in3x —x)dx = —=c0s3x — =
(sin3x — x) dx 3cosx 2x .

1 1 , 1
=—c 2.28) — -(0.760)° + - = 0.262
- c05(2.28) — 5 (0.760)” +

y
0.5

1/\ ) )
-0.2 0.2 04 0.6 O 1 0.756 0.758 0. 0.762 0.764
-0.5

Further Insights and Challenges

59. In this exercise, we generalize the result of Exercise 55 by proving the famous result of Archimedes: For r < s,
the area of the shaded region in Figure 9 is equal to four-thirds the area of triangle ACE, where C is the point on the
parabola at which the tangent line is parallel to secant line AE.

(a) Show that C has x-coordinate (r + s)/2.

(b) Show that ABDE has area (s — r)3/4 by viewing it as a parallelogram of height s — r and base of length CF.

(c) Showthat ACE hasarea (s — r)3/8 by observing that it has the same base and height as the parallelogram.

(d) Compute the shaded area as the area under the graph minus the area of a trapezoid and prove Archimedes’s result.

|/‘r s\
2

FIGURE 9 Graphof f(x) = (x —a)(b — x).
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SOLUTION
(a) The slope of the secant line AE is

fE)—f(r) _Gs—a)b—s)—(r—a)b—r)

S—r S—r

=a+b—(r+5s)

and the slope of the tangent line along the parabola is
f (x)=a+b—2x.

If C is the point on the parabola at which the tangent line is parallel to the secant line AE, then its x-coordinate must
satisfy

r+s
at+b—2x=a+b—(r+5s) or sz.

(b) Parallelogram ABDE has height s — r and base of length CF. Since the equation of the secant line AE is
y=[a+b—(r+s)](x—r)+( —a)b—r),
the length of the segment CF is

—r)2
o 0-T20 —peb—gre) 2 or —(—ap-n=87"0

o (s—1)°
Thus, the area of ABDE is S
(c) Triangle ACE is comprised of ACF and CEF. Each of these smaller triangles has height % and base of
length %. Thus, the area of ACE is

1s—r (s—r)2+ls—r s—-r? _ (-r)®
2 2 4 2 2 4 8
(d) The area under the graph of the parabola between x =r and x = s is

S
3

5 1 1
(x —a)(b—x)dx = —abx + =(a +b)x? — =x
r 2 3 r

1 1 1 1
=—abs+ =(a+b)s?2—2s3+abr — Z(a+byr2+ =r3
2( ) 3 2( ) 3

=ab(r —s) + %(a +b)(s—r)(s+r)+ %(r - s)(r2 +rs+ 52),
while the area of the trapezoid under the shaded region is
1
6N —a)b=s)+(—a)b-r)]

(s—r) —2ab+ (a+h)(r +s)—r2—s2

N -

=ab(r —s) + %(a +b)(s —r)(r +s)+ %(r —s)(r? +s%).

Thus, the area of the shaded region is

1, 1 1, 1, 1, 1, 1 .1, _1 3
r—s) —-r*+ —-rs+ -8~——-r-—=s =(—r =~ — =rs+ —=s ==(s—r)7,
=) grivgrs*3s =37 3 O g1

which is four-thirds the area of the triangle ACE.

60. (a) Apply the Comparison Theorem (Theorem 5 in Section 5.2) to the inequality sinx < x (valid for x = 0) to
prove

x2
11— —<cosx=<1
2
(b) Apply it again to prove
3
X—FSSinXSX (forx =0)

(c) Verify these inequalities for x = 0.3.
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SOLUTION
X X X l X
(a) We have sintdt = —cost = —cosx +1and tdt = =t?
0 0 0 2 9

X2
—cosx +1< 7

1,
= —x“. Hence
2

. L 2 .
Solving, this gives cosx = 1 — XT cosx < 1 follows automatically.

(b) The previous part gives us 1 — % < cost < 1, fort > 0. Theorem 5 gives us, after integrating over the interval
[0, x],

X3
X—Fssinxsx.

(c) Substituting x = .3 into the inequalities obtained in (a) and (b) yields
0.955 < 0.955336489 < 1 and 0.2955 < 0.2955202069 < .3,

respectively.

61. Use the method of Exercise 60 to prove that

1—)(2<cosx<l—x2+x4
2 - 2 24
3 3 5
X X X
X——<sinxs=x——+— (forx=0
6 6 120 ( )

Verify these inequalities for x = 0.1. Why have we specified x = 0 for sin x but not cos x?

SOLUTION By Exercise 60, t — %t3 <sint <t fort > 0. Integrating this inequality over the interval [0, x], and then
solving for cos x, yields:

1, 1 4 1,
—Xf——x"=1- = -
2x 24x COS X 2x
1, 1, 1 4
1—-—x“<cosx<1——x“+ —x".
2 2 24

. .. . 2 2 4 .
These inequalities apply for x = 0. Since cosx, 1 — XT and 1 — X7 + é— are all even functions, they also apply for

x <0.
Having established that
t2 2 t4
l1-—<cost=s1l——+ —,
2 2 24
for all t = 0, we integrate over the interval [0, x], to obtain:
x—x3 <sinx<x—x3 + x°
6 - 6 120°
The functions sinx, x — %x3 and x — %x:" + ﬁxf’ are all odd functions, so the inequalities are reversed for x < 0.
Evaluating these inequalities at x = .1 yields
0.995000000 < 0.995004165 < 0.995004167

0.0998333333 < 0.0998334166 < 0.0998334167,

both of which are true.

62. Calculate the next pair of inequalities for sinx and cos x by integrating the results of Exercise 61. Can you guess the
general pattern?

SOLUTION Integrating

t3 3t
t——<Ssintst— —+ — fort=0
6 6 120 ( )
over the interval [0, x] yields
x2 x4 x2 x4 x8
———=<1l—-cOSX< ———+

2 24 2 24 720
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Solving for cos x and yields

1—X2 +X4 - < <cosx<1—X2 +X4
2 24 720 - 2 24
Replacing each x by t and integrating over the interval [0, x] produces
x3 x5 x/ _ x3 x5
X——+—— —— <sinXxX<X— — + —.
6 120 5040 6 120

To see the pattern, it is best to compare consecutive inequalities for sin x and those for cos x:

0<sinx <x

x3

X— — <sinx <x
6

X X3<sinx<x X3+X5
6 - 6 120°

Each iteration adds an additional term. Looking at the highest order terms, we get the following pattern:

0
X
x3 x3
6 3
«5
51

We guess that the leading term of the polynomials are of the form

x2n+1
)"
@n +1)!
Similarly, for cos x, the leading terms of the polynomials in the inequality are of the form

X2n

1" @n)!

63. Assumethat |f (x)] < K forx [a,b]. Use FTC I to prove that | f (x) — f(a)|] < K|x —a| forx [a, b].
SOLUTION Leta > b be real numbers, and let f(x) be such that | f (x)] < K forx [a,b]. By FTC,

X

f (t)dt = f(x) — f(a).
Since f (x) = —K forall x [a, b], we get:
f(x)—f(@)= " f (t)dt = —K(x — a).
a

Since f (x) = K forall x [a,b], we get:

f(x)— f(a) = ax f (t)dt < K(x —a).

Combining these two inequalities yields
—Kx—a)=s f(x)— f(a) = K(x —a),
so that, by definition,
|[f(x)— f(a)] = K|x —al.
64. (a) Prove that |sina —sinb| < |a — b| for all a, b (use Exercise 63).

(b) Let f(x) =sin(x + a) — sinx. Use part (a) to show that the graph of f (x) lies between the horizontal lines y = *a.
(c) Produce a graph of f(x) and verify part (b) fora = 0.5and a = 0.2.

SOLUTION
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(a) Let f(x) =sinx, sothat f (x) =cosx, and
It ()I=1

for all x. From Exercise 63, we get:

[sina —sinb| < |a —D|.
(b) Let f(x) = sin(x + a) — sin(x). Applying (a), we get the inequality:

[ f(x)] = Isin(x +a) —sin(x)| < [(x +a —x)| = |a].
This is equivalent, by definition, to the two inequalities:
—a < sin(x +a) —sin(x) < a.

(c) The plots of y = sin(x + .5) — sin(x) and of y = sin(x + .2) — sin(x) are shown below. The inequality is satisfied

A LN AT

5.4 The Fundamental Theorem of Calculus, Part Il

Preliminary Questions
X
1. What is A(—2), where A(x) = f(t)dt?
2

2
SOLUTION By definition, A(—2) = f(t)dt=0.

X -
2. LetG(x) = t3 + 1dt.
4

(a) Isthe FTC needed to calculate G(4)?
(b) Isthe FTC needed to calculate G (4)?
SOLUTION
@ No.G@4) = , t3+1dt=0. y
(b) Yes.Bythe FTCII,G (x) = x3+1,50G (4) = 665.
3. Which of the following defines an antiderivative F(x) of f(x) = X2 satisfying F(2) = 0?

X 2 X
(@) 2tdt (b)  t2dt (c)  t2dt
2 0 2
X
SOLUTION The correct answer is (C): t2 dt.
2

4. True or false? Some continuous functions do not have antiderivatives. Explain.

X
SOLUTION False. All continuous functions have an antiderivative, namely f(t)dt.
a

><3
5. LetG(x) = sint dt. Which of the following statements are correct?
4
(@) G(x) is the composite function sin(x3).
(b) G(x) is the composite function A(x3), where

X

A(x) = . sin(t) dt

(c) G(x) is too complicated to differentiate.
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(d) The Product Rule is used to differentiate G (x).
(e) The Chain Rule is used to differentiate G(x).
(f) G (x) = 3x%sin(x3).
SOLUTION Statements (b), (e), and (f) are correct.
3
6. Trick question: Find the derivative of t3dtatx = 2.
1

SOLUTION Note that the definite integral ft3 dt does not depend on x; hence the derivative with respect to x is 0 for
any value of x.

Exercises
1. Write the area function of f(x) = 2x + 4 with lower limita = —2 as an integral and find a formula for it.

SOLUTION Let f(x) = 2x + 4. The area function with lower limita = —2 is
X X

A(x) = f(t)dt = (2t + 4)dt.
a -2

Carrying out the integration, we find
X X
@+ adt= (t2 + 4t) - (2 +4x) = ((—2)> + 4(=2)) = x> + 4x + 4
or (x + 2)2. Therefore, A(x) = (x + 2)2.
2. Find a formula for the area function of f(x) = 2x + 4 with lower limita = 0.
SOLUTION The area function for f(x) = 2x + 4 with lower limita = 0 is given by

X X

AX) = (Qt+4)dt= (2 +4t) =x?+4x.
0 0

X
3. LetG(x) = (2 —2)dt.
1
(a) Whatis G(1)?
(b) Use FTC Il to find G (1) and G (2).
(c) Find a formula for G(x) and use it to verify your answers to (a) and (b).
SOLUTION LetG(x) = [(t?>—2)dt.
(@ ThenG(1) = {(t2—2)dt=0.
(b) Now G (x) =x2 —2,sothat G (1) = —land G (2) = 2.
(c) We have
X 1 X 1 1 1 5
2 — 3 — 3 3 — 1,3
tc—2)dt= —t°—2t = —x"—=2x = -(1)"—2(1) =_-x"—2x+ -.
,@-2dt= -2 = ad-20 - 2P -2 =5 -2y
Thus G(x) = 2x3 —2x + 3 and G (x) = x2 — 2. Moreover, G(1) = $(1)* —2(1) + 3 = 0,asin (a),and G (1) = —1
and G (2) = 2, asin (b).
X

4. Find F(0), F (0), and F (3), where F(x) = t2 + t dt.
0

SOLUTION By defiQ}'tion, F@) = (?

FR)= 32+3= 12=2 3.

t2+tdt =0.ByFTC,F (x) = x2+x,sothat F (0)= 02+ 0=0and

X
5. Find G(1), G (0), and G (11/4), where G(x) = tant dt.
1

SOLUTION By definition, G(1) = 11 tantdt = 0. By FTC, G (x) =tanx, sothat G (0) =tan0 = 0 and G (%) =
tanf = 1.

X du

-2 U2 + l.

~2 du 1 1
=0.ByFTC,H (x) = ——,s0H (—2) = -.
2 u2+1 4 ) X2 +1 (=2) 5

6. Find H(—2) and H (—2), where H(x) =

SOLUTION By definition, H(—2) =

In Exercises 7-14, find formulas for the functions represented by the integrals.
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X

7. uddu
2
X 1,.% 1
SOLUTION F(x)= uddu= -u* =:x%-4
X
8. sinudu
0
X X

SOLUTION F(x) = sinudu = (—cosu) =1—cosxX.
0 0

x2

9. tdt
1
x? 1,% 1, 1
SOLUTION F(x)=  tdt= -t2 =ZIx%-=.
1 2 2 2
X
10.  (t2—t)dt
2
X 1 1 X 1 2
SOLUTION F(x) = t2—t)ydt = Zt3—2t? =-x3-Zx2-Z,
) 2 ( ) 3 2 > 3 2 3
5
11.  eldt
X
5 5
SOLUTION eldt =e! =ed%—¢eX.
X X
X
12. cosudu
/4
X X \/5
SOLUTION F(x) = cosudu =sinu =sinx — —.
n/4 n/4 2
X
13. sec? 6d6
—n/4
X X
SOLUTION F(x) = sec?0d6 = tan 6 =tanx — tan(—m/4) = tanx + 1.
—n/4 —1/4
\/Y d
t
14. —
2 t
V_ V_
X dt X A 1
SOLUTION T=In|t| =In x—=In2=-Inx—1In2.
2

In Exercises 15-18, express the antiderivative F(x) of f(x) satisfying the given initial condition as an integral.

15. f(x)= x4+1, F(3) =0

- X
SOLUTION The antiderivative F(x) of f(x) = x4 + 1 satisfying F(3) =0is F(x) = t4 + 1dt.
3

16, 100= 25— F(1)=0
SOLUTION The antiderivative F(x) of () = 2-™ L satisfying F(7) = 0is F(X) =~ dt.
x2+9 7 12+9

17. f(x) =secx, F(0)=0
X
SOLUTION The antiderivative F(x) of f(x) = secx satisfying F(0) = 0is F(x) = sect dt.
0

18. fx)=e*, F@4)=0
SOLUTION The antiderivative F(x) of f(x) = e_x2 satisfying F(4) = 0is

X 2
Fx)= e Udt.
4

In Exercises 19-22, calculate the derivative.

587
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X

19. (3 —t)dt
0

d X
SOLUTION By FTCII, ™

20 94 Xsin(tz)dt
Tdx g

d X
SOLUTION ByFTCIIl, —
dx 1

t
21. — cos 5x dx
dt 100

t

d
SOLUTION ByFTCII, —
dt 100

d S 1

tan
—2 1+u2

du
d
SOLUTION ByFTCII, IS

23. Sketch the graph of A(x) =

SOLUTION

(3 —t)dt = x3 —x.
0

sin(tz)dt = sinx2.

cos(5x) dx = cosbt.

du = tan

1+ u? 1+s2

f (t) dt for each of the functions shown in Figure 10.

y y
2 2
1 1
0 X 0 X
oyl 1.2 3 4 1 1 2 3 4
(A) (8)
FIGURE 10

= Remember that A (x) = f(x). It follows from Figure 10(A) that A (x) is constant and consequently A(x) is linear
on the intervals [0, 1], [1, 2], [2, 3] and [3, 4]. With A(0) =0, A(1) = 2, A(2) = 3, AB) = 2and A(4) = 2, we
obtain the graph shown below at the left.

= Since the graph of y = f(x) in Figure 10(B) lies above the x-axis for x
[0, 2], area accumulates more rapidly with increasing x, while for x

over [0, 4]. For x

[0, 4], it follows that A(x) is increasing
[2, 4], area accumulates

more slowly. This suggests A(x) should be concave up over [0, 2] and concave down over [2, 4]. A sketch of A(x)

is shown below at the right.

BN W s

24, Let A(x) =

f (t) dt for f(x) shown in Figure 11. Calculate A(2), A(3), A (2), and A (3). Then find a formula

for A(x) (actually two formulas, one for 0 < x < 2 and one for 2 < x < 4) and sketch the graph of A(x).

y

BN W s

1 2 3
FIGURE 11

4
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SOLUTION A(2) = 22 = 4, the area under f(x) fromx = 0to x = 2, while A(3) =2 -3 + % = 6.5, the area
under f(x) fromx = 0tox = 3.Bythe FTC, A(xX) = f(X)so A(2) = f(2) =2and A (3) = f(3) = 3. For each
x [0, 2], the region under the graph of y = f(x) is a rectangle of length x and height 2; for each x  [2, 4], the region
is comprised of a square of side length 2 and a trapezoid of height x — 2 and bases 2 and x. Hence,

2X, 0sx<2
AL) = Ix2+2, 2=<x<4
A graph of the area function A(x) is shown below.
y

Area Function
A(x)

N B OO

25. Make a rough sketch of the graph of the area function of g(x) shown in Figure 12.

y
y=9(x)

N

FIGURE 12

SOLUTION The graph of y = g(x) lies above the x-axis over the interval [0, 1], below the x-axis over [1, 3], and above
the x-axis over [3, 4]. The corresponding area function should therefore be increasing on (0, 1), decreasing on (1, 3) and
increasing on (3, 4). Further, it appears from Figure 12 that the local minimum of the area function at x = 3 should be
negative. One possible graph of the area function is the following.

y

a 1 z\e/ 4
-2

X
26. Show that |t| dt is equal to %x|x|. Hint: Consider x = 0 and x < 0 separately.
0

t fort=0
SOLUTION Let f(t) = |t] = .
-t fort<O
X X 1
« tdt forx=0 Etz zzxz forx =0
Foo=  fmdt= ° = ° 7
0 —tdt forx <O e o he forx<o
2 0 2
For x = 0, we have F(x) = %xz = %x |x| since |x| = x, while for x < 0, we have F(x) = —%xz = %x [x| since

[x] = —x. Therefore, for all real x we have F(x) = 5x [x].
X3
27. Find G (x), where G(x) = tant dt.
3

SOLUTION By combining the FTC and the chain rule, we have

G ()= tan(x3) 3x2 = 3x2tan(x3).
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X2
28. Find G (1), where G(x) = t3 + 3dt.
0

—_ AVAR
SOLUTION By combining the Chain Rule and FTC, G (x) = x8+3.2x,50G (1)= 1+3.-2=4.

In Exercises 29-36, calculate the derivative.
da ¥
29. — sin?t dt
dx o
XZ
SOLUTION LetG(x) = sin?t dt. By applying the Chain Rule and FTC, we have
0

G ()= sin2(x2) - 2X = 2X sinz(xz).

d 1/x o

30. ix . sin(t©) dt
X 1/x

SOLUTION Let F(x) = sin(tz)dt. Then sin(tz)dt = F(1/x), so, by the chain rule,
1 1

1/x 2

d e d 1 1
— sin(t?)dt = —F(1/x) =sin  — -—
dx 1 n() dx (A7) =si X x?2
d COSss
31 — (u4 —3u)du
ds _—g
S
SOLUTION LetG(s) = (u4 — 3u) du. Then, by the chain rule,
d COSss d
as (u4—3u)du = d—G(coss)=—sins(cos4s—Scoss).
S —6 S
d 0
32. — sin? t dt
dx
0 X
SOLUTION LetG(x) = sintdt = — sint dt. Then by FTC, G (x) = —sin? x.
X 0
d 0
33. — sin? t dt
dx 43
X 0 x3
SOLUTION Let F(x) = sin t dt. Then , sinftdt = — sintdt = —F(x3). From this,
0 X 0
0

d e DU P N S NURIP BT I
ix X3smtdt—dx( F(x°)) = —=3x“F (x°) = —3x“sin“ x°.

X2
SOLUTION Let
x4/ x4/ v
F(x) = tdt = tdt — tdt.
X2 0 0
Applying the Chain Rule combined with FTC, we have

F )= x4 43— x2.2x = 4x°® — 2x |x|.
Hint for Exercise 34:F (x) = A(x*) — A(x2), where
V_
A(x) = Tdt
0

d ¥
35, — tant dt
dx \/;
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SOLUTION Let

2 2 V_
X X X
G(x) = _tantdt= tantdt — tant dt.
X 0 0
Applying the Chain Rule combined with FTC twice, we have
V_
Vo 1 t
G x)= tan(xz) -2x —tan( x) - Ex_ll2 =2X tan(xz) - a—%%).
d 3u+9
36, — x2 + 1dx
du —y

SOLUTION Let

3u+9 3u+9 -u
F(u)= x2+1dx = X2 +1dx — x2 + 1dx.
—u 0 0

Applying the Chain Rule combined with FTC,

FUu= @u+92+1-3— (-u)2+1-(-1)=3 @Bu+92+1+ uZ2+1

X X

In Exercises 37-38, let A(x) = f(t)dt and B(x) = f(t)dt, with f(x) as in Figure 13.
0 2

y=fx)

FIGURE 13

37. Find the min and max of A(x) on [0, 6].

SOLUTION The minimum values of A(x) on [0, 6] occur where A (x) = f(x) goes from negative to positive. This
occurs at one place, where x = 1.5. The minimum value of A(x) is therefore A(1.5) = —1.25. The maximum values of
A(x) on [0, 6] occur where A (x) = f(x) goes from positive to negative. This occurs at one place, where x = 4.5. The
maximum value of A(x) is therefore A(4.5) = 1.25.

38. Find formulas for A(x) and B(x) valid on [2, 4].
2 2
SOLUTION Ontheinterval [2,4], A(xX) =B (x) = f(x) = 1. A(2) = f(t)dt = —1and B(2) = f(t)dt =
0 2
0. Hence A(x) = (x —2) —1and B(x) = (x — 2).
X
39. Let A(x) = f (t)dt, with f(x) as in Figure 14.
0

(a) Does A(x) have a local maximum at P?

(b) Where does A(x) have a local minimum?

(c) Where does A(x) have a local maximum?

(d) True or false? A(x) < 0 for all x in the interval shown.

y

FIGURE 14 Graph of f(x).

SOLUTION

(a) In order for A(x) to have a local maximum, A (x) = f(x) must transition from positive to negative. As this does
not happen at P, A(x) does not have a local maximum at P.

(b) A(x) will have a local minimum when A (x) = f(x) transitions from negative to positive. This happens at R, so
A(x) has a local minimum at R.
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(¢) A(x) will have a local maximum when A (x) = f(x) transitions from positive to negative. This happens at S, so
A(x) has a local maximum at S.
(d) Itis true that A(x) < 0 on I since the signed area from 0 to x is clearly always negative from the figure.

40. Find the smallest positive critical point of
X
F(x) = cos(t3/2) dt
0

and determine whether it is a local min or max.

SOLUTION A critical point of F(x) occurs where F (x) = cos(x3/2) = 0. The smallest positive critical points occurs

where x3/2 = 11/2, so that x = (11/2)%/3. F (x) goes from positive to negative at this point, so x = (11/2)%/3 corresponds
to a local maximum.

X
In Exercises 41-42, let A(x) = f (t) dt, where f(x) is continuous.
a

41. ﬁ Area Functions and Concavity Explain why the following statements are true. Assume f (x) is differen-
tiable.

(a) Ifcisan inflection point of A(x), then f (c) = 0.

(b) A(x) is concave up if f(x) is increasing.

(c) A(x) is concave down if f(x) is decreasing.

SOLUTION

(a) Ifx = cisaninflection point of A(x), then A (¢) = f (c) =0.

(b) If A(x) is concave up, then A (x) > 0. Since A(x) is the area function associated with f(x), A (x) = f(x) by FTC
I, 50 A (x) = f (x). Therefore f (x) >0, so f(x) is increasing.

(c) If A(x) is concave down, then A (x) < 0. Since A(x) is the area function associated with f(x), A (x) = f(x) by
FTCIl,s0 A (x) = f (x). Therefore, f (x) < 0andso f(x) is decreasing.

42. Match the property of A(x) with the corresponding property of the graph of f(x). Assume f (x) is differentiable.

Area function A(x)

(a) A(x) is decreasing.

(b) A(x) has a local maximum.

(c) A(x) is concave up.

(d) A(x) goes from concave up to concave down.

Graph of f(x)
(i) Lies below the x-axis.
(if) Crosses the x-axis from positive to negative.
(iii) Has a local maximum.
(iv) f(x) isincreasing.
SOLUTION Let A(x) = ; f (t) dt be an area function of f(x). Then A (x) = f(x)and A (x) = f (x).
(a) A(x) is decreasing when A (x) = f(x) <0, i.e.,, when f(x) lies below the x-axis. This is choice (i).
(b) A(x) has a local maximum (at xg) when A (x) = f(x) changes sign from + to 0 to — as x increases through xg,
i.e., when f(x) crosses the x-axis from positive to negative. This is choice (ii).
(c) A(x) is concave up when A (x) = f (x) >0, i.e.,, when f(x) is increasing. This corresponds to choice (iv).
(d) A(x) goes from concave up to concave down (at xg) when A (x) = f (x) changes sign from + to 0 to — as x
increases through xg, i.e., when f (x) has a local maximum at xq. This is choice (iii).

X
43. Let AX) = f (t) dt, with f(x) as in Figure 15. Determine:
0

(a) The intervals on which A(x) is increasing and decreasing
(b) The values x where A(x) has a local min or max

(c) The inflection points of A(x)

(d) The intervals where A(x) is concave up or concave down

<

FIGURE 15
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SOLUTION
(a) A(x)isincreasing when A (x) = f(x) > 0, which corresponds to the intervals (0, 4) and (8, 12). A(x) is decreasing
when A (x) = f(x) < 0, which corresponds to the intervals (4, 8) and (12, oo).

(b) A(x) has a local minimum when A (x) = f(x) changes from — to +, corresponding to x = 8. A(x) has a local
maximum when A (x) = f(x) changes from + to —, corresponding to x = 4 and x = 12.

(c) Inflection points of A(x) occur where A (x) = f (x) changes sign, or where f changes from increasing to decreas-
ing or vice versa. Consequently, A(x) has inflection points at x = 2, x =6, and x = 10.
(d) A(x) is concave up when A (x) = f (x) is positive or f(x) is increasing, which corresponds to the intervals (0, 2)
and (6, 10). Similarly, A(x) is concave down when f(x) is decreasing, which corresponds to the intervals (2, 6) and
(10, o0).
X

44. Let f(x) =x2—5x—6and F(x) =  f(t)dt.

0
(a) Find the critical points of F(x) and determine whether they are local minima or maxima.
(b) Find the points of inflection of F(x) and determine whether the concavity changes from up to down or vice versa.
(c) Plot f(x) and F(x) on the same set of axes and confirm your answers to (a) and (b).

SOLUTION
(@) IfF(x) = (> —5t—6)dt, then F (x) =x2—5x —6and F (x) = 2x — 5. Solving F (x) =x2—5x —6 =0
yields critical points x = —1 and x = 6. Since F (—1) = —7 < 0, there is a local maximum value of F at x = —1.

Moreover, since F (6) = 7 > 0, there is a local minimum value of F at x = 6.
(b) As noted in part (a),

F(x):x2—5x—6 and F (x) =2x —5.

A candidate point of inflection occurs where F (x) =2x —5=0. Thusx = % F (x) changes from negative to positive
at this point, so there is a point of inflection at x = 5 and concavity changes from down to up.

(c) From the graph below, we clearly note that F(x) has a local maximum at x = —1, a local minimum at x = 6 and a
point of inflection at x = %

X
45. Sketch the graph of an increasing function f (x) such that both f (x) and A(x) = f (t) dt are decreasing.
0

X
soLUTION If f (x) is decreasing, then f (x) must be negative. Furthermore, if A(x) = f(t) dt is decreasing,
0

then A (x) = f(x) must also be negative. Thus, we need a function which is negative but increasing and concave down.
The graph of one such function is shown below.

X
46. & Figure 16 shows the graph of f(x) = x sinx. Let F(x) = tsintdt.
0

8
4 /\
0= f f X

igp@@@sp
-4 2 2

FIGURE 16 Graph of y = xsinX.
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(a) Locate the local maxima and absolute maximum of F(x) on [0, 37].
(b) Justify graphically that F(x) has precisely one zero in the interval [, 27].
(c) How many zeros does F(x) have in [0, 31]?

(d) Find the inflection points of F(x) on [0, 37] and, for each one, state whether the concavity changes from up to down
or vice versa.

SOLUTION Let F(x) = gtsint dt. A graph of f(x) = xsinx is depicted in Figure 16. Note that F (x) = f(x) and
F x)=1 x).

(@) For F to have a local maximum at xg (0, 3m) we must have F (xg) = f(xg) = 0and F = f must change sign
from + to 0 to — as x increases through xq. This occurs at x = . The absolute maximum of F(x) on [0, 377] occurs at
x = 3 since (from the figure) the signed area between x = 0 and x = c is greatest for x = ¢ = 3.

(b) Atx = m, the value of F is positive since f(x) > 0on (0, ). As x increases along the interval [T, 217], we see that
F decreases as the negatively signed area accumulates. Eventually the additional negatively signed area “outweighs” the
prior positively signed area and F attains the value 0, say atb  (, 2m). Thereafter, on (b, 21), we see that f is negative
and thus F becomes and continues to be negative as the negatively signed area accumulates. Therefore, F(x) takes the
value 0 exactly once in the interval [, 27].

(¢) F(x) hastwo zeroes in [0, 3m]. One is described in part (b) and the other must occur in the interval [27, 3] because
F(x) < 0at x = 2m but clearly the positively signed area over [27, 37T] is greater than the previous negatively signed
area.

(d) Since f is differentiable, we have that F is twice differentiable on 1. Thus F(x) has an inflection point at xq provided
F (xo) = f (xg) =0and F (x) = f (x) changes sign at xo. If F = f changes sign from + to 0 to — at xg, then
f has a local maximum at xg. There is clearly such a value xgq in the figure in the interval [r1/2, ] and another around
5m/2. Accordingly, F has two inflection points where F(x) changes from concave up to concave down. If F = f
changes sign from — to 0 to + at xg, then f has a local minimum at xg. From the figure, there is such an xg around 37/2;
so F has one inflection point where F(x) changes from concave down to concave up.

47. Find the smallest positive inflection point of
X
Fx)=  cos(t¥2)dt
0

Use agraphof y = cos(x3/2) to determine whether the concavity changes from up to down or vice versa at this point of
inflection.

SOLUTION Candidate inflection points of F(x) occur where F (x) = 0. By FTC, F (x) = cos(x3/2), so F (x) =
—(3/2)xY2 5in(x3/2). Finding the smallest positive solution of F (x) = 0, we get:

—3/2)xY2sin(x¥2) =0

sin(x3/2) =0 (since x > 0)
32 =

x = 2’3 = 2.14503.

From the plot below, we see that F (x) = cos(x3/2) changes from decreasing to increasing at 72/3, so F(x) changes
from concave down to concave up at that point.

<

A

1 2 3
-0.5
-1
X

48. Determine f(x), assuming that f () dt is equal to x2 + x.
0

X
SOLUTION LetF(x)=  f(t)dt =x?+x.Then F (x) = f(x) = 2x + 1.
0

49. Determine the function g(x) and all values of c such that
X

gt)dt =x2+x—6
C
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SOLUTION By the FTC Il we have
d »
g(x) = d—x(x +Xx—6)=2x+1

and therefore,

X
gt)dt =x2 +x — (2 +¢)
C

We must choose ¢ so that ¢ + ¢ = 6. We can take ¢ = 2 or ¢ = —3.

Further Insights and Challenges

50. Proof of FTC Il The proof in the text assumes that f (x) is increasing. To prove it for all continuous functions, let
m(h) and M(h) denote the minimum and maximum of f(x) on [x, x + h] (Figure 17). The continuity of f(x) implies
that hIimom(h) = hIimO M(h) = f(x). Show that for h > 0,

hm(h) < A(x +h) — A(x) <= hM(h)
For h < 0, the inequalities are reversed. Prove that A (x) = f(x).

y

S

M(h) m(h)

X
a X Xx+h

FIGURE 17 Graphical interpretation of A(x + h) — A(x).
SOLUTION Let f(x) be continuous on [a, b]. For h > 0, let m(h) and M(h) denote the minimum and maximum
values of f on [x,x + h]. Since f is continuous, we have hIin(’)l m(h) = hIirg M(h) = f(x). If h > 0, then since
-0+ -0+
m(h) < f(x) < M(h) on [x, x + h], we have
x+h x+h x+h x+h
hm(h) = m(h)dt < f(t)dt = A(x +h) — A(x) = f(t)dt < M(h)dt = hM(h).
X X X X

A(x +h) — A®X)

In other words, hm(h) < A(x +h) — A(x) < hM(h). Since h > 0, it follows that m(h) < h

Letting h — 0+ yields

< M(h).

A(x +h) — A®x)

f(x)shErB\+ < f(x),

h
whence
. A(x+h)—A(X)
| —_— = f
h_|>n01+ h )
by the Squeeze Theorem. If h < 0, then
X X X X
—hm(h) = m(h)dt < f(t)dt = A(x) — A(x +h) = f()dt < M(h)dt = —hM(h).
X+h X+h x+h X+h
Since h < 0, we have —h > 0 and thus
m(h) < A(X)__—Ah(x_'_h) < M(h)
or
A h)—A
m(h) < M < M(h).

h
Letting h — 0— gives

A(x +h) — A®x)

f(x)shﬁrg_ N < f(x),

so that
A(x +h) — A(x) _

lim ———= = f(x
h-0— h )
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by the Squeeze Theorem. Since the one-sided limits agree, we therefore have

A(X)zh"_r,now = f(x).

b
51. Proof of FTC | FTC | asserts that f(t)dt = F(b) — F(a) if F (x) = f(x). Assume FTC Il and give a new
a

X
proof of FTC I as follows. Set A(x) = f(t)dt.
a

(a) Show that F(x) = A(x) + C for some constant.
b
(b) Show that F(b) — F(a) = A(b) — A(a) = f(t)dt.
a

SOLUTION Let F (x) = f(x)and A(x) = . f(t)dt.
(a) Then by the FTC, Part Il, A (x) = f(x) and thus A(x) and F(x) are both antiderivatives of f(x). Hence F(x) =
A(x) + C for some constant C.

(b)

F(b) — F(a) = (A(b) + C) — (A(a) + C) = A(b) — A(a)

b a b b
f(ydt—  f@)dt=  ft)dt—0=  f(t)dt
a a a

a

which proves the FTC, Part I.

X
52. Can Every Antiderivative Be Expressed as an Integral? The area function f(t) dt is an antiderivative of

a
f (x) for every value of a. However, not all antiderivatives are obtained in this way. The general antiderivative of f(x) =
xis F(x) = %xz + C. Show that F(x) is an area function if C < 0 but not if C > 0.

SOLUTION  Let f(x) = x. The general antiderivative of f(x)is F(x) = $x?+C.LetA(x) = S f(t)dt= Stdt=

X
%tz = %xz - %az be an area function of f(x) = x. To express F(x) as an area function, we must find a value for
a
a sugh that Ix2 - %g/z = 1x2+C, whencea = + —2C.If C < 0, then —2C = 0 and we may choose either
a= —2Cora=— —2C.However, if C > 0, then there is no real solution for a and F(x) cannot be expressed as an
area function.

b
53. Find the values a < b such that (x2 —9)dx has minimal value.
a

SOLUTION Let a be given, and let Fa(x) = ai((t2 —9)dt. Then F,(x) = x2 — 9, and the critical points are X = %3.
Because F, (—3) = —6 and F, (3) = 6, we see that Fa(x) has a minimum at x = 3. Now, we find a minimizing

3 2 _ 3 2 _ 2 . . . . _ _ -
2 (x 3— 9)dx. Let G(x) = ' (x=—9)dx. Then G (x) = —(x* — 9), yielding critical points x = 3 or x = —3. With
X = =3,

3 1 3
G(-3)= (x*—-9dx= §x3—9x = —36.
-3
With x = 3,

3
G@B) = (x2—9)dx =0.
3

b
Hence a = —3 and b = 3 are the values minimizing ~ (x?> — 9) dx.
a

5.5 Net or Total Change as the Integral of a Rate

Preliminary Questions

1. Anairplane makes the 350-mile trip from Los Angeles to San Francisco in 1 hour. Assuming that the plane’s velocity
1

at time t is v(t) mph, what is the value of the integral v(t)dt?
0

SOLUTION The definite integral Olv(t)dt represents the total distance traveled by the airplane during the one hour
flight from Los Angeles to San Francisco. Therefore the value of 01 v(t) dt is 350 miles.
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2. A hot metal object is submerged in cold water. The rate at which the object cools (in degrees per minute) is a function
T

f (t) of time. Which quantity is represented by the integral f(t)dt?
0

SOLUTION The definite integral OT f (t) dt represents the total drop in temperature of the metal object in the first T
minutes after being submerged in the cold water.
3. Which of the following quantities would be naturally represented as derivatives and which as integrals?
(a) Velocity of a train
(b) Rainfall during a 6-month period
(c) Mileage per gallon of an automobile
(d) Increase in the population of Los Angeles from 1970 to 1990

SOLUTION Quantities (a) and (c) involve rates of change, so these would naturally be represented as derivatives.
Quantities (b) and (d) involve an accumulation, so these would naturally be represented as integrals.

4. Two airplanes take off at t = 0 from the same place and in the same direction. Their velocities are v (t) and v,(t),
respectively. What is the physical interpretation of the area between the graphs of v4 (t) and v,(t) over an interval [0, T]?

SOLUTION The area between the graphs of v (t) and v (t) over an interval [0, T] represents the difference in distance
traveled by the two airplanes in the first T hours after take off.

Exercises

1. Water flows into an empty reservoir at a rate of 3,000 + 5t gal/hour. What is the quantity of water in the reservoir
after 5 hours?

SOLUTION The quantity of water in the reservoir after five hours is

5 5, ° 30125
(3000 + 5t)dt = 3000t + Etz =——= 15,062.5 gallons.
0 0
2. Find the displacement of a particle moving in a straight line with velocity v(t) = 4t — 3 ft/s over the time interval
[2,5].

SOLUTION The total displacement is given by

5 5
(4t —3)dt = (2t2 —3t) = (50— 15) — (8 — 6) = 33 ft.
2 2

3. A population of insects increases at a rate of 200 + 10t + 0.25t2 insects per day. Find the insect population after 3
days, assuming that there are 35 insects att = 0.

SOLUTION The increase in the insect population over three days is

3 3 2589

1, 2, 1.3
200 + 10t + —t“dt = 200t + 5t° + —t =
4 12

—— = 647.25.
0 0 4

Accordingly, the population after 3 days is 35 + 647.25 = 682.25 or 682 insects.

4. A survey shows that a mayoral candidate is gaining votes at a rate of 2,000t + 1,000 votes per day, where t is
the number of days since she announced her candidacy. How many supporters will the candidate have after 60 days,
assuming that she had no supporters at t = 0?

SOLUTION The number of supporters the candidate has after 60 days is

60 60
(2000t + 1000) dt = (1000t2 + 1000t) = 3,660,000.
0

5. A factory produces bicycles at a rate of 95 + 0.1t2 — t bicycles per week (t in weeks). How many bicycles were
produced from day 8 to 21?

SOLUTION The rate of production is r(t) = 95 + l—lot2 — t bicycles per week and the period between days 8 and 21
corresponds to the second and third weeks of production. Accordingly, the number of bikes produced between days 8
and 21 is

3 3 1 1 1, 3 2803
r(t)dt = 95+ —t2—t dt= 95t+ —t3—2t2 =2""=186.87
1 ® 1 10 30 2, 15

or 187 bicycles.
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6. Find the displacement over the time interval [1, 6] of a helicopter whose (vertical) velocity at time t is v(t) =
0.02t? + t ft/s.

SOLUTION Givenv(t) = 5—10t2 + t ft/s, the change in height over [1, 6] is

6 6 1 1 1, 5 284
v(t)dt = “ 24+t dt= —t3+2t2 =27 =1803ft
1 1 50 150 2 1 15

7. A cat falls from a tree (with zero initial velocity) at time t = 0. How far does the cat fall between t = 0.5 and
t = 1s? Use Galileo’s formula v(t) = —32t ft/s.

SOLUTION Given v(t) = —32 ft/s, the total distance the cat falls during the interval [%, 1]is

1 1 1
vt) dt =  32tdt=16t2 =16—4=121t
1/2 1/2 1/2

8. A projectile is released with initial (vertical) velocity 100 m/s. Use the formula v(t) = 100 — 9.8t for velocity to
determine the distance traveled during the first 15 s.

SOLUTION The distance traveled is given by

15 100/9.8 15
|100 — 9.8t] dt = (100 — 9.8t) dt + (9.8t — 100) dt
0 100/9.8
100/9.8 15
= 100t — 4.9t2 + 4.9t% — 100t =622.9m.
0 100/9.8

In Exercises 9-12, assume that a particle moves in a straight line with given velocity. Find the total displacement and
total distance traveled over the time interval, and draw a motion diagram like Figure 3 (with distance and time labels).

9. 12— 4t ft/s, [0,5]

5 5
SOLUTION Total displacement is givenby (12 — 4t)dt = (12t — 2t2) = 10 ft, while total distance is given by
0 0

5 3 5 3 5
|12 —4t| dt = (12 —4t)dt+ (4t —12)dt = (12t —2t%) + (22 —12t) =261t
0 0 3 0 3

The displacement diagram is given here.

t=5
T Ht=3
t=0
+ Distance
0 10
10. 32 —2t2 ft/s, [0, 6]
6 2 6
SOLUTION Total displacement is given by (32 — 2t2) dt = 32t — §t3 = 48 ft, while total distance is given
0 0
by
6 4 6 24 4 2 6 368
32-2t2 dt= (R2-2t)dt+ (2-32)dt= 32t—=t3 + Zt3-32 ="t
0 0 4 3 9 3 s 3
The displacement diagram is given here.
t=6
) t=4
+ Distance
0 48

11. t72—1m/s, [0.5,2]
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2 2
SOLUTION Total displacement is given by (t_2 —1)dt = (—t_1 —t) = 0m, while total distance is given by
5 5
2 1 2 1 2
t72—1dt= (t2-1dt+ @A—-tDdt=(—t"1-t) +@t+t71) =1m.
5 5 1 5 1
The displacement diagram is given here.
t=2
Dt=1
t=0
b Distance
0
12. cost m/s, [0, 4n]
4m 4m
SOLUTION Total displacement is given by costdt =sint = 0 m, while total distance is given by
0 0
an /2 3n/2 5m/2 /2 an
|cost| dt = costdt + —costdt + costdt + —costdt + costdt
0 /2 3n/2 5m/2 /2
/2 3n/2 5m1/2 /2 4n
=sint —sint +sint —sint +sint =8m.
0 n/2 3n/2 5m1/2 /2

The displacement diagram is given here.

13. The rate (in liters per minute) at which water drains from a tank is recorded at half-minute intervals. Use the average
of the left- and right-endpoint approximations to estimate the total amount of water drained during the first 3 min.

t(mn 0 05 1 15 2 25 3
I/min 50 48 46 44 42 40 38

SOLUTION Let t=.5.Then
RN
Ln = .5(50 + 48 + 46 + 44 + 42 + 40) = 135.0 liters

.5(48 + 46 + 44 + 42 + 40 + 38) = 129.0 liters

The average of Ry and Ly is %(129 + 135) = 132 liters.

14. The velocity of a car is recorded at half-second intervals (in feet per second). Use the average of the left- and
right-endpoint approximations to estimate the total distance traveled during the first 4 s.

t 0051 15 |2 25| 3 35| 4
v(t) | 0|12 | 20 |29 | 38 |44 | 32|35 | 30

SOLUTION Let t=.5 Then

Ry =.5- (12 + 20 + 29 + 38 + 44 + 32 + 35 + 30) = 120 ft.
Ly =.5-(0+ 12+ 20 + 29 + 38 + 44 + 32 + 35) = 105 ft.

The average of Ry and Ly is 112.5 ft.
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t
15. Let a(t) be the acceleration of an object in linear motion at time t. Explain why a(t) dt is the net change in
t

velocity over [t1, tp]. Find the net change in velocity over [1, 6] if a(t) = 24t — 3t2 ft/s2.

SOLUTION Let a(t) be the acceleration of an object in linear motion at time t. Let v(t) be the velocity of the object.
We know that v (t) = a(t). By FTC,

t
§ a(t)dt = (v(t) + C) ‘= v(tz) +C — (v +C) = v(t2) —v(to),
ty tp

which is the net change in velocity over [t;, to]. Let a(t) = 24t — 3t2. The net change in velocity over [1, 6] is

6 6
(24t — 3t%)dt = (12t2 —t3) = 205 ft/s.
1 1

16. Show that if acceleration a is constant, then the change in velocity is proportional to the length of the time interval.

SOLUTION Let a(t) = a be the constant acceleration. Let v(t) be the velocity. Let [t1, to] be the time interval con-
cerned. We know that v (t) = a, and, by FTC,

t
v(tp) —v(t) = adt =a(t, —t1),
t

So the net change in velocity is proportional to the length of the time interval with constant of proportionality a.

17. The traffic flow rate past a certain point on a highway is q(t) = 3,000 + 2,000t — 300t2, where t is in hours and
t = 0 is 8 AM. How many cars pass by during the time interval from 8 to 10 AM?

SOLUTION The number of cars is given by

2 2 2
q(t)dt = (3000 + 2000t — 300t?) dt = 3000t + 1000t% — 100t3
0 0 0

= 3000(2) + 1000(4) — 100(8) = 9200 cars.

18. Suppose that the marginal cost of producing x video recorders is 0.001x2 — 0.6x + 350 dollars. What is the cost of
producing 300 units if the setup cost is $20,000 (see Example 4)? If production is set at 300 units, what is the cost of
producing 20 additional units?

SOLUTION  Producing 300 units costs $20,000 for setup plus

300 001 300
(.001x2 — .6x + 350) dx Tx3 — .3x2 + 350x
0 0

(9,000 — 27,000 + 105,000) — 0 = $87,000

to manufacture the video recorders. The total cost is therefore $107,000. The cost of producing 20 additional units is

320 001 320
(.001x2 — .6x +350)dx = ——x3 — .3x2 + 350x
300 3 300

= (10,922.67 — 30,720 + 112,000) — 87,000 = $5,202.67.

19. Carbon Tax To encourage manufacturers to reduce pollution, a carbon tax on each ton of CO5 released into the

atmosphere has been proposed. To model the effects of such a tax, policymakers study the marginal cost of abatement

B(x), defined as the cost of increasing CO2 reduction from x to x + 1 tons (in units of ten thousand tons—Figure 4).
3

Which quantity is represented by B(t)dt?
0

100
75
50
25

Dollars/ton

X

1 2 3
Tons reduced (in ten thousands)
FIGURE 4 Marginal cost of abatement B(x).
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3
SOLUTION The quantity B(t) dt represents the total cost of reducing the amount of CO» released into the atmo-
0

sphere by 3 tons.

20. Power is the rate of energy consumption per unit time. A megawatt of power is 10% W or 3.6 x 109 J/hour. Figure 5
shows the power supplied by the California power grid over a typical 1-day period. Which quantity is represented by the
area under the graph?

Megawatts
40,000

20,000

2 4 6 8 10 12 14 16 18 20 22 24
Time (hours)
FIGURE 5 Power consumption over 1-day period in California.

SOLUTION The area under the curve represents the total energy consumed over the 1 day period. A very rough estimate
is given by 2(24,000 + 26,000 + 28,000 + 30,000 + 32,000 + 34,000 + 37,000 + 37,000 + 36,000 + 34,000 +
32,000 + 28,000) = 756,000 megawatt - hours = 2.7216 x 1015 joules.

21. ﬁ Figure 6 shows the migration rate M(t) of Ireland during the period 1988-1998. This is the rate at which
people (in thousands per year) move in or out of the country.
1991
(a) What does M(t) dt represent?
1988

(b) Did migration over the 11-year period 1988-1998 result in a net influx or outflow of people from Ireland? Base your
answer on a rough estimate of the positive and negative areas involved.

(c) During which year could the Irish prime minister announce, “We are still losing population but we’ve hit an inflection
point—the trend is now improving.”

N w
o o

1994 /

10 1988 1990/ 1992>——"" 1996 1998 2000
-20
-30
-40
-50

FIGURE 6 Irish migration rate (in thousands per year).

[N
o o

Migration (in thousands)

SOLUTION

1991
(@) The amount M (t) dt represents the net migration in thousands of people during the period from 1988-1991.
1988

(b) Via linear interpolation and using the midpoint approximation with n = 10, the migration (in thousands of people)
over the period 1988 — 1998 is estimated to be

1-(—43—335—-12+05—-25—-6—-35+3+11.5+ 19) = —66.5

That is, there was a net outflow of 66,500 people from Ireland during this period.

(c) “The trend is now improving” implies that the population is decreasing, but that the rate of decrease is approaching
zero. The population is decreasing with an improving trend in part of the years 1989, 1990, 1991, 1993, and 1994.
“We’ve hit an inflection point” implies that the rate of population has changed from decreasing to increasing. There are
two years in which the trend improves after it was getting worse: 1989 and 1993. During only one of these, 1989, was
the population declining for the entire previous year.

22. Figure 7 shows the graph of Q(t), the rate of retail truck sales in the United States (in thousands sold per year).
(a) What does the area under the graph over the interval [1995, 1997] represent?
(b) Express the total number of trucks sold in the period 1994-1997 as an integral (but do not compute it).

(c) Use the following data to compute the average of the right- and left-endpoint approximations as an estimate for the
total number of trucks sold during the 2-year period 1995-1996.
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8,000
’U? "~
B8 e et
S 6,000
3
(=}
£ 4,000
£
£ 2,000
©
(%]

0
1993 1994 1995 1996 1997 1998 1999

Year (qtr.) I Q) ($) H Year (qtr.) l Q(t) (%) ‘
1995(1) 6,484 1996(1) 7,216
1995(2) 6,255 1996(2) 6,850
1995(3) 6,424 1996(3) 7,322
1995(4) 6,818 1996(4) 7,537

FIGURE 7 Quarterly retail sales rate of trucks in the United States (in thousands per year).

SOLUTION The graph of Q(t) depicted in the exercise gives the quarterly rate of retail truck sales in thousands sold
per quarter.
(a) The area under the graph over the interval [1995, 1997] represents number (in thousands) of trucks sold during the

1995-1997 period.
1997
(b) The number of trucks sold in the period 1994-1997 is given by the integral Q(t) dt.
1994

(c) We note that Q(t) is piecewise linear. Recall that the unit of time is one quarter year; hence t = 1. Usingn =7,
the number of trucks sold during the period 1995-1997 is estimated to be the average of the right- and left-endpoint
approximations.

RN =1 (6255 + 6424 + 6818 + 7216 + 6850 + 7322 + 7537) = 48422 trucks
Ly = 1- (6484 + 6255 + 6424 + 6818 + 7216 + 6850 + 7322) = 47369 trucks

The average of Ry and L is 47895.5 trucks.

23. Heat Capacity The heat capacity C(T) of a substance is the amount of energy (in joules) required to raise the
temperature of 1 g by 1°C at temperature T.

(a) Explain why the energy required to raise the temperature from Tq to T, is the area under the graph of C(T) over
[T1, T2]. v

(b) How much energy is required to raise the temperature from 50 to 100°Cif C(T) =6+0.2 T?

SOLUTION

(a) Since C(T) is the energy required to raise the temperature of one gram of a substance by one degree when its
temperature is T, the total energy required to raise the temperature from T, to To is given by the definite integral

T2
C(T)dT. As C(T) > 0, the definite integral also represents the area under the graph of C(T).
T1
v_
b)) fC(T) =6+.2 T =6+ %TUZ, then the energy required to raise the temperature from 50°C to 100°C is

e0C(T)dT or

W lnie 1o et 2 - 6(100) + = (100)%2 — 6(50) + = (50)
50 5 B 15 50 15 15
1300 100\/5
=—F = 386.19 Joules

In Exercises 24 and 25, consider the following. Paleobiologists have studied the extinction of marine animal families
during the phanerozoic period, which began 544 million years ago. A recent study suggests that the extinction rate r (t)
may be modeled by the function r (t) = 3,130/(t + 262) for 0 <t < 544. Here, t is time elapsed (in millions of years)
since the beginning of the phanerozoic period. Thus, t = 544 refers to the present time, t = 540 is 4 million years ago,
etc.

24. Use Ry or Ly with N = 10 (or their average) to estimate the total number of families that became extinct in the
periods 100 <t < 150 and 350 < t < 400.

SOLUTION
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- (100 <t < 150) For N = 10,
150 — 100
t=—— =5

10
The table of values {r (tj)}i=1...10 is given below:
tj 100 105 110 115 120 125
r(tj) | 8.64641 | 8.52861 | 8.41398 | 8.30239 | 8.19372 | 8.08786
tj 130 135 140 145 150
r(t) | 7.98469 | 7.88413 | 7.78607 | 7.69042 | 7.59709

The endpoint approximations are:

Rn = 5(8.52861 + 8.41398 + 8.30239 + 8.19372 + 8.08786 + 7.98469
+ 7.88413 + 7.78607 + 7.69042 + 7.59709) = 402.345 families
Ln = 5(8.64641 + 8.52861 + 8.41398 + 8.30239 + 8.19372 + 8.08786
+ 7.98469 + 7.88413 + 7.78607 + 7.69042) = 407.591 families

The right endpoint approximation estimates 402.345 families became extinct in the period 100 < t < 150, the
left endpoint approximation estimates 407.591 families became extinct during this time. The average of the two is
404.968 families.

(350 =<t < 400) For N = 10,

400 — 350
t=—— 2 =5

10
The table of values {r (tj)}i=o...10 IS given below:
tj 350 355 360 365 370 375
r(t) | 511438 | 5.07293 | 5.03215 | 4.99203 | 4.95253 | 4.91366
tj 380 385 390 395 400
r(t) | 4.87539 | 4.83771 | 4.80061 | 4.76408 | 4.72810

The endpoint approximations are:
RN = 5(5.07293 + 5.03215 + 4.99203 + 4.95253 + 4.91366 + 4.87539
+4.83771 + 4.80061 + 4.76408 + 4.72810) = 244.846 families
Ln = 5(5.11438 + 5.07293 + 5.03215 + 4.99203 + 4.95253 + 4.91366
+ 4.87539 + 4.83771 + 4.80061 + 4.76408) = 246.777 families

The right endpoint approximation estimates 244.846 families became extinct in the period 350 < t < 400, the
left endpoint approximation estimates 246.777 families became extinct during this time. The average of the two is
245.812 families.

25. A5 Estimate the total number of extinct families from t = 0 to the present, using My with N = 544,

SOLUTION We are estimating

544 3130
=t
o (t+262)
544 — 0
using My with N =544, If N =544, t = =land{t; }i=, Ny =1 t—( t/2)=i—3.
N 544
3130
My= t rt)=1. —— =3517.3021.
N - ) 2615+

Thus, we estimate that 3517 families have become extinct over the past 544 million years.
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26. = Cardiac output is the rate R of volume of blood pumped by the heart per unit time (in liters per minute).
Doctors measure R by injecting A mg of dye into a vein leading into the heart at t = 0 and recording the concentration
c(t) of dye (in milligrams per liter) pumped out at short regular time intervals (Figure 8).

Measure
concentration

InjE:tr sye he{ c(t) (mg/l)
- =
Blooa fm ) 7
t(s)
FIGURE 8

(a) The quantity of dye pumped out in a small time interval [t,t + t] is approximately Rc(t) t. Explain why.
T
(b) Show that A=R c(t) dt, where T is large enough that all of the dye is pumped through the heart but not so

0
large that the dye returns by recirculation.
(c) Use the following data to estimate R, assuming that A =5 mg:

t6) 0O 1 2 3 4 5
ct) 0 04 28 65 98 89

ts) 6 7 8 9 10
ct) 61 4 23 11 0

SOLUTION

(a) Overashorttime interval, c(t) is nearly constant. Rc(t) is the rate of volume of dye (amount of fluid > concentration
of dye in fluid) flowing out of the heart (in mg per minute). Over the short time interval [t,t + t], the rate of flow of dye
is approximately constant at Rc(t) mg/minute. Therefore, the flow of dye over the interval is approximately Rc(t) t
mg.
(b) The rate of flow of dye is Rc(t). Therefore the net flow between timet = 0andtimet =T is
T T
Re(t)dt =R c(t) dt.
0
If T is great enough that all of the dye is pumped through the heart, the net flow is equal to all of the dye, so
T
A=R c(t) dt.
0

T
(c) Inthetable, t= % minute, and N = 10. The right and left hand approximations of c(t) dt are:
0

1 mg - minute
R10=@(.4+2.8+6.5+9.8+8.9+6.1+4+2.3+1.l+0)=0.6983%
1 - minut
LlO:@(o+.4+2.8+6.5+9.8+8.9+6.1+4+2.3+1.1):0.6983W

Both Ly and Ry are the same, so the average of Ly and Ry is 0.6983. Hence,

;
A=R  c(t)dt
0

mg - minute

5mg=R 0.6983 -
liter

5 liters liters
=17.16

0.6983 minute " minute’
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Further Insights and Challenges

27. A particle located at the origin at t = 0 moves along the x-axis with velocity v(t) = (t + 1)~2. Show that the
particle will never pass the point x = 1.

SOLUTION The particle’s velocity is v(t) = s (t) = (t + 1)72, an antiderivative for which is F(t) = —(t + 1)71.
Hence its position at time t is
t t 1
s(t) = s(uWdu=Fu) =Ft)—-FQ)=1-—<1
0 0 t+1

for all t = 0. Thus the particle will never pass the point x = 1.

28. A particle located at the origin at t = 0 moves along the x-axis with velocity v(t) = (t + 1)_1/2. Will the particle
be at the point x = 1 at any time t? If so, find t.

SOLUTION The particle’s velocity is v(t) = s (t) = (t + 1)_1/2, an antiderivative for which is G(t) = 2(t + 1)1/2.
Hence its position at time t is

t t v
s(t) = sWdu=Gu) =G6Ht)—G0O)=2 t+1-—2.
0 0

v__
Solvel=s(t)=2 t+1—2toobtaint = %. Therefore, the particle will be at x = L attimet = %.

5.6 Substitution Method

Preliminary Questions
1. Which of the following integrals is a candidate for the Substitution Method?

(@  5x*sin(x®)dx (b)  sin®x cosx dx
(c) x2 sinx dx

SOLUTION The function in (c): x®sinx is not of the form g(u(x))u (x). The function in (a) meets the prescribed

pattern with g(u) = sinu and u(x) = x°. Similarly, the function in (b) meets the prescribed pattern with g(u) = u® and
u(x) =sinx.

2. Write each of the following functions in the form cg(u(x))u (x), where c is a constant.
(@) x(x2 +9)% (b) x2sin(x3) (c) sinx cos? x
SOLUTION
@ x(x? +9)* = F(2x)(x? + 9)%; hence, ¢ = 1, g(u) = u* and u(x) = x> +9.
(b) x2sin(x%) = 1(3x?) sin(x®); hence, ¢ = 1, g(u) = sinu, and u(x) = x°.
(c) sinx cos? x = —(—sinx) cos? x; hence, ¢ = —1, g(u) = u?, and u(x) = cosx.

2
3. Which of the following is equal to x2(x3 + 1) dx for a suitable substitution?
0

1 2 9 1 9
(@ = udu (b) udu (c) = udu

30 0 31
SOLUTION  With the substitution u = x3 + 1, the definite integral 02x2(x3 + 1) dx becomes % lgu du. The correct
answer is (c).

Exercises
In Exercises 1-6, calculate du for the given function.

1. u=1-x?

SOLUTION Letu =1—x2. Thendu = —2x dx.
2. u=sinx

SOLUTION Letu =sinx. Then du = cosx dx.

u=x3-2
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SOLUTION Letu = x3 —2. Then du = 3x2 dx.
4. u=2x*+8x

SOLUTION Letu = 2x* +8x. Then du = (8x3 + 8) dx.
5. u = cos(x2)

SOLUTION Letu = cos(x?). Then du = —sin(x2) - 2x dx = —2x sin(x2) dx.
6. u =tanx

SOLUTION Letu = tanx. Then du = sec? x dx.

In Exercises 7-28, write the integral in terms of u and du. Then evaluate.
—_73 —y —
7. (x—=7)°dx, u=x-—7

SOLUTION Letu =x — 7. Thendu = dx. Hence

1 1
(x—7)3dx= u3du=zu4+C=Z(x—7)4+C
8. 2x x2+1dx, u=x2+1
SOLUTION Letu = x2 + 1. Then du = 2x dx. Hence
o idy — 24 2 3/ _ 2.9 \3/2
2X x¢+1dx= u du—gu +C—§(x +1)%“+C.
9. (x+1)_2dx, u=x+1
SOLUTION Letu = x + 1. Then du = dx. Hence
_ _ _ _ 1
(x+1) 2dx = u2du=-u l+C=—(x+1)l+C:— +C
X +1

10. x(x+l)9dx, u=x+1
SOLUTION Letu =x+1.Thenx =u—1anddu = dx. Hence
X(x + l)gdx = (u-— 1)u9du = (u10 - ug)du

14 1
= —U _——
11 10

1 1
Vyc=—x+) - —x+1)0+cC
u 11(x ) 10(x ) .
11.  sin(2x —4)dx, u=2x—4
SOLUTION Letu =2x —4.Thendu =2dx or %du = dx. Hence

. . 1 1
sin(2x —4)dx = 3|nudu:—§cosu+C=—§cos(2x—4)+C.

N -

«3

— = dx, u=x%+1

(x4 + 1)4

SOLUTION Letu = x4+ 1. Thendu = 4x3dx or %du = x3dx. Hence
«3

(X4+1)4

1 1 1 1
dx=2 Sdu=—-—ul+c=—-S(*+1)3+cC.
1 2T p**D

X+1
—— ~ _dx, u=x2+2x
(x2 +2x)3
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SOLUTION Letu = x2 + 2x. Thendu = (2x +2)dx or %du = (x + 1) dx. Hence

X+1 1 1 1 1 —2 1 2 -2 -1
——— —dx=2Z Sdu=Z —Zu¢ +C=-S(x*+2)“+C=-——"_+C.
(x2 + 2x)3 2wl 2 2 4( ) 4(x2 + 2x)?

de, u=8x+5
(8x +5)3

SOLUTION Letu = 8x +5. Then x = #(u —5) and du = 8dx or ¢du = dx. Hence

X 1 u-5

1
u=— (u —5)u_3du

_ % _dx==
@x+53 64 3 64
1 -2 -3 1 1, 5
== —5u S du=——u"l+ >y 2+C
e U udu =g gt

=—— + + — + + C.
&l (8x +5) 128 (8x +5) C

v
15. 4x —1dx, u=4x-—1
SOLUTION Letu =4x —1.Thendu =4dx or %du = dx. Hence

u—1dx=- uMdu=> Zu¥? +c=Z@x-1¥2+cC.

I
Bl
Wl N
ol -

v
16. X 4x—1dx, u=4x—1

SOLUTION Letu =4x —1.Thenx = }(u+ 1) and du = 4dx or 7 du = dx. Hence,

v 1 1
X ax—1ldx=— (@U+DuM?du== W2+ u?qu
16 ( ) 16 ( )
1 25p 1 2 3p
= — - + — — _|_C
6 5 6 3"

1 5/2 1 3/2
= —(4x — + —(4x — +C.
o@ =D g4 —1) C

v
17.  x2 4x—1dx, u=4x—1

SOLUTION Letu =4x —1. Thenx = %(u +1)anddu =4dx or %du = dx. Hence
N — 1 2 1
x2 A —1ldx == Z(u+1) ullzduze—4 2 +2u%2 + yM?) du

=— -u + u

1
4
1 22 1 2502 1 280 ,(
64 7 64 5 64 3
1

1 1
ax =172+ L =124+ L — 12 4
g T DT (I m DT A e — )

18.  xcos(x2)dx, u=x2

SOLUTION Letu = x2. Then du = 2x dx or %du = x dx. Hence,

1 1 . 1. 5
Z =Z +C==Z +C.
5 cosu du 5 sinu C 5 sin(x?) + C

xcos(xz)dx =
19. sin? x cos x dx, u=sinx

SOLUTION Letu =sinx. Thendu = cosx dx. Hence

. 1
sinfxcosxdx = udu= 3u

607
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20. seczxtanxdx, u=tanx

SOLUTION Letu =tanx. Then du = sec? x dx. Hence

1 1
sec?xtanxdx = udu= §u2+C :Etan2x+C.

21. tan2x dx, U = cos2x

SOLUTION Letu = cos2x. Thendu = —2sin2x dx or —% du = sin2x dx. Hence,

tan2x dx = dx = —=
COS 2X 2

sin 2x 1 du 1 1
— =—=InJul+C =—=In|cos2x| + C.
==z nlul 5 Infcos 2x|
22. cotxdx, u=sinx

SOLUTION Letu =sinx. Thendu = cosx dx, and

COS X du .
cotxdx = ——dx= — =Inful|+C =In|sinx|+C.
sinx u

23 xe ¥ dx, u=—x2

SOLUTION Letu = —x2. Thendu = —2x dx or —3 du = x dx. Hence,

2 1 1 1 2
e X dx=—2 eldu=-Ze'+C=—-ZeX +C.
X =73 i=73 2

24.  (sec?0)e®Pqdp, u=tand

SOLUTION Letu =tan@. Thendu = sec2 8d9, and

(sec?0)e®Pdp= e'du=e'+C=e0+C.

t

e dt

25. _— u=et
e2t +2et +1

SOLUTION Letu = el. Then du = el dt, and

etdt du _ du __ 1 o__ 1 ..
et +2et+1 w2+2u+1  (u+1)2 u+1 oet+1 T
Inx)2d
26. # u=lInx

SOLUTION Letu=Inx.Thendu = %dx, and

(Inx)?
X

1 1
dx= u?du= §u3+C = §(Inx)3+c.

dx
x(Inx)2’

SOLUTION Letu = Inx. Thendu = % dx, and

u=Inx

d _ 1
X = U 2du=—--+C=——+C
x(In x)2 u Inx

(tan~1 x)2 dx

5 . u=tan"1x
X¢+1

28.
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SOLUTION Letu =tan"1x. Thendu = 1+—1><2 dx, and

(tan~1x)2

> x= uldu=-ud+C = (tan 1x)%+cC.
xs+1

1
3

Wl

In Exercises 29-32, show that each of the following integrals is equal to a multiple of sin(u(x)) + C for an appropriate
choice of u(x).

29.  x3cos(x*)dx

SOLUTION Letu = x* Then du = 4x3 dx or } du = x3dx. Hence
3 4 _ 1 _ 1 .
x2cos(x™)dx = 3 cosudu = Zsmu +C,

which is a multiple of sin(u(x)).
30.  x2 cos(x3 +1)dx

SOLUTION Letu = x3+ 1. Thendu = 3x2dx or % du = x2dx. Hence

1 .
cosudu = §S|nu+C,

w| -

x2 cos(x® + 1) dx =
which is a multiple of sin(u(x)).
31, x? cos(x3/2)dx
soLuTION  Letu = x¥2 Thendu = 3x2dx or 5 du = x1/2 dx. Hence
x1/2 cos(x3/2)dx = g cosudu = %sinu +C,

which is a multiple of sin(u(x)).
32.  cosx cos(sinx)dx

SOLUTION Letu =sinx. Thendu = cos x dx. Hence
cosx cos(sinx)dx = cosudu =sinu+C,

which is a multiple of sin(u(x)).
In Exercises 33-70, evaluate the indefinite integral.
33, (4x +3)*dx

SOLUTION Letu =4x + 3. Thendu = 4dx or % du = dx. Hence

1
(4x +3)*dx = utdu = u® +C:ﬁ(4x+3)5+c.

[0

Al
Bl

34, x2(x3 +1)3dx
SOLUTION Letu = x3+ 1. Thendu = 3x2dx or %du = x2 dx. Hence
uddu =

1 1
x2(x3+1)3dx= Zu4 +C= E(X3+1)4+C'

Wl -
Wl

35. a/l—dx
X—7

SOLUTION Letu =x —7.Thendu = dx. Hence

v
x—-7"Y2dx= uY2du=2?2+c=2 x—-7+C.
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36.  sin(x —7)dx
SOLUTION Letu =x —7.Thendu = dx. Hence

sin(x —7)dx = sinudu =—cosu +C = —cos(x —7) + C.

37.  x x2—4dx

SOLUTION Letu = x2—4. Thendu = 2x dx or %du = x dx. Hence

— 1 vV 1 1
X x2—4dx =2 udu=Z 2 yc=z(x2-a¥2+cC.
2 2 3
38 (2x + 1)(x% +x)3dx
SOLUTION Letu = x2 + x. Then du = (2x + 1) dx. Hence

1 1
@x + )2 +x)%dx = uddu= Zu4 +C= Z(x2 +x)* +C.

dx
(x +9)?
SOLUTION Letu = x + 9, then du = dx. Hence
dx  _ d_u:_l_'_cz_ 1 +“C
(x +9)2 u2 u X+9

4. —X _dx

x2+9
SOLUTION Letu =x2+9. Thendu = 2x dx or %du = x dx. Hence

X 1 1\/U ——
TdX:E *ILdU_ET = X2+9+C
X¢+9 5
2x2 +

(4x3 +3x2)2
SOLUTION  Letu = 4x3 + 3x2. Then du = (12x + 6x) dx or ¢du = (2x2 + x) dx. Hence

_ 1 1 _ 1
(4x3 + 3x?) 2(2x2+x)o|x=6 u zduz—gu 1+C:—g(4x3+3x2) lyc.

42, (3x2 +1)(x3 + x)2 dx

SOLUTION Letu = x3 + x. Then du = (3x2 + 1) dx. Hence

1 1
@Bx2+1)(x3+x)2dx = u?du= §u3 +C= §(x +x)%+C
44
43, 5x 2X
(X5+X2)3
SOLUTION Letu =x° 2 Then du = (5x* + 2x) dx. Hence
5x4 + 2x 1 11 11
= """ dx= —du=—-:S-+C=-——"__+C.
(x5 + x2)3 ud 2u2 2 (x5 +x2)2

44, x2(x3 +1)*dx
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SOLUTION Letu = x3+ 1. Thendu = 3x2dx or %du = x2 dx. Hence
utdu =

1 1
x2(x3+1)4dx= gus +C = E(X3+1)5+C'

w| -
w| -

45.  (3x +9)1%dx

SOLUTION Letu =3x+ 9. Thendu = 3dx or % du = dx. Hence

11 1
uldu=> —ult +C=§(3x+9)11+c.

1
10 4y —
(Bx +9)"dx = 3 3 10

46.  x(3x +9)1%dx

SOLUTION Letu =3x +9. Then 2(u —9) = x and du = 3dx or 1 du = dx. Hence

1
x(3x +9)0dx = g - 9)ul®du
1 11_g,10 1 1o 1 11
=— @U—-9%w)du=- —u“ —- —u +C
9 ( ) 9 12 9 11

1 1
= g+ 9Lz - TG 9t +c.

47, x(x + 1)Y4dx
SOLUTION Letu=x+1.Thenu—1=x and du = dx. Hence
x(x + DY4dx = (u-1ut4du

4 4

= (U4 —uydu= Sy - 28
4 4

=5+ 1)%4 — S+ 14 +c.

48.  x%(x +1)7dx
SOLUTION Letu=x+1 Thenu—1=xand du = dx. Hence
X2(x +1)7dx = (u-1)>2%u"du
1 2 1
= W-28+u")du=—u?-Zu?+Zu+cC

10 9

1 10_2 9,1 8
= —x+D)0—Zx+1)%+Z(x +1)8 +C.
LAY X T+ (x+ 1)

49, x3(x2 - 1)3/2dx

SOLUTION Letu=x2—1.Thenu+1=x2anddu = 2xdx or 2 du = x dx. Hence

2
x?’(x2 - 1)3/2dx = x2 -x(x2 - 1)3/2dx
_1 324, -1 572 32
=5 (u+1)u du—E >4 +u*)du
1 290 .1 25p Lo el 2 .52
=5 3 +- = +C=-(x"—-1 + —(x“—1)”+C.
2 7u 2 5u c 7( ) 5( ) ¢

50.  x? sin(x3) dx

611
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SOLUTION Letu = x3, then du = 3x2 dx or %du = x2 dx. Hence

1 1
x2sin(x®) dx = sinudu = — cosu +C :—gcos(x3)+C.

Wl -

51.  sin®x cosx dx

SOLUTION Letu =sinx. Thendu = cos x dx. Hence

1 1 .
xcosxdx = u’du= gu6+C: 5 sin

5 6

sin X+ C.

52. X2 sin(x3 +1)dx
SOLUTION Letu = x3+ 1. Thendu = 3x2dx or %du = x2 dx. Hence

. . 1 1
x2sin(x3 + 1) dx = sinudu = —>cosu+C=— cos(x3 + 1) + C.

1
3
53. tan3xdx

SOLUTION Letu = cos3x. Then du = —3sin3x dx or —% du = sin3x dx. Hence,

sin 3x 1 du 1 1
tan3xdx = ——dx=—2- — =—=InJu/+C =—=In|cos3x|+C.

cos 3x 3 u 3 lul 3 | !

54 tan(Inx) dx

SOLUTION Letu = cos(Inx). Then du = —% sin(Inx) dx or —du = %sin(ln x) dx. Hence,

| in(l
annx) gy = S0 4 W a4 C = —Injfcos(inx)] + C.

x cos(Inx) u

55.  sec2(4x + 9) dx

SOLUTION Letu=4x+9. Thendu =4dx or %du = dx. Hence

1 1
sec?(4x + 9)dx = seczudu=Ztanu+C=Ztan(4x+9)+C.

NN

56.  sec? x tan? x dx

SOLUTION Letu = tanx. Then du = sec? x dx. Hence

1
u5+C:§tan5x+C.

gl

sec?xtan*xdx = udu =

C0S 2X

57. —_—
(1 + sin2x)2

SOLUTION Letu =1+ sin2x. Thendu = 2cos2x or %du = cos 2x dx. Hence

_ 1 _ 1 _ 1 . —
(1 +sin2x) 20052xdx=§ u 2duz—Eu 1+C=—§(l+sm2x) lic.

) v
58. sin4x cos4x +1dx

SOLUTION Letu =cos4x + 1. Then du = —4sin4x or —xdu = sin4x. Hence

1

1
NP 1 1 2 1
sin4x cos4x+1dx=—Z u 7 §u3/2 +C:—g(cos4x+l)3/2+C.
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59.  cosx(3sinx — 1) dx
SOLUTION Letu =3sinx — 1. Thendu = 3cosx dx or %du = cos x dx. Hence

1
(Bsinx —1)cosx dx = 3 udu =

w| =
N -

1
w2 +C= 6(35inx—1)2 +C.
60. —wJY—dx

soLuTION  Letu = x2 Thendu = $x~1/2dx or 2du = x =2 dx. Hence
V_
cos, X . Vo
—w%dx =2 cosudu=2sinu+C =2sin x+C.

61.  sec? x(4tam3 X — 3tan® Xx) dx
SOLUTION Letu = tanx. Then du = sec? x dx. Hence

sec? x(4tan3x — 3tan? x)dx = (4u3 - 3u2)du =u*—uwd+C=tan*x —tan®x +C.

62. el Tdx

SOLUTION Letu =14x — 7. Thendu = 14dx or ﬁ du = dx. Hence,

1 1 1
14x—7 — u — u — 14x—7
X = — = _—e"'+C = — + C.
e d 7 e" du 14e 148

63.  (x + 1)+ dx

SOLUTION Letu = x2 + 2x. Thendu = (2x +2)dx or %du = (x + 1) dx. Hence,

1 1 1
(x + 1)9XZ+2X dx = > eldu = Ee“ +C = EeX2+2X +C.

dx
(x + 1)

SOLUTION Letu = x + 1. Thendu = dx, and

dx —4 1 1
= utdu=——=+C=- +C.
(x +1)4 3us 3(x +1)3
Xd
65 o 9%
(eX _|_1)4
SOLUTION Letu =eX+ 1. Thendu = e* dx, and
X _ 1 1
_ % _dx= uftdu=-———+C=—-——__+C.
(eX +1)4 3u3 3(eX + 1)3
V_
6. sec?( ZYx)dx

Vv_
SOLUTION Letu= X.Thendu = 2—‘3% dx or2du = w%dx. Hence,

V_
2(°%)d v_
W:Z sec?udx = 2tanu + C = 2tan( X) +C.

(Inx)*dx
X

67.

613
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SOLUTION Letu = Inx. Thendu = % dx, and

Inx)* 1 1
%dx= u4du=§u5+C = g(Inx)5+C.

6. I

X Inx

SOLUTION Letu=Inx.Thendu = %dx, and

V_ v__
4\9X:: uM2qu=2"u+C=2 Inx+C.

dx
x Inx

SOLUTION Letu =Inx. Thendu = %dx, and

dx du
= — =InJul|+C =In|Inx|+C.
x Inx u

70.  (cotx) In(sinx) dx
SOLUTION Letu = In(sinx). Then
1
du = —— cosx = cotx,
sin x
and

1 1
(cotx)Insinx)dx = udu = Su? +C = Z (In(sinx))? +C.

71. Evaluate  x® x3 + 1dx usingu = x3 + 1. Hint: x> dx = x3 - x2dx and x3 = u — 1.
soLuTioN Letu = x3+1. Thenx3 = u —1and du = 3x?dx or du = x? dx. Hence

x2 x3+1dx = ul2(u —1)du = 32 —ul2)du

w| -

2 50 2 3p 2 3., \6/2 _ 2,3, .\3/2
—u - —u +C=—xx"+1 ——x°+1 + C.
5 3 15( ) 9( )

Wl Wl

72. Evaluate (x3 + 1)1/4 x2 dx.

SOLUTION Letu=x3+1.Thenx3 =u—1anddu = 3x2dx or %du = x2dx. Hence

1

WS+ dx =2 uMu-Ddu== W -uMdu

w|

3
1 4 94_4 s/ 4 3 4 _ 43, 1\5/4
=- —u’"——u +C=-(x>+1)"" — —(x*+ 1) +C.
3 9 5 27( ) 15( )
73. Can They Both Be Right? Hannah uses the substitution u = tanx and Akiva uses u = secx to evaluate

tan x sec? x dx. Show that they obtain different answers and explain the apparent contradiction.
SOLUTION  With the substitution u = tan x, Hannah finds du = sec? x dx and

2 _ _12 _1 .2
tanxseccxdx = udu= 5u +C1 = Etan X + Cq.

On the other hand, with the substitution u = sec x, Akiva finds du = sec x tanx dx and

1
tanx sec? x dx = secx(tanx secx) dx = Eseczx +Cy
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Hannah and Akiva have each found a correct antiderivative. To resolve what appears to be a contradiction, recall that any
two antiderivatives of a specified function differ by a constant. To show that this is true in their case, note that

2

1 1 1
5%ee’Xx+Cy = Etan2x+C1 =§(sec2x—tan2x)+C2—Cl

1
D+Cr,—Cy = 2 + Cy — Cq, aconstant

N -

Here we used the trigonometric identity tan? x + 1 = sec? x.

74. Evaluate  sinx cosx dx using substitution in two different ways: first using u = sinx and then u = cos x.
Reconcile the two different answers.

SOLUTION First, let u = sinx. Then du = cosx dx and

. 1 1
sinx cosx dx = udu=§u2+C1:§sm2x+C1.
Next, let u = cosx. Then du = —sinx dx or —du = sin x dx. Hence,
. 1, 1,
sinxcosxdx = — uduz—zu +C2:—§cos X + Cop.

To reconcile these two seemingly different answers, recall that any two antiderivatives of a specified function differ by a
constant. To show that this is true here, note that (3 sin® x + C1) — (=3 cos? x + C;) = 3 + Cq — Cp, a constant. Here

we used the trigonometric identity sin? x + cos? x = 1.
75. Some Choices Are Better Than Others Evaluate

sinx cos? x dx
twice. First use u = sinx to show that
. 2 _ — 0
sinx cos“xdx = u l1—u<du

and evaluate the integral on the right by a further substitution. Then show that u = cos x is a better choice.

SOLUTION Consider the integral  sinx cos2 x dx. If we let u = sin X, then cosx = 1—u? and du = cosx dx.
Hence

sinxcos?xdx = u 1—u2du.

Now letw = 1 —uZ. Then dw = —2u du or —3dw = u du. Therefore,

— 1 1 2
U 1—w2du=-= wH2dw=-2 Zw¥? 4+
2 2 3
1 1
=—w¥2+c=-1-ud)¥?+cC
3 3
1 L2 372 1 3
=——(1—sin“x)*“+C =—=cos’x +C.
3 3
A better substitution choice isu = cos x. Then du = —sinx dx or —du = sinx dx. Hence
. 1 1
sinxcos? x dx = — uzdu:—§u3+C:—§cos3x+C.

n
76. What are the new limits of integration if we apply the substitution u = 3x + 1 to the integral sin(3x + m) dx?
0

SOLUTION The new limits of integration are u(0) =3 -0+ m = mand u(m) = 3m + m = 41.

8
77. Which of the following is the result of applying the substitution u = 4x — 9 to the integral ~ (4x — 9)20 dx?
2

8 1 8
@  uPdu ® = u¥du
2 4 2
23 23
(© 4 u®du (d) % u?0du
- -1
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SOLUTION Letu = 4x —9. Thendu = 4dx or %du = dx. Furthermore, when x = 2, u = —1, and when x = 8,
u = 23. Hence
8 1 23
(4x—9)2°dx =- u20du.
2 4

The answer is therefore (d).

In Exercises 78-91, use the Change of Variables Formula to evaluate the definite integral.

3
78, (x +2)3dx
1

SOLUTION Letu = x + 2. Then du = dx. Hence

3 5 1,5 54 34
x +2)3dx = wWdu=-u* == -2 =136.
1( ) 3 4 4 4 4
6.
79. X + 3dx
1
SOLUTION Letu = x + 3. Then du = dx. Hence
6v___ 9v_ 2 9 2 38
X +3dx = udu= Zu¥2 =Zp7-8)="2.
1 4 3 4 3( ) 3
1 X
80. ———dx
0 (X2+l)3
SOLUTION Letu =x2+ 1. Thendu = 2x dx or %du = x dx. Hence
' X dx—1 zldu—1 —Zy? ? L Lo =0.1875
o x2+1)8 " 2 4 ud 2 . 16 4 16 T
2~N_
81. 5X + 6dx

-1
SOLUTION Letu =5x+6.Thendu =5dx or %du = dx. Hence

16

I 1 18y 1 2 2 42
5x +6dx = = udu= = Zu¥? =—(64—-1)= —.
1 5 1 5 3 15 5
1
4
82. X x2+9dx
0
SOLUTION Letu =x2+9. Thendu = 2x dx or %du = x dx. Hence
4 25/ 25
x2+9dx:1 udu:1 gu3/2 :1(125—27)2%.
0 2 9 2 3 9 3 3
2 X +3
83. ————————dx
0 (x2+6x+1)3
SOLUTION Letu = x2 + 6x + 1. Then du = (2x + 6) dx or % du = (x + 3)dx. Hence
2 +3 1w 1 1 72
X7 k== u8du=Z —Zu? =—- — -1 =_—.
0 (x2+6x+1)3 2 1 2 1 4 172 289
2
84.  (x + 1)(x2 +2x)3 dx
1
SOLUTION Letu = x2 + 2x. Thendu = (2x + 2)dx and so %du = (x + 1)dx. Hence
2 1 8 11, 8 1 4015
+1)(x2+2x)%dx = = Sdu= 2 Zu* =Z@*-3hH=_—"".
1(x )(x x)x23uu24u38( ) 8
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17
85. (x —9)"23dx
10

SOLUTION Letu = x —9. Thendu = dx. Hence
17 8 8
x=9"dx= uHax=3? =302-1=3

10 1 1

/4
86. tan6d6
0

SOLUTION Letu =cosO. Thendu =—sin6dé, and
V_ _
/4 /4 sin @ 2/2 du 2/2 \/E 1
tan6do = —df=— — =—In|u| =—In—+Inl==In2
o cosf 1 u 1 2 2

1
87.  Otan(6%)de
0

SOLUTION Letu = cos 62. Then du = —26sin 62 d6 or —%du = 0sin 62 d6. Hence,

1 gsin(6?) coslgy 1 - cost

1
ftan(6%)dg = >~ 7
o OENENAO= @)

1

/2
88. cos 3x dx
0

SOLUTION Letu = 3x. Thendu = 3dx or %du = dx. Hence

/2 1 3n/2 1 3m/2 1 1
cos3xdx = = cosudu = =sinu =———-0=—=.
0 3 0 3 0 3 3
/2 T
89. cos 3x + — dx
0 2
SOLUTION Letu =3x + g Thendu = 3dx or %du = dx. Hence
/2 2m 2
m 1 1. 1 1
cos(3x + =)dx = = cosudu = =sinu =0—=-=—-.
2 3 /2 3 /2 3 3
/2
90. cos® x sinx dx
0
SOLUTION Letu =cosx. Thendu = —sinx dx. Hence
cos3 xsinxdx = — uddu = wWdu=-u* =--0==.
0 1 0 4 o 4 4
/4
91. tan? x sec? x dx
0
SOLUTION Letu = tanx. Then du = sec? x dx. Hence
/4 1 1 1 1 1
tan? x sec? x dx = wdu=2ud =Z-0==.
0 0 3 o9 3 3
dx . V_
92. Evaluate ——=/——usingu=2+ X.
@2+ x)3

V_
SOLUTION Letu=2+ X.Thendu= f%dx, so that

V_
2 xdu=dx
2(u —2)du =dx.

1 1 1
0=—E m :—Eln|u| . =—§[In(cosl)+lnl]= EIn(secl).

617
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From this, we get:

d -2 _ _ _
= 29" %qu=2 u2-20% du=2 —ul+u2 +C
@+ x)3 ud
1 1 —2— +1 1+\/Y
=2 - eV = c=2 — C=—-2—~(—+C
2+ X (2+ X)? @2+ x)? 2+ Xx)?
2 I —
93. Evaluate r 5— 4—r2dr.
0

SOLUTION Letu=5— 4—r2. Then

rdr rdr
du = =
4—r2 5—u
so that
rdr =(5—u)du.

Hence, the integral becomes:

2 — SV_ 5 10 2
r 5— 4—r2dr= u(5—u)du = 5ul/2 — 32 qu= —u¥2 - Zy52
0 3 3 3 5 3
v_ V_ V_ v_ v_ v_
= 5—05—105—10 3_§3:@ 5—§ 3.
3 5 3 5

In Exercises 94-95, use substitution to evaluate the integral in terms of f (x).

94.  f(x)°f (x)dx
SOLUTION Letu = f(x). Thendu = f (x) dx. Hence

1 1
fx)° f (x)dx = u3du=Zu4+C=Zf(x)4+C.
5. ) g
f(x)2
SOLUTION Letu = f(x). Thendu = f (x)dx. Hence
f _ _ -1
O gx= u2du=-u"l+c=—+ +c.
f(x)2 f(x)
/6 1/2 1
96. Show that f(sinf)do = f(u)——=du.
0 0 1—u?

SOLUTION Letu =sin6. Then u(n/6) = 1/2 and u(0) = 0, as required. Furthermore, du = cos 6 d 6, so that

_du
" cosB’

If sin @ = u, then u2 +cos? 9 = 1, sothatcos® = 1 — u2. Therefored® = du/ 1 — u2. This gives

/6 1/2 1
f(sin@)do = f(u)——du.
0 1—u?
/2
97. Evaluate sin" x cos x dx, where n is an integer, n = —1.
0
SOLUTION Letu =sinx. Then du = cos x dx. Hence
/2 1 g+t t 1
sin x cosx dx = uldu = =
0 n+1 n+1
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Further Insights and Challenges
98. Use the substitution u = 1 + x1/M to show that

1+xWdx=n u2u-1""1du
Evaluate forn = 2, 3.
SOLUTION Letu = 1+ x¥" Thenx = (u— 1)" and dx = n(u — )" du. Accordingly, 1+x¥ndx =

n o ut2w-1)"tdu.
For n = 2, we have

1+xY2dx =2 v 2u-1ldu=2 @©¥2-u?)du
—> gus/z _ §u3/2 iC= %(1 +xl/2y8/2 _ %(1 + X232 4

For n = 3, we have

1+x¥3dx =3 uM2u—-12du=3 @U¥2-20%2+u?)qu

2 7 2 523
=3 su’'"=(2) - v+ _u +C
7 @) 5 3

— g(l +xU/3y1/2 _ 1?2(1 + xU/3Y52 4 o1 4 x 1332 4
n/2 de /2 de
99. Evaluate | = ————— Hint: Use substitution to show that I is equal to J = _—
0o 1+tanb00g o 1+cot6:000g
/2
and then check that | +J = de.
0

SOLUTION To evaluate
/2 dx
0 1-+tan6000y’
we substitute t = /2 — x. Then dt = —dx, x = n/2 —t, t(0) = n/2, and t(11/2) = 0. Hence,
/2 dx 0 dt /2 dt

0 1-+1tan6000x /2 1+1tanf000(/2 —t) ~ o 1+cotb000¢t’

n/2 dt

0 1+ cotb000(t)
linearity of the integral,

LetJ = .We know | = J,so | +J = 21. On the other hand, by the definition of | and J and the

w2 dx dx /2 1 1
| +J = + = + dx
0o 1+1tanb000y 1 + cot6O00 x 0 1+ tan6000 x 1 + ¢otB000 x

n/2 1 1

0 1+ @nb00, 1+ (1/ tan6000 x)
n/2 1 . 1

0 1+ tanb000 x  (tan6000 x + 1)/ tan6000 x
n/2 1 £an6000 y

= + dx
0 1+ tanb000 x 1 + tan6000 x

dx

m/2 1 4 tanB000 n/2
= — dx = 1ldx = n/2.
0 1 + tan6000 x 0

Hence, | +J =21 =n/2,s0 | = /4.

a
100. Show that f(x)dx = 0if f isan odd function.

—a
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SOLUTION We assume that f is continuous. If f(x) is an odd function, then f(—x) = —f(x). Letu = —x. Then
x = —uand du = —dx or —du = dx. Accordingly,
a 0 a 0 a
f(x)dx = f(x)dx + f(x)dx =— f(—u)du+ f(x)dx
—a —a 0 a 0

a a
= f(x)dx — f(u)du=0.
0 0

101. (a) Use the substitution u = x/a to prove that the hyperbola y = x 1 (Figure 4) has the following special property:
b b/a
Ifa,b >0, then ldx: de.

a X 1 X
(b) Show that the areas under the hyperbola over the intervals [1, 2], [2, 4], [4, 8], . . . are all equal.

These regions
have equal area

T T T t X
12 4 8

FIGURE 4 The area under y = % over [2", 2"*1] is the same foralln = 0,1,2....

SOLUTION
(@) Letu = g. Thenau = x and du = %dx oradu = dx. Hence

b 1 b/a a b/a 1
—dx = —du = —du
a 1 au 1
b/a 1 b/a q
Note that —du = — dx after the substitution x = u.
1 v 1 X
(b) The area under the hyperbola over the interval [1, 2] is given by the definite integral 12 % dx. Denote this definite
integral by A. Using the result from part (a), we find the area under the hyperbola over the interval [2, 4] is
41 4/2 1 21
—dx = —dx = —dx = A.
2 X 1 X 1 X

Similarly, the area under the hyperbola over the interval [4, 8] is

In general, the area under the hyperbola over the interval [2", 2"+1] is
2n+1 1 2n+l/2n 1 2

1
—dx = —dx = —dx = A.
on X 1 X 1 X

102. Show that the two regions in Figure 5 have the same area. Then use the identity cos? u = %(1 + C0s 2u) to compute
the second area.

y =cos?u

[,
NIo

*) B)
FIGURE 5

SOLUTION The area of the region in Figure 5(A) is given by 01 1—x2dx. Letx = sinu. Then dx = cosudu and

1—x2= 1—sin?u = cosu. Hence,

1 /2 /2
1—x2dx = cosu-cosudu = cos? u du.
0 0 0
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This last integral represents the area of the region in Figure 5(B). The two regions in Figure 5 therefore have the same
area.

Let’s now focus on the definite integral 0"/2 cos? u du. Using the trigonometric identity cos? u = %(1 + cos2u), we
have
/2 1 /2 1 1 /2 1 7 T
cos®udu = = 1+cos2udu= - u+=sin2u =— . —-—0=-.
2 0 2 2 0 2 2 4

103. & Area of a Circle The number m is defined as one-half the circumference of the unit circle. Prove that the

area of a circle of radius r is A = mr2. The case r = 1 follows from Exercise 102. Prove it for all r > 0 by showing that

- 1
r2 —x2dx =r? 1—x2dx
0 0

SOLUTION The definite integral 5 r2 —x2dx is equal to % the area of a circle of radius r > 0. (It is the area of the

quarter circular disk X2 + y2 < r2 in the first quadrant.) Now, let u = %x and r du = dx. Hence,
1

r2—x2dx =
0 0

-

- 1
r2 —r2y2du =r? 1—u?du.
0

From Exercise 102, we have 01 1—u?du= %; therefore, 711 of the area bounded by a circle of radius r is %nrz. The

area of the full circle is then mr2.

104. Area of an Ellipse Prove the formula A = mab for the area of the ellipse with equation

2 2
a2 b2

a —
Hint: Show that A = 2b 1 — (x/a)? dx, change variables, and use the formula for the area of a circle (Figure 6).

N

-a a

2

x2 y?
FIGURE 6 Graph of — +
a

. . . ) 2 S
SOLUTION Consider the ellipse with equation ;—2 + # = 1; here a, b > 0. The area between the part of the ellipse in

the upper half-plane, y = f(x) = b2 1-— ;—i , and the x-axis is fa

f (x) dx. By symmetry, the part of the elliptical
region in the lower half-plane has the same area. Accordingly, the area enclosed by the ellipse is

a a XZ a -
2 f(x)dx =2 b2 1-= dx=2b 1— (x/a)? dx
—a —a a —a
Now, let u = x/a. Then x = au and adu = dx. Accordingly,
a 2 1
2b 1— X “dx=2ap 1—u2du=2ab & =rnab
—a a —1 2

Here we recognized that _11 1 — u2 du represents the area of the upper unit semicircular disk, which by Exercise 102

is2(3) = 1.

5.7 Further Transcendental Functions

Preliminary Questions
1. What is the general antiderivative of the function?
(@) f(x)=2% (b) f(x)=x"1
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(© fo)=@—x})12

SOLUTION The most general antiderivatives are:
2)(

(@ s +C.

(b) In|x] +C.

(c) sin"Ix +C.

b

. ax .
2. Find a value of b such that 7)( is equal to
1

(@ In3 (b) 3
SOLUTION Forb >0,
b dx b

=In|x] =Inb—Inl1=Inb.
1 1

(a) For the value of the definite integral to equal In 3, we must have b = 3.
(b) For the value of the definite integral to equal 3, we must have b = 3.
b dx m

3. For which value of b is =7
0o 1+x2 3

SOLUTION In general,
b dx b

—~ =tan"tx =tan"tb—tan 0 =tan"th.

0 1+ X2 0

For the value of the definite integral to equal Z, we must have

-1, _ I _ m_ Vo
tan~"b=- or b=tan- = 3.
3 3
4. Which of the following integrals should be evaluated using substitution?
9dx dx
a — b ——
@ 1+ x2 () 1+ 9x2

SOLUTION  Use the substitution u = 3x on the integral in (b).

5. If we set x = 3u, then 9—x2 = 3 1 —u2. Which relation between x and u yields the equality 16 + x2 =
4 1+u2?

SOLUTION Totransform 16 + x2into 4 1+ u2, make the substitution x = 4u.

Exercises
In Exercises 1-10, evaluate the definite integral.

21
1. —dx
1 X
2 1 2
SOLUTION —dx=In|x] =Ih2—-Inl=In2.
1 X 1
121
2. —dx
4 X

12 q 12
SOLUTION " dx =In|x] =1In12—1In4 =1In(12/4) =In3.
4 4

e

3. —dx
1 X
€1 e
SOLUTION —dx=In|x] =Ihe—Inl1=1.
1 X 1
4 dt

2 3t+4
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SOLUTION Letu =3t + 4. Thendu = 3dt and

4 dt 1 ®du 1 1% g
— == — = —Injul ==(n16-1In10).
7 3t+4 3 10 U 3 10 3
—eq
5. —dt
—e2 t
e € e
SOLUTION —dt =In|t| :In|—e|—ln|—e2| =In— =In(1l/e) = —1.
—e2 t —e? g2
e
6 ——dt
e tint
SOLUTION Letu =Int. Thendu = (1/t)dt and
€ 1 2 du 2
——dt = — = Injul =Ih2—=Inl1=In2.
e tint 1 U 1
1/2 dx
7. R——
0 1—x2
72 gy 1/2 1 T
SOLUTION —2  =sinIx =sin"1Z —sin"lo=2
0 1—x2 0 2 6
tan8 4y
fan1 X2 +1
tan8 gy tan8
SOLUTION —— =t 'x =tan ‘(tan8)—tan ‘(tanl) =8-1=7.
tan1 1+X tanl
2/\/§
- dx
9. -
-2 x| x2—1
2/v§ 2/ 3
- dx 1 _ _ 51 2m @
SOLUTION — —  =sec tx —secl —aZ —sec === -2 =2,
) x| x2—1 —2 3 6 3 6
\/5/2
dx
-1/2  1-x2
V_ Va v_
32 dx ¥ 3 1 no_n
SOLUTION =sin” "X =sin" " — —sin - === == =,
172 1—x2 -1/2 2 3 6 2
11. Use the substitution u = x/3 to prove
dx 1. 1
—— =—tan - - +C
9+x2 3 3

SOLUTION Letu = x/3. Then, x = 3u, dx = 3du, 9 + x2 = 9(1 + u?), and

ax__ Sdu 1 Wl ty+c=tentlec
9+x2  9(1+u?) 3 1+u2 3 "3 3
dx

12. Use the substitution u = 2x to evaluate =~ ——.
4x2 +1

SOLUTION Letu = 2x. Then, x = u/2,dx = 1 du, 4x?> + 1 =u? + 1, and

dx
42 +1

du 1 1 _
tan 1u+C:§tan Tox+c.

1
T2 uZ+1 2

In Exercises 13-32, calculate the indefinite integral.

2 dx

13. —
0 x2+4



624 CHAPTER 5 | THE INTEGRAL

SOLUTION Letx =2u. Thendx = 2du and

2 dx 1 1 du 1 9, 11 _ _ m
= - =-tantu =2 tant1—tanlo ==
0 X2+4 2 g u2+1 2 0 2 8
1/\/5
dx
14 VL. TTT——
/'3 x x2—4
SOLUTION Letx =2u. Thendx = 2du and
V_ V_ v_
42 gy 1 22 4y 1 o, Y2 12 1 11 o
V. ————=- . ————==1-5eC ‘U . = Sec _ —sec - == — ==
4°3 x x2—4 2 23 y u2—1 2 273 2 2 3 2 4 6
dt
16 —t2
SOLUTION Lett =4u. Thendt = 4du, and
dt 4du 4du du L gt
= = = =sinlu+cCc=sin"? - +cC.
16 — t2 16 — (4u)2 4 1—u2 1—u? 4
dt
1— 16t2
SOLUTION Letu = 4t. Then du = 4dt, and
dt du 1. _ 1. _
= —_ = Csinlu+C=sinTldt) +C.
1—16t2 4 1—u2 4 4
dt
17- ————
25 — 4t2

SOLUTION Lett = (5/2)u. Then dt = (5/2) du, and

dt _ (5/2)du 5/2 iU = du
25 — 4t2 25 — 4(3u)? 25 — 2502 2 1—u?
= — =+ = — —  +
2sm u+C 2sm z C.
18, 9
X 1—4x2

SOLUTION Letu =2x. Thendu = 2dx, and

dx _ 1/2)du du

= = =sec lu+C =sec 1(2x) +C.
X 1—4x2 u/2) 1—u? u 1—u?

dx
1—4x2
SOLUTION Letu = 2x. Then du = 2dx, and

19.

dx _ du
1—4x2 2 1—u?

N -

1
sinlu+cC= 3 sin~1(2x) + C.

dx

20 e

SOLUTION Letx = 2u. Thendx = 2du, and

dx 2du 1 -1 1 —1
= = _—tan" "u+C = —tan
4+ x2 41+u2) 2 2

N X

Rl=
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(x + 1)dx
1—x2
SOLUTION Observe that

21.

(x+1)dx _ x dx " dx
1—x2 1—x2 1—x2

In the first integral on the right, we letu = 1 — x2, du = —2x dx. Thus

X +1)dx 1 du 1dx — . _
( _ 2

2 P 5 = 1—x%+sin
1—x2 2 ul/2 1—x2

1

dx

22. _
x 1—x4

SOLUTION Letu = x2. Then du = 2x dx, and

dx du 1 4
—— = = Zsec
X x4—1 2u u2—-1

1 _
u+C:§sec 12 +c.

eX dx
1+eX
SOLUTION Letu = eX. Then du = e*dx, and

23.

e* du _
= =tan" !

u+C=tanleX +C.
1+ e 1+u?

-1
24, In(cos™* x) dx
(cos™1x) 1—x2
-1

SOLUTION Letu =Incos™1x. Thendu = ——
cosTlx 1 —x2

,and

In(cos™1 x) dx
(cos~1x) 1—x2

tan~1 x dx
o5 A" xdx
1+ x2
-1 dX
SOLUTION Letu =tan™*x. Thendu = ——, and
1+ x2
tan"Lx dx tan~1x)2
@A gy t2ec = BTN
1+ x2 2 2

dx
(tan~1 x)(1 + x2)

dx
SOLUTION Letu =tan"1x. Thendu = —=—, and
1+ x2

dx

1 _
= Zdu=InJu+C=lIn|tan"tx|+C.
(tan~1 x)(1 + x2) u

1
27. 3Xdx
0
1 3X 1 1 2
SOLUTION Fdx=— =_—B—-1)= —.
0 In3 g In3( ) In3
1
28. 37X dx
0
SOLUTION Letu = —x. Thendu = —dx and
1 -1 SU -1 1 1 2
3_XdX:— 3udu:—— =__ —Z 41 =
0 0 In3 g In3 3 3In3

x +C.

1 1 _
udu = —Eu2 +C = —>(Incos 12 +c.

625
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log, (3)
29. 4% dx
0
l0g4(3) 4% 10943 1 2 1
SOLUTION 4 dx = — =—_—_B-1)= — =",
0 = na 0 In4( ) In4  In2
2 2
30. x10*" dx
SOLUTION Letu = x2. Then du = 2x dx and
2 1 4
x10dx == 10%du =o0.
_ 2 4
31, 9%sin(9%)dx
SOLUTION Letu = 9%. Thendu = 9XIn9dx and
9% sin(9%) dx = ! sinudu = — ! cosu+C =— ! cos(9¥) +C
"~ In9 ~ In9 ~ In9 '
2.
52x —1
SOLUTION First, rewrite
dx dx _ 5% dx
5 —1 5 1-52  1-52
Now, letu =57*. Thendu = =5 % In5dx and
dx 1 du 1 . _ 1 .,
52X — 1 In5 1—u2 In5 In5

In Exercises 3370, evaluate the integral using the methods covered in the text so far.
33, (e¥ +2)dx

SOLUTION (e +2)dx =X +2x +C.

34, eMdx

SOLUTION  Use the substitution u = 4x, du = 4 dx. Then

1 1
e dx = e“du=—e“+C:Ze4X+C.

4

Al

35. 7 Xdx
SOLUTION Letu = —x. Thendu = —dx and

—x u 74 7%
7 %dx=— 7"du=——+C=——+C.
In7 In7

36. yey2 dy
SOLUTION  Use the substitution u = y2, du =2ydy. Then

1
Yeyzdy=§ e'du=-e +C:§eV2+C.

37. (€™ +1)dx
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SOLUTION Use the substitution u = 4x, du = 4dx. Then

1 1
e +Ddx=> (Y+1)du= Z(e“ +u)+C = Ze4X +x+C.

1
4
4x dx

38.
x2 +1

SOLUTION Letu =x2+ 1. Thendu = 2x dx and

4 d
S _dx=2 — =2Inju]+C =2In(+1) +C.
Xc+1 u

39. e gt

SOLUTION Use the substitution u = —9t, du = —9dt. Then

1 1 1

—ot _ u —_ u —_ —ot

e dt=—=- e'du=—=-e"+C =—-¢ +C.
9 9 9

40. (X +eX)dx

SOLUTION
@ +eX)dx= efdx+ e Xdx=e"+ e Xdx.
In the remaining integral, use the substitution u = —x, du = —dx. Then
e Xdx=— eldu=—-e"+C=—eX+C.
Finally,
@ +eX)dx=eX—eX+C.

41. dixi

1—16x2

SOLUTION Letu =4x. Thendu = 4dx and

dx 1 du 1 1
1—16x2 4 1—-u2 4 4
dx
42. R——
9 — 16x2
SOLUTION First rewrite
dx 1 dx
—16¢2 3 2
9 — 16x 1— %x
Now, letu = 3X. Thendu = %dx and
dx 1 du 1. _ 1 _
- == =Zsinlu+C = sin"t +C
9—16x2 4 1-u2 4 4

43. el et+1dt

SOLUTION Use the substitution u = et + 1, du = et dt. Then

—_— V_ 2 2
el el +1dt= udu:§u3/2+C:§(et+1)3/2+C.
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44,  (e7* —4x)dx

SOLUTION First, observe that

(e X —4x)dx = e Xdx— 4xdx= e Xdx—2x2
In the remaining integral, use the substitution u = —x, du = —dx. Then
e Xdx=— e'du=—-e"+C=—-eX+C.

Finally,

(¥ —4x)dx = —e X —2x2 +C.

45. (7 —el)dx
SOLUTION First, observe that

(7—e®™ydx = 7dx— e®dx=7x— el0%qx.
In the remaining integral, use the substitution u = 10x, du = 10dx. Then

1 1 1
el®dx = —  eldu= —e'+C=—el™+cC.

10 10 10
Finally,
10x — 1 10x
7T—e")dx =7x— —e" +C.
10
2X _ a4x
46, T 4x
e)(
SOLUTION
2X 4X 3x
e’ —e e
= dx= (e —e¥)dx=eX—"—+C
dx
47. —
X 25x2—1

SOLUTION Letu =5x. Thendu =5dx and

dx _ du
X 25x2—1 u ul—1

=sec lu+C = sec_1(5x) +C.

x dx

48. —
4x2 +9

SOLUTION Letu = 4x2 + 9. Then du = 8x dx and

X 1 _ 1 1
—— dx=> uYgu=zu24+c=> ax2+9+C.
4x2 +9 8 4 4
49, xe " dx
SOLUTION Use the substitution u = —4x2, du = —8x dx. Then
—4X2 _ 1 u _ 1 u _ 1 —4X2
Xe dx =—= e'du=—=e"+C=——¢ +C.
8 8 8

50.  eX cos(e*)dx
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SOLUTION Use the substitution u = eX,du = eX dx. Then

eX cos(e*)dx = cosudu =sinu + C =sin(e*) + C.

X
51 v dx
eX+1

SOLUTION Use the substitution u = eX + 1, du = eX dx. Then

X v_ V.
dexz 3%:2 u+C=2 eX+1+C.

eX +1

52. (e +1)3dx

SOLUTION Use the substitution u = e*, du = eX dx. Then
3
e +1)%dx= ul+1 du= ub+3ut+3u2+1 du

= %u7 + §u5 +ud+u+cC= %(ex)7 + g(ex)5 + ()3 +eX+C

7x 5x
e 3e
== + 2 +e¥4eX+C.
dx
2x +4

SOLUTION Letu =2x + 4. Thendu = 2dx, and

53.

dx
2Xx +4

1 1 1
=—- —du==In|2x +4|+C.
2 u 2 | |

g, tdt
t2+4

SOLUTION Letu =t2 + 4. Thendu = 2tdt or %du =tdt, and

t

1 1 1
— dt=> Zdu=>In t2+4 +C.
t2+4 2 u 2

x2 dx
x3 +2

SOLUTION Letu = x3 + 2. Thendu = 3x2dx, and

55.

x2 dx 1
x3+2 3

(Bx —1)dx
9 — 2x + 3x2
SOLUTION Letu =9 — 2x + 3x2. Then du = (=2 + 6x) dx = 2(3x — 1) dx, and

56.

(3x — 1)dx 1 du 1 2
22 PR =2 D= Zn@—2x +3x2) +C.
9—2x+3x2 2 u 2n( X +3x%)

57.  tan(4x +1)dx

SOLUTION First we rewrite tan(4x +1)dx as Sin(Ax+1) gy | ety = cos(4x + 1). Thendu = —4sin(4x + 1) dx,

cos(4x+1)
and
sin(4x + 1) 1 du 1
———dx=—- — = ——In|cos(4x + 1)| + C.
cos(4x + 1) 4 u 4 | cos(4x )

58. cotx dx
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SOLUTION Werewrite cotxdxas <X dx.Letu = sinx. Thendu = cosx dx, and

SIn X
COoSs X du .
——dx = — =In]|sinx|+C.
sin x u
COS X
59. _—
2sinx +3

SOLUTION Letu = 2sinx + 3. Thendu = 2cos x dx, and

COS X

1
— = ZIn(2sinx +3) +C
2sinx +3 2 n(@sinx+3) '

1
dx = =
=3

where we have used the fact that 2 sinx + 3 = 1 to drop the absolute value.

0. M¥ux
X

SOLUTION Letu =Inx. Thendu = (1/x) dx, and

Inx u? In x)>2
(Inx)®

—dx= udu=—+C= C.
X 2 2

4Inx +5
—dx
X

61.

SOLUTION Letu =4Inx +5. Then du = (4/x)dx, and

4Inx +5 1 1 1
de:— udu:—u2+C:—(4Inx+5)2+C.
X 4 8 8

(Inx)?

62. dx
SOLUTION Letu =Inx. Thendu = (1/x)dx, and

(Inx)2
X

nx? C.

1
dx = uzdu=§u3+c:

dx
x Inx

SOLUTION Letu =Inx. Thendu = (1/x)dx, and

d 1
X = —du=Injul+C =In|Inx|+C.
x Inx u
dx
64. -
(4x — 1) In(8x —2)
SOLUTION Letu =In(8x —2). Thendu = 8 dx = 4 dx, and
- ' Tex—2 0 4x—1 "
dx 1 du 1 1
=- —=-1 +C =-1In|In(8x —2)| +C.
@ —Din@x=2 4 u _anul z nlin@x = 2)]
6. In(Inx)dX
x Inx

1 1
SOLUTION Letu = In(Inx). Thendu = iy ;dx and

2 2
InCln x) dx = udu= ¢ +C= 7("]('”)()) +C.
X Inx 2 2

66.  cotxIn(sinx)dx



SECTION 5.7 | Further Transcendental Functions 631
SOLUTION Letu = In(sinx). Then

1
du = —— -cosxdx = cotx dx,
sin x

and
2 | H 2
cotx In(sinx)dx = udu = u? +C= M +C.
67. 33X dx
3X
SOLUTION 3¥dx = — +C.
In3
XZ
68. x3* dx
SOLUTION Letu = x2. Then du = 2x dx, and
2 1 13 3
Fdx=- 3du=:—-+C= +
X ax=s Y 2in3 2in3
69.  cosx 351X dx
SOLUTION Letu =sinx. Thendu = cosx dx, and
. 3u Sin x
cosx3MX¥dx = 3du=—+C="—+C.
In3 In3
l 3X+2
70. — d
3 X
SOLUTION Letu =3x + 2. Thendu = 3dx, and
1 3x+2 1 1 u 1 l u 3x+2
1 ax = L 1 =_(/2) +C:(1/2) N
2 3 2 31n1/2 3In(1/2)

71. Use Figure 4 on the following page to prove the formula

X 1 —— 1
1—t2dt=x 1—x2+ Zsin *x
0 2 2

Hint: The area represented by the integral is the sum of a triangle and a sector.

y

(2
NI

FIGURE 4

X

X
SOLUTION The definite integral 1 — t2 dt represents the area of the region under the upper half of the unit circle
0

from 0 to x. The region consists of a sector of the circle and a right triangle. The sector has a central angle of g -6,
where cos 8 = x. Hence, the sector has an area of

1 2 T —1 _1 -
5(1) > €os™ “ X —25|n X.

The right triangle has a base of length x, a height of 1 — x2, and hence an area of %x 1—x2. Thus,
X

— 1 — 1  _
1—t2dt=2x 1—x2+ Zsin"Lix.
0 2 2
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72. Show that G(t) = 1 —t2 +tsin~1t is an antiderivative of sin~1t.

SOLUTION We have

d —— d . —t d . _ L
G@{t)=— 1—t2+ — tsin 1t = + t-—sinYt+sintt
dt dt 1—12 dt
—t t L L
= + +sin"tt =sinTlt.
1—1t2 1—1t2
73. Verify by differentiation:
T rT
e ' (rT—-1)+1
te”ﬂjt:#

0 r2

Then use L’Hopital’s Rule to show that the limit of the right-hand side asr — 0 is equal to the value of the integral for
r=0.

SOLUTION Let

rt 1
)= S5 0t-1+ .
r

r2
Then
1
f(t)= = elr + (rt — 1)(re™) =te't

as required. Using L’Hopital’s Rule,

CeTrT =1 +1 . TeT (T —1)(Te'T) T2 T2 T2
lim = lim = lim ——=1i = —.
r-0 r2 r-0 2r r-o 2r r-o 2 2
T T t2 T -|-2
Ifr =0then, te'ldt= tdt=—-— = —.
0 0 29 2

Further Insights and Challenges
74. Recall the following property of integrals: If f(t) = g(t) for all t = 0, then for all x = 0,

X X

fydt=  g(t)dt
0

The inequality e! = 1 holds for t = 0 because e > 1. Use (7) to prove that eX = 1 + x for x = 0. Then prove, by
successive integration, the following inequalities (for x = 0):

2 3

X = 1+x+ ox =1+ x+ x+ oy
- 27 - 2 6
SOLUTION Integrating both sides of the inequality e! = 1 yields

X
eldt=eX—1>=x or e¥=1+x.
0

Integrating both sides of this new inequality then gives
X
eldt=eX—1=x+x%/2 or e =1+x+x?/2.
0
Finally, integrating both sides again gives
X
eldt=eX—1=x+x2/2+x3/6 or eX=1+x+x%/2+x3/6
0
as requested.
75. Generalize Exercise 74; that is, use induction (if you are familiar with this method of proof) to prove that for all
n=0,

1,.13 1n
X =1+x+ x4+ X2+ + X Xx=0
2 6 n! ( )
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SOLUTION Forn = 1,¢e* = 1+ x by Exercise 74. Assume the statement is true for n = k. We need to prove the
statement is true for n = k + 1. By the Induction Hypothesis,

X =1+ x+x2/2+ -+ xK/kL

Integrating both sides of this inequality yields

X
eldt =eX —1=x +x2/2+ - +xK*1/(k + 1)
0

or
X =1+ x+x2/2+ -+ XKL/ + 1)1

as required.

X

X
76. Use Exercise 74 to show that e_2 =
X

X . e .
— and conclude that lim — = oco. Then use Exercise 75 to prove more
6 X — 0o X2
e)(
generally that lim — = oo forall n.
X — oo

Xn
SOLUTION By Exercise 74,eX =1+ x + % + %. Thus
eX 1 1 1 x_ X
>+ H++—>=>—,
X2 " x2 x 2 6 6
Since Iimoo x/6 = oo, Xlimoo e*/x2 = oo, More generally, by Exercise 75,
y X2 Xn+1
e =l+ -+ —
2 (n+1)!
Thus
X X X

— + .+ = .

xn (n+1)! " (n+ 1)
H H X — H [

Since xILmoo D = XILmoo X = oo.

77. Defining Inx as an Integral Define a function ¢(x) in the domain x > 0:

X

o) = dt
1t

This exercise proceeds as if we didn’t know that ¢(x) = Inx and shows directly that ¢(x) has all the basic properties of
the logarithm. Prove the following statements:
b1 ab q
(a) T dt = T dt for all a, b > 0. Hint: Use the substitution u = t/a.
1 a
(b) ¢(ab) = ¢(a) + ¢(b). Hint: Break up the integral from 1 to ab into two integrals and use (a).

(c) ¢(1) =0and ¢p(a~1) = —¢(a) fora > 0.
(d) ¢(@") = n¢(a) for all a > 0 and integers n.
(e) ¢(a1/”) = %(f)(a) forall a > 0 and integers n = 0.

(f) ¢(@") =r¢(a) for all a > 0 and rational number r.
(9) There exists x such that ¢(x) > 1. Hint: Show that ¢(a) > 0 for every a > 1. Then take x = a™ form > 1/¢(a).

(h) Show that ¢(t) is increasing and use the Intermediate Value Theorem to show that there exists a unique number e
such that ¢(e) = 1.

(i) ¢(e") =r for any rational number r.
SOLUTION
() Letu =t/a. Thendu = %dt, u(d) =1, u(ab) = b, and

ab 1 aba b b1

(b) Using part (a):

b
¢(ab) = %dt = 1dt+ %dt = —dt+ %dt = ¢(a) + ¢(b).
1 1
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(c) First,
11
¢()=  —dt=0.
1t
Next,
1 1 1/a ¢ 11 1
— — — = —dt = —dt b t ithh = =
p@@ )=¢ a LT 1 y part (a) wi a
al
=—  Zdt=—¢(a).
1t
(d) Using part (a):
an aq a2 1 an 1
¢(an): —dt = —dt + Zdt+ -+ Zdt
1 1t a t an-1t
aj a1 aq
= Zdt+ Zdt+.--+  Zdt =n¢(a).
1t 1t 1t

(&) $(@) = $(@"/M") = ng(@'"). Thus, p(a*'") = %cp(a).

(f) Letr = m/n where m and n are integers. Then
$(a") = ¢@™") = p(@™")
= Zg@m  bypart(®

=2¢@  bypar(d)
=r¢(a).

(9) Fora>1,

al
o) = —dt>0
1t

1
i - — gMm 1
since : >(0anda > 1. Now, letx =a™ form > IOk Then

6(x) = 9(a™) = m(a) > % pa)=1.

(h) By the Fundamental Theorem of Calculus, ¢(x) is continuous on (0, o0) and ¢ (x) = % > 0 for x > 0. Thus, ¢(x)
is increasing and one-to-one for x > 0. By part (c), (1) = 0 and by part (g) there exists an x such that ¢(x) > 1. The
Intermediate Value Theorem then guarantees there exists a number e such that 1 < e < x and ¢(e) = 1. We know that e
is unique because ¢ is one-to-one.

(i) Using part (f) and then part (h),
e =rp@E)=r-1=r.

78. Show that if f(x) is increasing and satisfies f(xy) = f(x) + f(y), then its inverse g(x) satisfies g(x +y) =
9()g(y).

SOLUTION Letx = f(w)andy = f(z). Then
g(x +y) = g(f(w) + f(2)) = g(f(wz)) = wz = g(x) - g(y).

79. This is a continuation of the previous two exercises. Let g(x) be the inverse of ¢(x). Show that

(@) g(x)g(y) = g(x +y).

(b) g(r) = e for any rational number.

(©) 9 (x) =g(x).

SOLUTION Letg(x) = ¢~ 1(x).

(a) From Exercise 77(b), ¢(ab) = ¢(a) + ¢(b). Hence, from Exercise 78,

g(a+b) =g(a)-g(b).
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(b) From 77(i), p(e") =rsoe” = ¢p~1(r) = g(r).
(c) Since ¢ (x) = %

1 1

¢ (9(x))  1/9(x)

g()= = g(x).

Exercises 77-79 provide a mathematically elegant approach to the exponential and logarithm functions, which avoids
the problem of defining eX for irrational x and of proving that e* is differentiable.

xn+1 - L .
80. The formula x"dx = 1 + C is valid for n = —1. Use L’Hdpital’s Rule to show that the exceptional case

n = —1is alimit of the general case in the following sense: For fixed x > 0,

X X
lim  t"dt=  t~ldt
n-—1 1 1
X"+l —1
Note that the integral on the left is equal to Eree
SOLUTION
X tn+1 X YN+l qn+
lim t"dt = lim = lim -
n-—1 1 nﬂ—1n+11 n.—-1 n+1 n+1
) xn+1l 1 ) X
= lim =——= = lim " HInx=Inx = tldt
n-—1 n+1 n-—1 1

Note that when using L’Hdpital’s Rule in the second line, we need to differentiate with respect to n.

n+1
. . . . . -1 . . .
81. ZAS The integral on the left in Exercise 80 is equal to f,(x) = L 1 Investigate the limit graphically by

plotting fn(x) forn =0, —0.3, —0.6, and —0.9 together with In x on a single plot.

SOLUTION
y
n=-03
n=0 n=-0.6
2 n=-09
=1
1 y=Inx
X
1 2 3 4 5
-1
I dx .
82. Use the substitution u = tan x to evaluate — Hint: Show that
1+ sin“x
dx du

1+sin2x 1+2u2
SOLUTION Ifu = tanx, then du = sec? x dx and

du _ sec®xdx _ dx B dx o dx
1+2u2  1+2tan?x  cos2x +2sinx  cos2X +sinx +sin?x  1+sin?x’

Thus

dx du dy
1+ sin?x 1+ 2u?2 1+ ( 2u)2

V_ V_
= *% tan_l( 2u)+C = *%tan_l((tan x) 2)+C.

5.8 Exponential Growth and Decay

Preliminary Questions

1. Two quantities increase exponentially with growth constants k = 1.2 and k = 3.4, respectively. Which quantity
doubles more rapidly?
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soLUTION Doubling time is inversely proportional to the growth constant. Consequently, the quantity with k = 3.4
doubles more rapidly.

2. If you are given both the doubling time and the growth constant of a quantity that increases exponentially, can you
determine the initial amount?

SOLUTION No. To determine the initial amount, we need to know the amount at one instant in time.

3. A cell population grows exponentially beginning with one cell. Does it take less time for the population to increase
from one to two cells than from 10 million to 20 million cells?

SOLUTION Because growth from one cell to two cells and growth from 10 million to 20 million cells both involve a
doubling of the population, both increases take exactly the same amount of time.

4. Referring to his popular book A Brief History of Time, the renowned physicist Stephen Hawking said, “Someone told
me that each equation | included in the book would halve its sales.” If this is so, write a differential equation satisfied by
the sales function S(n), where n is the number of equations in the book.

SOLUTION Let S(0) denote the sales with no equations in the book. Translating Hawking’s observation into an equation
yields

Differentiating with respect to n then yields

ds d_n_ L
5 = SO 527" =—In2s(0)2™" = ~In2s5(n).

5. Carbon dating is based on the assumption that the ratio R of C14 to C12 in the atmosphere has been constant over
the past 50,000 years. If R were actually smaller in the past than it is today, would the age estimates produced by carbon
dating be too ancient or too recent?

soLuTION If R were actually smaller in the past than it is today, then we would be overestimating the amount of decay
and therefore overestimating the age. Our estimates would be too ancient.

6. Which is preferable: an interest rate of 12% compounded quarterly, or an interest rate of 11% compounded continu-
ously?
SOLUTION To answer this question, we need to determine the yearly multiplier associated with each interest rate. The
multiplier associated with an interest rate of 12% compounded quarterly is

4
1+ % = 1.1255,

while the multiplier associated with an interest rate of 11% compounded continuously is
01l =1.11627.

Thus, the compounded quarterly rate is preferable.
7. Find the yearly multiplier if r = 9% and interest is compounded (a) continuously and (b) quarterly.
SOLUTION  With r = 9%, the yearly multiplier for continuously compounded interest is

e009 = 100417,
and the yearly multiplier for compounded quarterly interest is

0.09 4
L+ == =109308

8. The PV of N dollars received at time T is (choose the correct answer):
(a) The value at time T of N dollars invested today
(b) The amount you would have to invest today in order to receive N dollars at time T

SOLUTION The correct response is (b): the PV of N dollars received at time T is the amount you would have to invest
today in order to receive N dollars at time T.

9. A year from now, $1 will be received. Will its PV increase or decrease if the interest rate goes up?
SOLUTION If the interest rate goes up, the present value of $1 a year from now will decrease.

10. Xavier expects to receive a check for $1,000 1 year from today. Explain, using the concept of PV, whether he will be
happy or sad to learn that the interest rate has just increased from 6% to 7%.

SOLUTION If the interest rate goes up, the present value of $1,000 one year from today decreases. Therefore, Xavier
will be sad is the interest rate has just increased from 6 to 7%.



SECTION 5.8 | Exponential Growth and Decay 637

Exercises

1. A certain bacteria population P obeys the exponential growth law P (t) = 2,000e-3t (t in hours).
(a) How many bacteria are present initially?
(b) At what time will there be 10,000 bacteria?

SOLUTION
(@) P(0) = 2000e® = 2000 bacteria initially.
(b) We solve 2000e-3t = 10, 000 for t. Thus, e2-3! = 5 or

t= i In5 = 1.24 hours.
1.3

2. A quantity P obeys the exponential growth law P (t) = 5t (t in years).
(a) Atwhattimetis P =10?
(b) Atwhattimetis P = 20?

(c) What is the doubling time for P?

SOLUTION
(a) % =10whent = £ In10 = 0.46 years.
(b) €5t =20 whent = £ In20 = 0.60 years.
(c) The doubling time is % In2 = 0.14 years.
3. A certain RNA molecule replicates every 3 minutes. Find the differential equation for the number N (t) of molecules

present at time t (in minutes). Starting with one molecule, how many will be present after 10 min?

... In2 In2
SOLUTION The doubling time is — sok = ———
k doubling time
In2

3 N (t). With one molecule initially,

. Thus, the differential equation is N (t) = kN(t) =

N(t) = e(In2/3)t — ot/3
Thus, after ten minutes, there are
N (10) = 21%/3 = 10.079,

or 10 molecules present.

4. A quantity P obeys the exponential growth law P(t) = Cekt (t in years). Find the formula for P (t), assuming that
the doubling time is 7 years and P (0) = 100.

SOLUTION The doubling time is 7 years, so 7 = In2/k, or k = In2/7 = 0.099 years_l. With P (0) = 100, it follows
that P (t) = 100e0-099t,

5. The decay constant of Cobalt-60 is 0.13 years L. What is its half-life?

In2
SOLUTION Half-life = —— = 5.33 years.
0.13 y

6. Find the decay constant of Radium-226, given that its half-life is 1,622 years.

In2
Half-life= —— sok= ——— = —— =427 x 1074 -1
SOLUTION Half-life " S0 Fllife — 1622 x 107 years

7. Find all solutions to the differential equation y = —5y. Which solution satisfies the initial condition y(0) = 3.4?

SOLUTION y = —5y, so y(t) = Ce™>! for some constant C. The initial condition y(0) = 3.4 determines C = 3.4.
Therefore, y(t) = 3.4e 73t

8. Find the solutiontoy = 2y satisfying y(0) = 20.
v_
SOLUTION y = Z)/ so y(t) = Ce 2 for some constant C. The initial condition y(0) = 20 determines C = 20.
Therefore, y(t) = 20e 2t

9. Find the solution to y = 3y satisfying y(2) = 4.
L . . 4
SOLUTION y = 3y, so y(t) = Ce3t for some constant C. The initial condition y(2) = 4 determines C = &
4
Therefore, y(t) = €% = 4e3(t=2)
e

10. Find the function y = f (t) that satisfies the differential equation y = —0.7y and initial condition y(0) = 10.
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SOLUTION Giventhaty = —0.7y and y(0) = 10, then f(t) = 10e~0-7t,

11. The population of a city is P (t) = 2 - €998 (in millions), where t is measured in years.
(a) Calculate the doubling time of the population.

(b) How long does it take for the population to triple in size?

(c) How long does it take for the population to quadruple in size?

SOLUTION
(a) Since k = 0.06, the doubling time is

In2
nT = 11.55 years.

(b) The tripling time is calculated in the same way as the doubling time. Solve for  in the equation
P(t+ )=3P(t)
2. g006(t+ ) = 3(2e0.08t)
2. g006tg0.06 = 3(960.06t)
006 — 3

0.06 =1In3,

or =1In3/0.06 = 18.31 years.
(c) Since the population doubles every 11.55 years, it quadruples after

2 > 11.55 = 23.10 years.

12. The population of Washington state increased from 4.86 million in 1990 to 5.89 million in 2000. Assuming expo-
nential growth,

(a) What will the population be in 2010?

(b) What is the doubling time?

SOLUTION We let 1990 be our starting point.

(a) P(0) = 4.86; therefore, P(t) = 4.86eXt. In 2000, 10 years have gone by, so P(10) =5.89 = 4.86e19 e use this
to solve for k, finding

1, 589 .
k=—In —— =0.019 years ~.
0" 486 y
Then in 2010, t = 20 and P (20) = 4.86¢0-019(20) = 7.11 million people.

(b) The doubling time is In2/0.019 = 36.5 years.

13. Assuming that population growth is approximately exponential, which of the two sets of data is most likely to
represent the population (in millions) of a city over a 5-year period?

Year 2000 | 2001 | 2002 | 2003 | 2004

Data | 3.14 | 336 | 3.60 | 3.85 | 4.11
Datall | 3.14 | 3.24 | 354 | 404 | 474

SOLUTION If the population growth is approximately exponential, then the ratio between successive years’ data needs
to be approximately the same.

Year 2000 2001 2002 2003 2004
Data | 3.14 3.36 3.60 3.85 4.11
Ratios 1.07006  1.07143 1.06944 1.06753
Datall | 3.14 3.24 3.54 4.04 4.74
Ratios 1.03185 1.09259 1.14124 1.17327

As you can see, the ratio of successive years in the data from “Data |” is very close to 1.07. Therefore, we would expect
exponential growth of about P (t) = (3.14)(1.07Y).
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14. Light Intensity The intensity of light passing through an absorbing medium decreases exponentially with the
distance traveled. Suppose the decay constant for a certain plastic block is k = 2 when the distance is measured in feet.
How thick must the block be to reduce the intensity by a factor of one-third?

SOLUTION Since intensity decreases exponentially, it can be modeled by an exponential decay equation I(d) =
—2d

Ioe_kd. Assuming 1(0) = 1, I1(d) = e~kd Since the decay constant is k = 2, we have 1(d) = e~ <", Intensity
In(1/3
will be reduced by a factor of one-third when g2 = % orwhend = % = 0.55ft=6.6in.

15. The Beer—Lambert Law is used in spectroscopy to determine the molar absorptivity a or the concentration ¢ of
a compound dissolved in a solution at low concentrations (Figure 12). The law states that the intensity 1 of light as it
passes through the solution satisfies In(1/1g) = acx, where lg is the initial intensity and x is the distance traveled by the
light. Show that | satisfies a differential equation d1/dx = —kx for some constant k.

Intensity |
Distance
| Soluti _
—_— olution
0 —_—
e
0 X

FIGURE 12 Light of intensity passing through a solution.

| |
SOLUTION In = acx so = edX or | = 1pe9cX. Therefore,
0 0

dl

— = 19e9*(ac) = I (ac) = —KkI,
o (ac) = I(ac)

where k = —ac is a constant.

16. An insect population triples in size after 5 months. Assuming exponential growth, when will it quadruple in size?

. In3 In3 . L
SOLUTION The tripling time is o 5 months. Thusk = - = 0.2197 months L. The time to quadruple is size is

In4 In4
then — = =6.31 ths.
en K 02197 6.31 months
17. A 10-kg quantity of a radioactive isotope decays to 3 kg after 17 years. Find the decay constant of the isotope.

_ In(3/10)

SOLUTION P(t) = 10e™Xt. Thus P(17) = 3 = 10e 17K so k = 0.071 years™ L.

18. Measurements showed that a sample of sheepskin parchment discovered by archaeologists had a C4 to C12 ratio
equal to 40% of that found in the atmosphere. Approximately how old is the parchment?
SOLUTION The ratio of C14 to C12 js Re™-000121t = 0 4R s0 —.000121t = In(0.4) or t = 7572.65 = 7600 years.

19. Chauvet Caves In 1994, rock climbers in southern France stumbled on a cave containing prehistoric cave paint-

ings. A C4-analysis carried out by French archeologist Helene Valladas showed that the paintings are between 29,700
and 32,400 years old, much older than any previously known human art. Given that the C14 to C12 ratio of the atmosphere
is R = 10712, what range of C14 to C12 ratios did Valladas find in the charcoal specimens?

SOLUTION The C14-C12 ratio found in the specimens ranged from

10~12¢—0.000121(32400) 1 gg = 10~ 14

to
10_128_0'000121(29700) =275x 10—14.

20. A paleontologist has discovered the remains of animals that appear to have died at the onset of the Holocene ice age.
She applies carbon dating to test her theory that the Holocene age started between 10,000 and 12,000 years ago. What
range of C14 to C12 ratio would she expect to find in the animal remains?

SOLUTION The scientist would expect to find C14-C12 ratios ranging from

10—12—0.000121(12000) — 5 34 x 10—13

to
10~12¢—0.000121(10000) — 5 gg x 10~13.
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21. Atmospheric Pressure The atmospheric pressure P (h) (in pounds per square inch) at a height h (in miles) above
sea level on earth satisfies a differential equation P = —k P for some positive constant k.

(a) Measurements with a barometer show that P(0) = 14.7 and P (10) = 2.13. What is the decay constant k?
(b) Determine the atmospheric pressure 15 miles above sea level.

SOLUTION
(a) Because P = —kP for some positive constant k, P(h) = Ce N where C = P(0) = 14.7. Therefore, P(h) =
14.7e7KM_ We know that P(10) = 14.7e 710k = 2.13. Solving for k yields
1 2.13 _
k=——1In == =0.193 miles L.
10 147

(b) P(15) = 14.7e~0-193(15) = 0.813 pounds per square inch.

22. Inversion of Sugar When cane sugar is dissolved in water, it converts to invert sugar over a period of several
hours. The percentage f(t) of unconverted cane sugar at time t decreases exponentially. Suppose that f = —0.2f.
What percentage of cane sugar remains after 5 hours? After 10 hours?

soLUTION f = —0.2f,so f(t) = Ce™02l Since f is a percentage, att = 0, C = 100 percent. Therefore.
f(t) = 100e 792t Thus f (5) = 100925 = 36.79 percent and f (10) = 100e~0-2(10) = 13 53 percent.

23. A quantity P increases exponentially with doubling time 6 hours. After how many hours has P increased by 50%?

SOLUTION The doubling time is In2 = 650 k = 0.1155 hours~L. P will have increased by 50% when 1.5P; =
In1.5
0.1155
24. Two bacteria colonies are cultivated in a laboratory. The first colony has a doubling time of 2 hours and the second a

doubling time of 3 hours. Initially, the first colony contains 1,000 bacteria and the second colony 3,000 bacteria. At what
time t will sizes of the colonies be equal?

. In2 _ In2 _
SOLUTION Py(t) = 1000eKit and P,(t) = 3000ek2!. Knowing that k; = — hours Landky, = =5 hours—1, we
need to solve ekit = 3eket for t. Thus

kit = In(3ek2t) = In3 + In(ek2!) = In3 + kyt,

SO

25. Moore’s Law In 1965, Gordon Moore predicted that the number N of transistors on a microchip would increase
exponentially.

(a) Does the table of data below confirm Moore’s prediction for the period from 1971 to 20007 If so, estimate the growth
constant k.

(o) £A'S  Plot the data in the table.

(c) Let N(t) be the number of transistors t years after 1971. Find an approximate formula N (t) = Cekt, where t is the
number of years after 1971.

(d) Estimate the doubling time in Moore’s Law for the period from 1971 to 2000.

(e) If Moore’s Law continues to hold until the end of the decade, how many transistors will a chip contain in 2010?

(f) Can Moore have expected his prediction to hold indefinitely?

Transistors Year  No. Transistors
4004 1971 2,250
8008 1972 2,500
8080 1974 5,000
8086 1978 29,000
286 1982 120,000
386 processor 1985 275,000

486 DX processor 1989 1,180,000
Pentium processor 1993 3,100,000
Pentium Il processor 1997 7,500,000
Pentium Il processor 1999 24,000,000
Pentium 4 processor 2000 42,000,000
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SOLUTION

(a) Yes, the graph looks like an exponential graph especially towards the latter years. We estimate the growth constant
by setting 1971 as our starting point, so Py = 2250. Therefore, P(t) = 2250ekt. In 2000, t = 29. Therefore, P(29) =
2250e2%K = 42000000, so k = '”1826# = 0.339. Note: A better estimate can be found by calculating k for each time
period and then averaging the k values.

(b)

4x107
3x107
2x107

1x107

X
1980 1985 1990 1995 2000

(c) N(t) = 2250e0-339t

(d) The doubling time is In2/0.339 = 2.04 years.

(e) In 2010, t = 39 years. Therefore, N (39) = 2250e0-339(39) = 1 241,623,327.
(f) No, you can’t make a microchip smaller than an atom.

26. Assume that in a certain country, the rate at which jobs are created is proportional to the number of people who
already have jobs. If there are 15 million jobs at t = 0 and 15.1 million jobs 3 months later, how many jobs will there be
after two years?

SOLUTION Let J(t) denote the number of people, in millions, who have jobs at time t, in months. Because the rate at
which jobs are created is proportional to the number of people who already have jobs, J (t) = kJ(t), for some constant
k. Given that J(0) = 15, it then follows that J (t) = 15eKt. To determine k, we use J(3) = 15.1; therefore,

1. 151 _ _
k=>In —= =2215x 1073 months .
3 15

Finally, after two years, there are
J(24) = 15e0-002215(24) = 15 8 million
jobs.

In Exercises 27-28, we consider the Gompertz differential equation:

(where M and k are constants), introduced in 1825 by the English mathematician Benjamin Gompertz and still used
today to model aging and mortality.

kt . A
27. Show that y = Me?®" is a solution for any constant a.

SOLUTION Lety = Me2€ Then

y — kty,ae t
( ae )e

and, since
In(y/M) = aekt,
we have

d
ky In(y/M) = Mkaektea®" = d—i/
28. To model mortality in a population of 200 laboratory rats, a scientist assumes that the number P (t) of rats alive at

time t (in months) satisfies the Gompertz equation with M = 204 and k = 0.15 months~1 (Figure 13). Find P (t) [note
that P (0) = 200] and determine the population after 20 months.
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Rat population P(t)
200

100

+ : : +— t(mo)
10 20 30 40
FIGURE 13

SOLUTION The solution to the Gompertz equation with M = 204 and k = 0.15 is of the form:

P(t) = 204e2"*
Applying the initial condition allows us to solve for a:
200 = 204¢?
200 ,
— =g
204
200
In — =a
204

so that a = —0.02. After t = 20 months,

—0.02¢%15(0)

P (20) = 204e =136.51,

so there are 136 rats.

29. & A certain quantity increases quadratically: P(t) = Potz.
(a) Starting at time tg = 1, how long will it take for P to double in size? How long will it take starting at tg = 2 or 3?
(b) In general, starting at time tg, how long will it take for P to double in size?

SOLUTION Y
(a) Starting from tg = 1, P doubles when P(t) = 2P (1) = 2Py. Thus, Pgt? = 2Pgandt = 2. Starting from ty = 2,
P doubles when
P(t) = Pgt? = 2P(2) = 8P,
v_
Thus,t =2 2. Finally, starting from tg = 3, P doubles when
P(t) = Pot? = 2P(3) = 18Pg.

V_
Thus,t =3 2.
(b) Starting fromt = tg, P doubles when

P(t) = Pgt? = 2P(to) = 2Pot3.

v_
Thus,t =ty 2.
30. Verify that the half-life of a quantity that decays exponentially with decay constant k is equal to In 2/k.
SOLUTION Lety = Ce Kt e an exponential decay function. Let t be the half-life of the quantity v, that is, the time t
Cc Cc
wheny = 7 Solving 7 =Ce X fort we get —In2 = —kt, sot = In2/k.
31. Compute the balance after 10 years if $2,000 is deposited in an account paying 9% interest and interest is com-
pounded (a) quarterly, (b) monthly, and (c) continuously.
SOLUTION

(a) P(10) = 2000(1 + .09/4)4(10) = $4870.38

(b) P(10) = 2000(1 + .09/12)12(10) = $4902.71

(c) P(10) = 2000e-09(10) = $4919.21

32. Suppose $500 is deposited into an account paying interest at a rate of 7%, continuously compounded. Find a formula
for the value of the account at time t. What is the value of the account after 3 years?

SOLUTION Let P(t) denote the value of the account at time t. Because the initial deposit is $500 and the account pays

interest at a rate of 7%, compounded continuously, it follows that P (t) = 500e-07t. After three years, the value of the
account is P (3) = 500e-07(3) = $616.84.
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33. A bank pays interest at a rate of 5%. What is the yearly multiplier if interest is compounded
(a) yearly? (b) three times a year?

(c) continuously?

SOLUTION

(@) P(t) = Py(1 + 0.05)t, so the yearly multiplier is 1.05.
0.05 3t _ 0.05 3
(b) P)=Py 1+ 5 so the yearly multiplieris 1+ 5 = 1.0508.

() P(t) = Pyel95t 5o the yearly multiplier is e0-95 = 1.0513.
34. How long will it take for $4,000 to double in value if it is deposited in an account bearing 7% interest, continuously

compounded?

In2
SOLUTION The doubling time is % = 9.9 years.

35. Show that if interest is compounded continuously at a rate r, then an account doubles after (In2)/r years.

In2
SOLUTION The account doubles when P(t) = 2Py = Pge't,so2 = et and t = -

36. How much must be invested today in order to receive $20,000 after 5 years if interest is compounded continuously
at the rate r = 9%?

SOLUTION  Solving 20,000 = Pye®090) for Py yields

20000
Po = 5005 = $12,752.56.

37. An investment increases in value at a continuously compounded rate of 9%. How large must the initial investment
be in order to build up a value of $50,000 over a seven-year period?

SOLUTION  Solving 50,000 = Pye?-99(7) for Py yields

_ 50000

38. Compute the PV of $5,000 received in 3 years if the interest rate is (a) 6% and (b) 11%. What is the PV in these two
cases if the sum is instead received in 5 years?

SOLUTION In 3 years:

(@) PV =5000e"0-060) = $4176.35

(b) PV =5000e~0-11(3) = $3594.62

In 5 years:

(a) PV = 5000e~0-96() = $3704.09

(b) PV =5000e~0-11() = $2884.75

39. Is it better to receive $1,000 today or $1,300 in 4 years? Consider r = 0.08 and r = 0.03.

SOLUTION Assuming continuous compounding, if r = 0.08, then the present value of $1300 four years from now is

1300e—0:08(4) = $943.99. It is better to get $1,000 now. On the other hand, if r = 0.03, the present value of $1300 four
years from now is 1300e70-03(4) = $1153.00, so it is better to get the $1,300 in four years.

40. Find the interest rate r if the PV of $8,000 to be received in 1 year is $7,300.
SOLUTION Solving 7,300 = 8,000e "™ for r yields

7,300

r=-In 250

= 0.0916,

or 9.16%.

41. If a company invests $2 million to upgrade its factory, it will earn additional profits of $500,000/year for 5 years. Is
the investment worthwhile, assuming an interest rate of 6% (assume that the savings are received as a lump sum at the
end of each year)?

SOLUTION The present value of the stream of additional profits is
500,000(e 0-06 4 7012 4 =0.18 4 =024 4 =03y — ¢7 095,700.63.

This is more than the $2 million cost of the upgrade, so the upgrade should be made.
42. A new computer system costing $25,000 will reduce labor costs by $7,000/year for 5 years.
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(a) Isitagood investment if r = 8%?

(b) How much money will the company actually save?
SOLUTION

(a) The present value of the reduced labor costs is

7000(6_0'08 + e—0.16 + e—0.24 + e—0.32 + e—0.4) = $27,708.50.

This is more than the $25,000 cost of the computer system, so the computer system should be purchased.
(b) The present value of the savings is

$27,708.50 — $25,000 = $2708.50.

43. After winning $25 million in the state lottery, Jessica learns that she will receive five yearly payments of $5 million
beginning immediately.

(&) What is the PV of Jessica’s prize if r = 6%7?

(b) How much more would the prize be worth if the entire amount were paid today?

SOLUTION
(a) The present value of the prize is

5,000,000(e 0-24 + ¢70-18 4 7012 4 —0.06 4 ,—06(0)y = 22 252 915.21.

(b) If the entire amount were paid today, the present value would be $25 million, or $2,747,084.79 more than the stream
of payments made over five years.

44. An investment group purchased an office building in 1998 for $17 million and sold it 5 years later for $26 million.
Calculate the annual (continuously compounded) rate of return on this investment.

SOLUTION Solving 26 = 17e for r yields

1. 26
r= g'”ﬁ = 0.085,

or 8.5%.

45. Use Eq. (3) to compute the PV of an income stream paying out R(t) = $5,000/year continuously for 10 years and
r =0.05.
10 10
SOLUTION PV = 5,000e %%t gt = —100,000e 0%t = $39,346.93.
0
46. Compute the PV of an income stream if income is paid out continuously at a rate R(t) = $5,000e%-1t/year for 5
years and r = 0.05.

5 5 5
soLution PV = ¢01t5000e7005 gt = 50006095t gt = 100,000e%-0%t = $28,402.54.
0 0 0

47. Find the PV of an investment that produces income continuously at a rate of $800/year for 5 years, assuming an
interest rate of r = 0.08.

5 5
SOLUTION PV =  800e 908t gt = —10,000e 908t = $3296.80.
0 0

48. The rate of yearly income generated by a commercial property is $50,000/year at t = 0 and increases at a continu-
ously compounded rate of 5%. Find the PV of the income generated in the first four years if r = 8%.

4 50000 4
SOLUTION PV =  50,000e005te0.08t gy = == =0.03t
0 0.03 0

49. Show that the PV of an investment that pays out R dollars/year continuously for T years is R(1 —e™"T)/r, where
r is the interest rate.

= $188,465.96.

SOLUTION The present value of an investment that pays out R dollars/year continuously for T years is
T
PV = Re "dt.

Letu = —rt, du = —r dt. Then
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50. & Explain this statement: If T is very large, then the PV of the income stream described in Exercise 49 is
approximately R/r.

SOLUTION Because
. _ i 1
lim e T = lim — =0,
T oo T_oogl

it follows that

R
lim —(1—e"T)=
Tﬂool’( )

-‘|;U

51. Suppose that r = 0.06. Use the result of Exercise 50 to estimate the payout rate R needed to produce an income
stream whose PV is $20,000, assuming that the stream continues for a large number of years.

R R
SOLUTION From Exercise 50, PV = . s0 20000 = 06 or R = $1200.

52. Verify by differentiation

—rt
tetgr=—> ") (12+ " (6]
r

Use Eq. (6) to compute the PV of an investment that pays out income continuously at a rate R(t) = (5,000 + 1,000t)
dollars/year for 5 years and r = 0.05.

SOLUTION
d e "@+rt)y -1 _ -1 _ _ _ _
— = = e+ @+rt)(—re™) = = e —eT M —pteT ="t
it 2 2 () +( )( ) =
Therefore
5 5 5
PV = (5000 +1000t)e 0%t dt = 50006 0%t gt +  1000te %05t gt
0 0 0
5000 , _ e 005G) (1 + .05(5 1
= 2000 ~0.05(5) _ 1y _ 1000 ( Q)N 1000—L
—0.05 (0.05)2 (0.05)2

= 22119.92 — 389400.39 + 400000 = $32,719.53.

53. Use Eq. (6) to compute the PV of an investment that pays out income continuously at a rate R(t) = (5,000 +
1,000t)e0-92t gollars/year for 10 years and r = 0.08.

SOLUTION

10
PV

10 10
(5000 + 1000t)(e%02)e 008t gt = 5000e™ 0%t gt +  1000te 006t gt
0 0

5000
—0.06

e~0:06(20)(1 + 0.06(10))
000
(0.06)2 (0.06)2

37599.03 — 243916.28 + 277777.78 = $71,460.53.

(e0-06010) — 1) — 1000

54, & Banker’s Rule of 70 Bankers have a rule of thumb that if you receive R percent interest, continuously
compounded, then your money doubles after approximately 70/R years. For example, at R = 5%, your money doubles
after 70/5 or 14 years. Use the concept of doubling time to justify the Banker’s Rule. (Note: Sometimes, the approxima-
tion 72/R is used. It is less accurate but easier to apply because 72 is divisible by more numbers than 70.)

SOLUTION The doubling time is

_In2 _In2.100 _ 6993 _ 70
“r T % T % %
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Further Insights and Challenges

55. & Isotopes for Dating Which of the following isotopes would be most suitable for dating extremely old
rocks: Carbon-14 (half-life 5,570 years), Lead-210 (half-life 22.26 years), and Potassium-49 (half-life 1.3 billion years)?
Explain why.

SOLUTION For extremely old rocks, you need to have an isotope that decays very slowly. In other words, you want a
very large half-life such as Potassium-49; otherwise, the amount of undecayed isotope in the rock sample would be too
small to accurately measure.

56. Let P = P(t) be a quantity that obeys an exponential growth law with growth constant k. Show that P increases
m-fold after an interval of (Inm)/k years.

. . Inm
SOLUTION For m-fold growth, P(t) = mPq for some t. Solving mPy = Poekt fort,wefindt = S

57. & Average Time of Decay Physicists use the radioactive decay law R = Roe_kt to compute the average

or mean time M until an atom decays. Let F(t) = R/Rg = ekt be the fraction of atoms that have survived to time t
without decaying.

(a) Find the inverse function t(F).
(b) The error in the following approximation tends to zeroas N — oo:

1 N

N oy

M = mean time to decay = t

J
N
1
Argue that M = t(F)dF.
0

(c) Verify the formula Inx dx = x Inx — x by differentiation and use it to show that for ¢ > 0,

! 1.1
t(F)dF = -+ —(cInc—c)
¢ k Kk

(d) Verify numerically that Iimo(c —clnc) =0.
[N
(e) The integral defining M is “improper” because t(0) is infinite. Show that M = 1/k by computing the limit
1
M = lim t(F)dF
c-0 ¢

(f) What is the mean time to decay for Radon (with a half-life of 3.825 days)?

SOLUTION

InF
(@ F=eKsolnF =—ktandt(F) = —

1
(b)y M = N ;-\'21 t(j/N). For the interval [0, 1], from the approximation given, the subinterval length is 1/N and thus
the right-hand endpoints have x-coordinate (j/N). Thus we have a Riemann sum and by definition,
1 N 1
lim — t(j/N) = t(F)dF.
N oo N j=l 0

d 1
c) —(xInx—x)=x = +Inx—1=Inx.Thus
© 4 ( )=x -

1 1 1 1
t(F)dF = —— (FInF—F) = —(F—FInF)
c k c k c
1
:E(l—llnl—(c—clnc))
1 1
= — + — —0).
” I((clnc c)
(d) Letg(c) =clInc—c. Then,
c 0.01 0.001 0.0001 0.00001

g(c) | —0.056052 | —0.007908 | —0.001021 | —0.000125
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Thus, asc — O+, it appears that g(c) — 0.

1t(F)dF—Iim 1+1(clnc—c) =
T o0 koK -

~Il =

e) M= lim
(e) Jim)

. e . In2 1
(f) Since the half-life is 3.825 days, k = 3?;? and K = 5.52. Thus, M = 5.52 days.

58. The text proves that e = nIimoo(l + %)”. Use a change of variables to show that for any x,

. X n i 1
lim 1+— = lim 1+H

n— oo n n-— oo
Use this to conclude that eX = lim (1 + £)".
n—- oo

SOLUTION Lett =x/n. Then

n - oo

. X . 1 . 1
Iim 1+- = Ilim 1+ - = lim 1+ -
n t n

1 n
Sincee=limp_ 0 1+ -
n

X . 1 . X
e’ = lim 1+ - = lim 1+H

n - oo n n - oo

59. Use Eq. (4) to prove that forn > 0,
1+ 1 <es 1+ -
n n

SOLUTION Eg. (4) states
QU+ =g 4 L _gin
n

Thus from the right-hand side (raise both sides to n),

Furthermore, from the left-hand side (raise both sides to n + 1)
n+1
e< 1+ —
n
Thus,

1N n+1
1+ — <e<s 1+ -—
n n

60. A bank pays interest at the rate r, compounded M times yearly. The effective interest rate re is the rate at which
interest, if compounded annually, would have to be paid to produce the same yearly return.

(a) Find re if r = 9% compounded monthly.

(b) Show thatre = (1 +r/M)M — 1 and that re = e" — 1 if interest is compounded continuously.
(c) Findre ifr = 11% compounded continuously.

(d) Find the rate r, compounded weekly, that would yield an effective rate of 20%.

SOLUTION
(2) Compounded monthly, P(t) = Pg(1 + r/12)12t. By the definition of re,

Po(1 + 0.09/12)120 = py(1 + re)t
SO
(1+0.09/12)12' = (1 +re)t or re = (1+0.09/12)12 — 1 = 0.0938,

or 9.38%
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(b) In general,
Po(1+r/M)M' = Po(1 + o),

so(1+ r/M)’VIt = (L+re)orre =1+ r/M)'VI — 1. Ifinterest is compounded continuously, then Pge" = Py(1 +re)!
soet = (@ +re)lorre=e —1.
(c) Using part (b), re = %11 —1 = 0.1163 or 11.63%.
(d) Solving
r 52

020= 1+—- -1
52

for r yields r = 52(1.21/52 — 1) = 0.1826 or 18.26%.

CHAPTER REVIEW EXERCISES

In Exercises 1-4, refer to the function f (x) whose graph is shown in Figure 1.

y

3

2

1. Estimate L4 and M4 on [0, 4].
SOLUTION Withn =4 and an interval of [0,4], x = % = 1. Then,
1 5 23
Lg= x(fO)+f(Q)+f(2)+f@R)=1 3 +1+ §+2 = 7

and

2. Estimate R4, L4, and My on [1, 3].
SOLUTION Withn =4 and an interval of [1,3], x =371 = 3. Then,

3 5 1 5 9 35
Rgq = f - +f@Q+f - +f =2 2+-—+Z+4+2 =;
4= X 2 @ 2 ® =3 2 4 8
3 5 1 5 9 3l
= =+ - + =+ — = — +2+-+- = —:
Le= x fQ+1 5 +f@+f > S 12 o5 and
5 9 11 13 9 5 17 67
= Z o+ -+ -+ = =2 T4+ =,
Ma=x T 7 +f1 f t 3 2 2747278 T 16
b

3. Find an interval [a, b] on which Ry is larger than f (x) dx. Do the same for L4.
a

SOLUTION In general, Ry is larger than ;’ f(x)dx on any interval [a, b] over which f(x) is increasing. Given the
graph of f(x), we may take [a, b] = [0, 2]. In order for L4 to be larger than ab f(x)dx, f(x) must be decreasing over
the interval [a, b]. We may therefore take [a, b] = [2, 3].

7 2 9
4. Justify 2 < f(x)dx < T
1

SOLUTION Because f(x) is increasing on [1, 2], we know that

2
Ly < f(x)dx = Ry
1
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for any N. Now,

SO

In Exercises 5-8, let f(x) = x2 + 4x.

5. Calculate Rg, Mg, and Lg for f(x) onthe interval [1, 4]. Sketch the graph of f (x) and the corresponding rectangles
for each approximation.

SOLUTION Let f(x) = x2 + 4x. A uniform partition of [1, 4] with N = 6 subintervals has

x—4_1—1 x-—a+'x—1+j
T 20 gTAmibxERTa
and
X;i =a+ 1L x—3+j
A i
Now,
6 1 3 5 7
Rg = X fxp=5 f 5 +fT@Q+f - +fQ)+f - +1(4)
=1 2 2 2 2
:E §+12+§+21+%+32 :@_
2 4 4 4 8
The rectangles corresponding to this approximation are shown below.
y
351
30+
25+
20 1
15+
101
5,
+ X
1 2 3 4
Next,
6
1 5 7 9 11 13 15
Mg = X f(xj)z—f—+f—+f—+f—+f—+f—
j=1 2 4 4 4 4 4 4

1 105 161 A 225 297 377 465 1630 _ 815
+ + + + + = =

2 16 16 16 16 16 16 2 16"
The rectangles corresponding to this approximation are shown below.
y
351
30+
251
20 {
151
10 1
5,
X
1 2 3 4
Finally,
Le = X : f(x-)—l f(r)+f 3 +f@2)+ f > +f@R)+ f !
6= 1772 2 2 2



650 CHAPTER 5 | THE INTEGRAL

1 33 65 105 355
=2 54+ +124+ — 421+ = ="
> 5 2 12 ) 21 ) 3

The rectangles corresponding to this approximation are shown below.

y

6. Find a formula for Ry for f(x) on [1, 4] and compute f (x) dx by taking the limit.
1

SOLUTION Let f(x) = x2 +4x and N be a positive integer. Then

4—1 3
X=— = —
N N
and
. 3]
Xj=a+] x=1+WJ
for0< j < N. Thus,
N N ;2 ; N : 2
3 3 3 3 18 9
Ru= X f(x))=—~ 1+ g1 =2 5 BN
. N . N N N ._ N N2
=1 = j=1
15 N sa N7 N 27(N+1)  9(N +1)(2N +1)
ZW l+—2 i+ jc=15+ N + 5
=t N%j= NY o 2N
Finally,
4 27(N +1)  9(N +1)@2N +1
f(x)dx = lim 15+ ( )+( X ) =15+27+9 =51.
1 N oo N 2N?2
2
7. Find a formula for Ly for f(x) on [0, 2] and compute f (x) dx by taking the limit.
0
SOLUTION Let f(x) = x2 +4x and N be a positive integer. Then
2—0 2
X = ——= —
N N
and
. 2j 2]
= a+ =0+ == —
X j X N N
for0 < j < N. Thus,
N—-1 o N-1 4j2  8j g N-1 16 N1
SRR Mt VR e VR VN B A
j=0 j=0 j=0 j=0
_AN-DEN-1) 8(N-1) _32 12 4 _
3N2 N 3 N 3NZ
Finally,
2 32 12 4 32
f(x)dx= Iim —+—+— =—
) Noeco 3 N  3N2 3

X
8. Use FTC I to evaluate A(x) = f(t)dt.
2
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SOLUTION Let f(x) = x2 + 4x. Then

X 2 13 .2 " 13 2
AX) = (t+4t)dt = —t°>+2t = X"+ 2x° —
- 3 ., 3

_ 13,52

16
+2X° — —
3

wl o
+
@
|
<

9. Calculate Rg, Mg, and Lg for f(x) = (x2 + 1)™1 on the interval [0, 1].
SOLUTION Let f(x) = (x2 +1)~L. A uniform partition of [0, 1] with N = 6 subintervals has

x:ﬂzl, xj:a+jx:i,
6 6 6
and
SR S
2 12
Now,
6 1 1 1 1 2 5
Rg = xJ:lf(xJ):g f 5 + f 3 + f 3 + f 3 + f 5 + f(2)
= Dl wte el =0mn
Next,
6 1 5 7 3 11
Mg = xj:1f(x1= fE+f_+fﬁ+fE+fZ+fﬁ
1 144 16 144 144 16 144
=5 E+ﬁ+ﬁ+@+g+ﬁ = 0.785977.
Finally,
> 1 1 1 1 2
Lg = szof(xj-):g f(O)+ f 5 + f 3 + f 3 + f 3 +f =
1 36 9 4 9 36
=5 “ﬁ*ﬁ*%*ﬁ*ﬁ = 0.825907.
10. Let Ry be the Nth right-endpoint approximation for f(x) = x3 on [0, 4] (Figure 2).
(a) Provethat Ry = 64('\:\'—;1)2
(b) Prove that the area of the region below the right-endpoint rectangles and above the graph is equal to
64(2N + 1)
N2

64

X

12 3 4
FIGURE 2 Approximation Ry for f(x) = x3 on [0, 4].

SOLUTION
(@) Let f(x) =x3and N be a positive integer. Then
4—-0 4 4j 4j
=N N and Xj=a+]j x=O+WJ=WJ
for0 < j < N. Thus,
N 4 Noeaj3 256 N o 256 NZ(N +1)2 _ 64(N + 1)

—_— J:

N4 4 N2
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(b) The area between the graph of y = x3 and the x-axis over [0,4] is
4 1,4
x3dx = >x* =64
0 S
The area of the region below the right-endpoint rectangles and above the graph is therefore
64(N + 1)2 64(2N + 1)
———— —64=——".
N2 N2

11. Which approximation to the area is represented by the shaded rectangles in Figure 3? Compute Rg and Ls.

y
30

18+

X

1 2 3 4 s
FIGURE 3

SOLUTION There are five rectangles and the height of each is given by the function value at the right endpoint of the
subinterval. Thus, the area represented by the shaded rectangles is Rs.
From the figure, we see that x = 1. Then

Rs=1(30+18+6+6+30)=90 and Ls=1(30 + 30 + 18 + 6 + 6) = 90.

12. Calculate any two Riemann sums for f(x) = x2 on the interval [2, 5], but choose partitions with at least five
subintervals of unequal widths and intermediate points that are neither endpoints nor midpoints.

SOLUTION Let f(x) = x2. Riemann sums will, of course, vary. Here are two possibilities. Take N = 5,
P={xp=2,x1 =2.7,xp =3.1,x3 = 3.6, X4 = 4.2, x5 = 5}
and
C ={c1 =25,cp =3,c3 =3.5,c4 =4,c5 = 4.5}.
Then,
R(f,P,C) = xj f(cj) = 0.7(6.25) + 0.4(9) + 0.5(12.25) + 0.6(16) + 0.8(20.25) = 39.9.
j=1
Alternately, take N = 6,
P ={xp=2,x1 =2.5,xp =3.5,x3 =4,Xq4 = 4.25,x5 = 4.75, Xxg = 5}

and

C ={c;1=21,cp=3,c3=3.7,c4 =4.2,c5 = 4.5,c5 = 4.8}.
Then,

6
R(f,P,C) = xj f(cj)
j=1

= 0.5(4.41) + 1(9) + 0.5(13.69) + 0.25(17.64) + 0.5(20.25) + 0.25(23.04) = 38.345.

In Exercises 13-34, evaluate the integral.

13, (6x° — 9x° + 4x) dx
3
SOLUTION  (6x3 —9x2 +4x)dx = §x4—3x3+2x2+c.

1
14.  (4x3 —2x%)dx
0



1 1.1
SOLUTION @x3—2x%dx= x*—-2x8 =
0 3 o

15, (2x3 —1)%dx
SOLUTION (2x3 - 1)2 dx =

4
16. (x5/2 —2x_l/2)dx
1

1
1—=
3

Chapter Review Exercises

N

—(0-0="7.

4
(4x6—4x3+1)dx: ?x7—x4+x+C.

4 256 2 226
SOLUTION (x5/2—2x_1/2)dx= SxM2 _ yx1/2 — =8 - -—4 =—.
1 7 1 7 7 7
44
7. Xl
X2
x*+1 2 =2 1s_ -1
SOLUTION 3 dx =  (x°+x )dngx —Xx ~+C.
X
4
18. r=2dr
1
4 14 1 3
SOLUTION r2dr=-= =--—(-1)="1.
1 rq 4 4
4
19. [x2 — 9] dx
-1
SOLUTION
4 3 4 1 3 1 4
|x2—9|dx= (9—x2)dx+ (x2—9)dx= 9x — =x3 + Zx3—ox
-1 -1 3 3 -1 3
1 64
=27-9)— —9+§ 3—36 —(9—27) = 30.
3
20. [t]dt
1
SOLUTION
3 2 3 2 3 2 3
[t]dt = [t]dt+ [t]dt = dt + 2dt=t +2t =(Q2-1)+(6—4)=3.
1 1 2 2 1 2
21, csc26de
SOLUTION csc?26dO = —cot 6 + C.
/4
22. secttant dt
0
n/4 /4 ~/_
SOLUTION secttantdt = sect = 2—-1
0 0

23. sec2(9t —4)dt

SOLUTION Letu =9t —4. Then du = 9dt and
1
secz(9t —4)dt = g

/3
24, sin46do
0

1 1
sec?udu = 5tanu+C = 5tan(9’[—4)+C.

SOLUTION Letu =46. Thendu = 4d6 and when 6 = 0, u = 0 and when 6 = % u= %”. Finally,

/3 4n/3

1
sin46df = -
0 4 9

sinudu=—zcosu =—

4n/3

|

|

|

=

Il
ol w

1
0 4
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25. (9t —4)dt

SOLUTION Letu =9t —4. Then du = 9dt and

@ -4tdt=5 ultdu=u?+C = ToE-a+c.

9 108

2

26. 4y + 1dy
6

SOLUTION Letu =4y + 1. Thendu = 4dy and wheny = 6,u = 25and when y = 2, u = 9. Finally,

2 19 1,7 1 49
dy+1dy=- uM2du= 03?2 =_(@7-128)=——.
6 4 25 6 25 6 3
27.  sin?(36) cos(36) d6
SOLUTION Letu =sin(36). Then du = 3cos(368)dH and
1 1 1
sin%(36) cos(36) d6 = 3 u?du = §u3 +C= §sin3(3e) +C.
/2
28. secz(cos 6)sin6do
0
SOLUTION Letu =cos®O. Thendu = —sin8d6 and when 8 =0, u = 1 and when 6 = % u = 0. Finally,
/2 0 0
secz(cos 0)sinf6do = — secudu=—tanu = —(0—tanl) =tanl.
1 1

(2x3 + 3x) dx
(3x4 +9x2)°

SOLUTION Letu = 3x# +9x2. Then du = (12x3 + 18x) dx = 6(2x3 + 3x) dx and

29.

233 +3x)dx 1 _ 1 _ 1 _
@Cr3dx 1 s =1y frc=—=@Ex*+x?) 4 +C.
(Bx4+9x2)5 6 24 24

-2
30, 12x dx
-4 (x2+2)3
SOLUTION Letu = x2 + 2. Thendu = 2x dx and when x = —2, u = 6 and when x = —4, u = 18. Finally,

6 1 1 2

—2 12xdx 6 3
———==6 udu=-—— -—— = .
4 (x2+2)3 18 u2 g 12 108 27

v
31. sin@ 4-—cosBd6

SOLUTION Letu=4—cos6. Thendu =sin6d6 and

v 2 2
sind 4—cosfdo = ul2du= §u3/2+c = §(4—cose)3/2+c.

/3 o
3 sin@
0o cos¥39
SOLUTION Letu =cos6. Thendu = —sin6d6 and when 6 = 0, u = 1 and when 6 = % u= % Finally,
/3 1/2 1/2 V-
sin@ _ _ 3
—mrdo=—  uPdu=-3® =32 -1=3-"—
0 cos“/° 0 1 1

33.  y 2y+3dy
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SOLUTION Letu =2y +3.Thendu = 2dy, y = 1(u —3) and

y 2y+3dy= % W _3)\/Udu _ % %2 — 32 qu
- % 2“5/2 —a¥? +c= 11—0(2)’ +3)%/2 — %(Zy +3)324C.
8 V____
M 2 t+8dt
SOLUTION Letu=t+8 Thendu=dtandt=u—8 Whent=1,u=9andwhent =8, u = 16. Thus,
8 v___

16 +_ 16
2 t+8dt= (u—28)? udu= (u%?2 — 16u%2 + 64ul/2) du
9 9

2 20 32 55 128 5, © 66838
—ut— —u+ —u =—.
7 5 3 o 105

35. Combine to write as a single integral

0 6

8
f(x)dx + f(x)dx + f(x)dx
0 2 8

SOLUTION First, rewrite

8 6 8
f(x)dx = f(x)dx + f(x)dx
0 6

and observe that

6 8
f(x)dx = — f(x)dx.
6

Thus,
8 6 6
f(x)dx + f(x)dx = f(x)dx.
8 0
Finally,
8 0 6 6 0 6
f(x)dx + f(x)dx + f(x)dx = f(x)dx + f(x)dx = f(x)dx.
0 -2 8 0 -2 -2
X
36. Let A(x) = f (x) dx, where f(x) is the function shown in Figure 4. Indicate on the graph of f where the local

minima, maxima, and points of inflection of A(x) occur and identify the intervals where A(x) is increasing, decreasing,
concave up, or concave down.

y

ron
V4

FIGURE 4

SOLUTION Let f(x) be the function shown in Figure 4 and define

X

AX) = f(x)dx.
0

Then A (x) = f(x) and A (x) = f (x). Hence, A(x) is increasing when f(x) is positive, is decreasing when f (x)
is negative, is concave up when f(x) is increasing and is concave down when f(x) is decreasing. It then follows that
A(x) is increasing until the first root of f(x), is decreasing between the first and second roots, is increasing between the
second and third roots, is decreasing between the third and fourth roots and is increasing between the fourth and fifth
roots. Moreover, A(x) has a local maximum at the first and third roots and has a local minimum at the second and fourth
roots. Moving from left to right, A(x) is concave down, concave up, concave down, concave up and finally concave
down, with transitions in concavity, and therefore points of inflection, at the locations of each of the local extreme values
of f(x).
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X tdt
37. Find inflection points of A(x) = .
3 t2+1
SOLUTION Let
X tdt
A(x) = .
() s P41
Then
X
AX)= ———
)= 5y
and

(2 +1)@)—x(@2x) _ 1—x°
(2+12  (x2+ 12

A (x)=

Thus, A(x) is concave down for [x]| > 1 and concave up for |x| < 1. A(x) therefore has inflection points at x = %1.

38. A particle starts at the origin at time t = 0 and moves with velocity v(t) as shown in Figure 5.
(a) How many times does the particle return to the origin in the first 12 s?
(b) Where is the particle located at time t = 12?
(c) At which time t is the particle’s distance to the origin at a maximum?

v(t) m/s
4
2

t(s)
10

-4

FIGURE 5

SOLUTION Because the particle starts at the origin, the position of the particle is given by

t
s(t) = v(7)dT;
0

that is by the signed area between the graph of the velocity and the t-axis over the interval [0, t]. Using the geometry
in Figure 5, we see that s(t) is increasing for 0 <t < 4 and for 8 <t < 10 and is decreasing for 4 <t < 8 and for
10 <t < 12. Furthermore,

s(0)=0m,s(4) =4m,s(8) =—4m,s(10) = —2m, and s(12) = —6 m.

(a) In the first 12 seconds, the particle returns to the origin once, sometime between t = 4 and t = 8 seconds.
(b) As noted above, the particle is 6 meters to the left of the origin at t = 12 seconds.
(c) The particle’s distance to the origin is at a maximum at t = 12 seconds.
39. On a typical day, a city consumes water at the rate of r(t) = 100 + 72t — 3t2 (in thousands of gallons per hour),

where t is the number of hours past midnight. What is the daily water consumption? How much water is consumed
between 6 PM and midnight?

SOLUTION  With a consumption rate of r(t) = 100 + 72t — 3t2 thousand gallons per hour, the daily consumption of
water is

24 24
(100 + 72t — 3t2)dt = 100t +36t2 —t3 = 100(24) + 36(24)% — (24)% = 9312,
0 0
or 9.312 million gallons. From 6 PM to midnight, the water consumption is
24
(100 + 72t — 3t?)dt = 100t + 36t> —t3
18
= 100(24) + 36(24)% — (24)% — 100(18) + 36(18)% — (18)°

= 9312 — 7632 = 1680,

or 1.68 million gallons.
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40. The learning curve for producing bicycles in a certain factory is L(x) = 12x 75 (in hours per bicycle), which
means that it takes a bike mechanic L(n) hours to assemble the nth bicycle. If 24 bicycles are produced, how long does
it take to produce the second batch of 12?

SOLUTION The second batch of 12 bicycles consists of bicycles 13 through 24. The time it takes to produce these
bicycles is

2 24
12x Y5 dx = 15x%° =15 24%/5 —13%5 = 73.91 hours.
13 13

41. Cost engineers at NASA have the task of projecting the cost P of major space projects. It has been found that the
cost C of developing a projection increases with P at the rate dC/dP = 21P 7065 \where C is in thousands of dollars
and P in millions of dollars. What is the cost of developing a projection for a project whose cost turns out to be P = $35
million?

SOLUTION Assuming it costs nothing to develop a projection for a project with a cost of $0, the cost of developing a
projection for a project whose cost turns out to be $35 million is

35 35
21P7965gp =60P035 = 60(35)23% = 208.245,
0 0

or $208,245.

42. The cost of jet fuel increased dramatically in 2005. Figure 6 displays Department of Transportation estimates for
the rate of percentage price increase R(t) (in units of percentage per year) during the first 6 months of the year. Express
the total percentage price increase | during the first 6 months as an integral and calculate I. When determining the limits
of integration, keep in mind that t is in years since R(t) is a yearly rate.

Y%lyear

[ F M A M J Month
FIGURE 6

SOLUTION The total percentage increase in the cost of jet fuel during the first six months of 2005 is given by
0.5
| = R(t) dt.
0

Using the data in Figure 6, we estimate

1
I = E(34'4 + 36 +47.1+57.1 + 42.8 + 45.2) = 21.88%.

43. & Let f(x) be a positive increasing continuous function on [a, b], where 0 < a < b as in Figure 7. Show that
the shaded region has area

b
I =bf(b)—af(a)—  f(x)dx
a

y=f(x)

a b
FIGURE 7

SOLUTION We can construct the shaded region in Figure 7 by taking a rectangle of length b and height f(b) and
removing a rectangle of length a and height f (a) as well as the region between the graph of y = f(x) and the x-axis
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over the interval [a, b]. The area of the resulting region is then the area of the large rectangle minus the area of the small
rectangle and minus the area under the curve y = f(x); that is,

b
I =bf(b)—af(a)—  f(x)dx.
a

44, & How can we interpret the quantity | in Eq. (1) if a < b < 0? Explain with a graph.

soLuTION We will consider each term on the right-hand side of (1) separately. For convenience, let I, 11, I11 and IV
denote the area of the similarly labeled region in the diagram below.

Because b < 0, the expression bf (b) is the opposite of the area of the rectangle along the right; that is,
bf(b) =—11—1V.
Similarly,
b
—af@)=1l1+1V and - f(x)dx =—=I1—1l1l.
a
Therefore,
b
bf(b) —af(@) — f(x)dx =—=1—11,;
a

that is, the opposite of the area of the shaded region shown below.

In Exercises 45-49, express the limit as an integral (or multiple of an integral) and evaluate.

N .
2 2
45. lim — sin 2
N - oo j=1
SOLUTION Let f(x) =sinx and N be a positive integer. A uniform partition of the interval [0, 2] with N subintervals
has
2 2j
= — nd = -
X N a Xj N
forO< j < N.Then
N ; N
2 2
— sin ad - X f(xj) =Rn;
N ._ N i
j=1 j=1
consequently,
N 2j 2 2
lim — sin — = sinxdx = —cosx =1—cos2.
N oo N j=1 N 0 0
N
4 4k
46. lim — 3+ —
N oo N N
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SOLUTION Let f(x) = x and N be a positive integer. A uniform partition of the interval [3, 7] with N subintervals
has

4 4k
X=— and Xk =3+ —
N N

forO<k < N. Then

N N
4 4k
N 3+W = X f(xk) = Rn;
k=1 k=1
consequently,
N 7 7
4 4k 1 1
lim — 3+ — = xdx=-x? =3(49-9)=20.
N oo N k=1 N 3 3 2
N—-1 ;
.m noomj
47. lim — sin -+ —
N-oco N i=0 2 N

SOLUTION Let f(x) = sinx and N be a positive integer. A uniform partition of the interval [r/2, 31/2] with N
subintervals has

m moTj
X=— and Xj =5+
N 2 N
for0< j < N.Then
N—1 : N—1
m non
N sin §+WJ = X f(xj)=Ln;
j=0 j=0
consequently,
) N1, j 3n/2 3n/2
lim — sin -+ — = sinx dx = —cosx =0.
Nooo N i=o 2 N n/2 n/2

N
4 1
48. lim — PTv]
N*°°Nk=1(3+w)

SOLUTION Let f(x) = x"2and N bea positive integer. A uniform partition of the interval [3, 7] with N subintervals
has

4 4k
X=— and Xk =3+ —
N k N

forO<k < N. Then

N -2 N
4 4k
N 3 N = X f(xk) = RN;
k=1 k=1
consequently,
N -2 7 7
4 4k 1 1 1
lim — 3+ — = x?%dx=-- =-I- -2 =_
N-oo N\ _, N 3 X3 7 3 2
1k 2k 4. Nk
49. lim ———————— (k>0)

N - oo Nk+1
SOLUTION Observe that
k 1 N -k

N J
N Ny N

k 2 k 3 k
+ — + —
N N

1k+2k+3k+.”+Nk

1
Nk+1 N

Z|

Now, let f(x) = xK and N be a positive integer. A uniform partition of the interval [0, 1] with N subintervals has

1
X = —
N

and Xj =ﬁ
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for0< j < N.Then

N k N
1
S E = x f) =R
i=1 =1
consequently,
N k 1 1 1 1
lim — 1o Tykax= Xkl = -
NaooNl 1 N 0 k+1 o k+1
/4 ngX
50. Evaluate — using the properties of odd functions.
—n/4 COS® X
SOLUTION Let f(x) = Xg and note that
C0Ss“ X
(=x)° x?
f(—x) = =- =—f(x).
(=) c0s2(—x) cos? x )

Because f(x) is an odd function and the interval —% =x< % is symmetric about x = 0, it follows that

/4 X9

— /4 COS2 X

1
51. Evaluate f (x) dx, assuming that f (x) is an even continuous function such that
0

2 1
f(x)dx =5, f(x)dx =8
-2
SOLUTION Using the given information
2 1 2
f(x)dx = f(x)dx + f(x)dx =13.
-2 -2 1

Because f(x) is an even function, it follows that

0 2
f(x)dx = f(x)dx,
2 0

SO

2 13
f(x)dx = >

Finally,
1 2 2 13 3
f(x)dx = f(x)dx — f(x)dx = ——-5=—.
0 1 2 2
52. \GU|  Plot the graph of f(x) = sinmx sinnx on [0, 77] for the pairs (m, n) = (2, 4), (3, 5) and in each case guess
n
the value of | = f (x) dx. Experiment with a few more values (including two cases with m = n) and formulate a

. 0 .
conjecture for when 1 is zero.

SOLUTION The graphs of f(x) = sinmx sinnx with (m,n) = (2,4) and (m, n) = (3, 5) are shown below. It appears
as if the positive areas balance the negative areas, so we expect that

n
| = f(x)dx =0
0
in these cases.

(2,4) 3,5)
0.5t 0.51

A .

+ + + + + X + 4 + + +
05\1 75\ 2 p5 3 o.v 15 2\7/5 3
-051 -05
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We arrive at the same conclusion for the cases (m, n) = (4, 1) and (m, n) = (5, 2).

y y
4,1) (5,2)

0.5 0.5

N A W AANN o
05\1 1f 2 )\5/9' o8 1/18/2 2
-05 -05

However, when (m, n) = (3, 3) and when (m, n) = (5, 5), the value of

TT
| = f(x)dx

0

is clearly not zero as there is no negative area.

y y
0.5 051

X

05 1 15 2 25 3 05 1 15 2 25 3
-05 -051
(3.3) (5,5)

We therefore conjecture that | is zero whenever m = n.
53. Show that

x f(x)dx = xF(x) — G(x)
where F (x) = f(x) and G (x) = F(x). Use this to evaluate  x cos x dx.
SOLUTION Suppose F (x) = f(x)and G (x) = F(x). Then
dd—X(XF(x) —GX)) =xF (x) + F(x) =G (x) = xf(x) + F(x) — F(x) = xf(x).
Therefore, x F(x) — G(x) is an antiderivative of x f (x) and
xf(x)dx = xF(x) — G(x) +C.
To evaluate  x cos x dx, note that f(x) = cos x. Thus, we may take F(x) = sinx and G(x) = —cos x. Finally,

xcosx dx = xsinx +cosx + C.

54. Prove

2
2< 2Xdx <4 and
1

2
< 3 Xdx <
1

Ol -
w| =

661

SOLUTION The function f(x) = 2% is increasing, so 1 < x < 2 implies that 2 = 21 < 2X < 22 = 4. Consequently,

2 2 2
2= 2dx < 2Xdx < 4dx =4,
1 1 1

On the other hand, the function f(x) = 37* is decreasing, so 1 < x < 2 implies that

It then follows that
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2
55. Plot the graph of f(x) = x2sinx and show that 0.2 < f(x)dx < 0.9.
1

2

SOLUTION Let f(x) = x™“sinx. From the figure below, we see that

02< f(x)<0.9

for 1 < x < 2. Therefore,

1 1 1
0.2= 0.2dx = f(x)dx < 0.9dx =0.9.
0 0 0

y
14

0.8 1
0.6
X~%sin x
0.4

0.2

0.5 1 15 2

1
56. Find upper and lower bounds for f (x) dx, where f(x) has the graph shown in Figure 8.
0

y:x2+1

y=f(x)
y=Vx+1

1
FIGURE 8

V_
SOLUTION From the figure, we see that the inequalities x2 + 1 < f(x) < X + 1 hold for 0 < x < 1. Because

1 1 L og
x2+1dx= =x3+x =-
0 3 3

and
1/_ 2 1 5

(Cx+1dx= =x¥2+x =2

0 3 3

it follows that
1

4 5
- < f dx < —.
3=, dx=3
In Exercises 57-62, find the derivative.
X
57. A (x), where A(x) = sin(t®)dt
3
X
SOLUTION Let A(x) = sin(ts) dt. Then A (x) = sin(x3).
3
X
t
58. A (m), where A(x) = cost dt
2 1+t
X cost coSs X
SOLUTION Let A(x) = ——dt. Then A (x) = and
x) , T+t x) T+ x
cos T 1
A = = -
(m 1+ 1+n

y
59. d 3X dx
dy —
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y
SOLUTION da Xdx =3V,
dy —2

sinx

60. G (x), where G(x) = t3 dt

sin X
SOLUTION Let G(x) = t3 dt. Then

3

. d . .
G (x) =sm3xa sinX = sin® x cos X.

3N
61. G (2), where G(x) = t+1dt
0

VA
SOLUTION LetG(x) = t + 1dt. Then
0

G (x) = x3+ldixx3=3x2 x3+1

2\/_
and G (2) = 3(2)¢ 8+1=36.
91
62. H (1), where H(x) = —dt
4x2 t

9 1 4x2 1
SOLUTION LetH(x) = —dt=— —dt. Then
ax2 t 9 t
1d 5 8x 2
HX)=———4&X"=——5 =—-
) 4x2 dx 4x2 X

and H (1) = —2.

663

63. & Explain with a graph: If f(x) is increasing and concave up on [a, b], then L is more accurate than Ry .

Which is more accurate if f(x) is increasing and concave down?

SOLUTION Consider the figure below, which displays a portion of the graph of an increasing, concave up function.

y

X

The shaded rectangles represent the differences between the right-endpoint approximation Ry and the left-endpoint
approximation L. In particular, the portion of each rectangle that lies below the graph of y = f(x) is the amount
by which Ly underestimates the area under the graph, whereas the portion of each rectangle that lies above the graph
of y = f(x) is the amount by which Ry overestimates the area. Because the graph of y = f(x) is increasing and
concave up, the lower portion of each shaded rectangle is smaller than the upper portion. Therefore, L is more accurate
(introduces less error) than Ry . By similar reasoning, if f (x) is increasing and concave down, then Ry is more accurate

than L.
b 1
64. & Explain with a graph: If f(x) is linear on [a, b], then the f(x)dx = 5(RN + L) forall N.
a
SOLUTION Consider the figure below, which displays a portion of the graph of a linear function.

y
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The shaded rectangles represent the differences between the right-endpoint approximation Ry and the left-endpoint
approximation Ly . In particular, the portion of each rectangle that lies below the graph of y = f(x) is the amount by
which Ly underestimates the area under the graph, whereas the portion of each rectangle that lies above the graph of
y = f(x) is the amount by which Ry overestimates the area. Because the graph of y = f(x) is a line, the lower portion
of each shaded rectangle is exactly the same size as the upper portion. Therefore, if we average Ly and Ry, the error in
the two approximations will exactly cancel, leaving

1 b
~(Ry +Ly) = f(x)dx.
2 a

In Exercises 65-70, use the given substitution to evaluate the integral.

(Inx)2dx
VR

65. u=1Inx

SOLUTION Letu =Inx.Thendu = dx—x, and

Inx)2 dx ud Inx)3
(nx)7dx _ u2du=—+C=( )+C.
X 3 3
dx 2X
66. — U= —
4x2 +9 3
SOLUTION Letu = %X Thenx = %u, dx = %du, and
3
Sdu
I _ 2 =1 du =1tam_1u+C:1tam_1 2 +C.
4x2 +9 4.%u2+g 6 uZ+1 6 6 3
dx
67. —_—, u:ex
eX —1

SOLUTION We first rewrite the integrand in terms of e ™*. That is,

1 1 1 e ¥ dx
—idXx= Y= dXx= —————dX= —
e —1 e2X 1 —e—2x ex 1—e 2 1—e

Now, let u = e™*, Then du = —e™* dx, and
1 du - L1, —
——dx=— —— =—sin"lu+C =—sin 1(e Y+ C.
eX —1 1—u?

costdt
1-t2
SOLUTION Letu =cos™'t. Thendu = —% dt, and

68. , u=cos 1t

-1
cos™ 1t 1 1, _
dt=— udu=—-u2+C =—=(cos 1t)> +C.
1—12 2 2
dt
—  _ u=Int
t(1+ (Int)?)

SOLUTION Letu = Int. Then, du = £ dt and

dt

-~ = 5 = tan~u + C = tan"1(Int) + C.
t(1+ (Int)?) 1+u

70.  sec?(26)tan(260)d6, u = tan(26)
SOLUTION Letu = tan(26). Then du = 2sec?(26) d@ and

sec?(260) tan(26) d6 = udu = %uZ +C= %tanz(ze) +C.

N -
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In Exercises 71-92, calculate the integral.
71, &9 (x

SOLUTION Letu =9 —2x. Thendu = —2dx, and

1 1 1

9—2x — u — u — 9—2x

e dx=—=- e'du=—-e"+C=—-¢ +C.
2 2 2

72, x2e dx
SOLUTION Letu = x3. Then du = 3x2 dx, and

2 3 _1 u _1u _1s
xe®dx == e'du=-e"+C=-¢" +C.
3 3 3

73. e Xsin(e™?)dx
SOLUTION Letu =e™2% Thendu = —2e~2Xdx, and

-2

L 1. cosu 1 _
e X gin g2 dx=—§ sinudu=— +C=>cos e & +C.

2 2

cos(Inx) dx
X

74.

SOLUTION Letu =Inx. Thendu = de and

|
cos(inx) nx)dx = cosudu =sinu+C =sin(Inx) +C.

€ Inxdx
1 X

75.

SOLUTION Letu =Inx.Thendu = dTX and the new limits of integrationareu =Inl1 =0and u =Ine = 1. Thus,

€ Inx dx 1 1,1
= udu==u
1 X 0 2 9

_1
=5

In3 X
76. e* 7% dx
0
SOLUTION Note eX~¢ = eXe™¢". Now, letu = e*. Then du = e*dx, and the new limits of integration are u = e¥ =
1andu =e"3 =3, Thus,

In3 . In3 < 3 3 1 1 3
X7 dx = e dx= e lUdu=——et =—(3-ehHh=el-e3
0 0 1 1
2/3 dx
77. —
/3 1—x2
213 gy IR R B |
SOLUTION =sin"*x =sin" = —sin” =,
/3 1—x2 1/3 3 3
12 dx
78. e —
4 x x2-—1
12 dx 12
SOLUTION =sec 1x =sec 112 —sec 14
4 x x2-—-1 4

/3
79. tan6do
0

n/3 /3

SOLUTION tan6d6 = In|sec 6| =In2—Inl=1In2.
0 0
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2n/3 1
80. cot -6 d6
/6 2
2n/3 1 2n/3 \/§ m
SOLUTION cot =6 df=2Insin=6 =2 In— —Insin— .
/6 2 2 n/6 2
1
81. cos 2t dt
0
1 1 1
SOLUTION cos2tdt = =sin2t = —sin2.
0 2 0o 2
2
82. at
o 4t+12

SOLUTION Letu =4t + 12. Then du = 4dt, and the new limits of integration are u = 12 and u = 20. Thus,

20

1.20 1,5
Inu =-(In20—In12)=-In—=-In-.
( ) 4 4 3

12

NN

=

N
Al

3 xdx

83. —_
0 x2+9

SOLUTION Letu=x2+9. Thendu = 2xdx, and the new limits of integration are u = 9 and u = 18. Thus,

18

1 18 1
Inu = =

IN18—IN9) ==In—==
(In18 —1In9) 2n9 5

In2.

N =
©
N =

3 dx

84. —_
0 X2+9

SOLUTION Letu = % Thendu = de' and the new limits of integration are u = 0 and u = 1. Thus,

3 dx 1 todt 1 ot 1 1 om T
— = =Ztanlt =Z(tanl1—tanlO)=Z — -0 = —.
0 x2+9 3 g t2+1 3 0 3( ) 3 4 12
x dx
85. ———
1—x4
SOLUTION Letu =x2. Thendu = 2xdx,and 1—x%= 1—uZ. Thus,
d 1 d 1. _ 1. _
XX = U = ZSsinlu+C = ZsinL(x?) +C.
1—x4 2 1—u2 2 2
86.  eX10% dx
10e)* (10e)* 10%eX
SOLUTION eX10% dx = 10exdx:( +C= +C = +C.
(10¢) In(10e) In10 +Ine In10+1
in—1
in~1xdx
87. sin”” xdx
1—x2

SOLUTION Letu =sin"1x. Thendu = % dx and
—X

in—1
sinT+x dx 1 1 . 1.2
—_— = udu=—u2+C=—(sm 1x) +C.
1—x2 2 2
88.  tan5x dx
1
SOLUTION tan5x dx = glnlse05x|+c.

89.  sinxcosd x dx
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SOLUTION Letu =cosx. Thendu = —sinx dx and

. 1
sinxcos®xdx =— uddu=--ut+C :_ZCOS

1 dx
0 25— x2

SOLUTION Letx = 5u. Thendx = 5du, and the new limits of integrationareu = 0and u = % Thus,

1 dx 1 Y5 s5du 5 M5 du
0 25—x2 25 9 1—-u?2 25 g 1—u?
1 5 4 1 1 1
= Ztanh~lu =2 tanh 12 —tanh~10 = Ztanh71Z.
5 o 5 5 5 5
4
0 2x2+1

_ V_ V_
SOLUTION Letu= 2x.Thendu = 2dx, and the new limits of integrationareu =0andu =4 2. Thus,

V_ V_
4 gy _42~1—§du_ 42 4y
0 2x2+1 0o u2+1 2 0 Uu2+1
42 V_ A
:a}:tan_lu =a}: tan_1(4 2)—tan_10 :»oL_tan_l(4 2).
2 0 2 2
8 dx
92. R ——
5 x x2—16

SOLUTION Letx =4u. Thendx = 4du, and the new limits of integration are u = % and u = 2. Thus,

8 dx 1 2 du 1 4, % 1 4. 45 1 m _ _45
—_— = = —— = — SeC 1U = — Ssec 12—SEC1— = - ——SeCl—
5 x x2—16 4 514y u2—-1 4 54 4 4 43 4
93. In this exercise, we prove that for all x > 0,
x2
X =~ <In(l+x) =X
X odt
(a) Show thatIn(1+x) = —— forx > 0.
o 1+t
1
(b) Verifythatl —t < T+t <1forallt >0.
(c) Use (b) to prove Eq. (2).
(d) Verify Eg. (2) for x = 0.5, 0.1, and 0.01.
SOLUTION
(a) Letx > 0. Then
X dt X

—— =In(1+t) =In(1+x)—Inl=In(1+x).
) Tt =@+ =h@+x (1+x)
(b) Fort>0,1+t>1,sol—}rt<l. Moreover,(l—t)(1+t)=1—t2<1. Because 1 +t > 0, it follows that

_ 1
1—-t< THt- Hence,

[y

l—t=s—<1.
1+t

(c) Integrating each expression in the result from part (b) fromt = 0tot = x yields

x2
x—7£ln(1+x)sx.
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(d) Forx =0.5,x = 0.1and x = 0.01, we obtain the string of inequalities
0.375 < 0.405465 < 0.5
0.095 < 0.095310 <0.1

0.00995 =<0.00995033= 0.01,

respectively.

94. Let
- X JE—
Fx)=x x2—1-2 t2 — 1dt
1
Prove that F(x) and cosh™1 x differ by a constant by showing that they have the same derivative. Then prove they are
equal by evaluating both at x = 1.

SOLUTION Let

- X -
F(x)=x x2—1-2 t2 — 1dt.
1

Then

2 2
X — X 1

= L 2 x2—-1= - x2-1= .
dx x2—1 x2—1 x2—1

Also, ady(cosh_lx) = %; therefore, F(x) and cosh™1x have the same derivative. We conclude that F(x) and
cosh™1x differ by a constant:

F(x) = cosh™x +C.
Now, let x = 1. Because F(1) = 0 and cosh™ 1 = 0, it follows that C = 0. Therefore,

F(x) = cosh™1x.

95. Let
X dt X
F(x) = — and G(x) = —
) Int ) Inx
. A et . . . F(x)
Verify that L’H6pital’s Rule may be applied to the limit L = Xllmoo W and evaluate L.
SOLUTION Becauset > Int fort > 2,
X dt X dt
F(x) = — > — >lInx.
2 Int 2 t

Thus, F(x) - oo asx — oo. Moreover,

lim G(x) = lim L = lim x =oo0

XLoo (X)_Xiwm_xiwx_ '

. F(x) . . . .
Thus, XI|moo m is of the form co/co, and L’Hopital’s Rule applies. Finally,
1
F In
L= tim F0) = i X gy X
X —-0o0 G(X) X — oo Inx—=1 X—-ooInx —1
(Inx)2

96. The isotope Thorium-234 has a half-life of 24.5 days.
(a) Find the differential equation satisfied by the amount y(t) of Thorium-234 in a sample at time t.
(b) Att =0, a sample contains 2 kg of Thorium-234. How much remains after 1 year?

SOLUTION
(a) By the equation for half-life,

In2 In2
245=—-, k= _—— =0.02 -1,
5 " S0 205 0.028 days

Therefore, the differential equation for y(t) is

y = —0.028y.
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(b) If there are 2 kg of Thorium-234 att = 0, then y(t) = 2e~0-028t_ After one year (365 days), the amount of Thorium-
234 is

y(365) = 2e70-028(365) = 7 99 = 107> kg = 0.0729 grams.

97. The Oldest Snack Food In Bat Cave, New Mexico, archaeologists found ancient human remains, including cobs

of popping corn, that had a C14 to C12 ratio equal to around 48% of that found in living matter. Estimate the age of the
corn cobs.

SOLUTION Lett be the age of the corn cobs. The C14 to C12 ratio decreased by a factor of e ~0-000121t \yhich is equal
t0 0.48. That is:

¢~0.000121t — () 40

so
—0.000121t =In0.48,
and
t= __ In0.48 = 6065.9.
0.000121

We conclude that the age of the corn cobs is approximately 6065.9 years.

98. The C4 to C12 ratio of a sample is proportional to the disintegration rate (number of beta particles emitted per
minute) that is measured directly with a Geiger counter. The disintegration rate of carbon in a living organism is 15.3
beta particles/min per gram. Find the age of a sample that emits 9.5 beta particles/min per gram.

SOLUTION Lett be the age of the sample in years. Because the disintegration rate for the sample has dropped from

15.3 beta particles/min per gram to 9.5 beta particles/min per gram and the C14 to C12 ratio is proportional to the
disintegration rate, it follows that

o—0.000121t _ 9-
15.3’

SO

1 9.5
=———In—= 5.
t 0.000121 : 15.3 3938.5

We conclude that the sample is approximately 3938.5 years old.
99. An investment pays out $5,000 at the end of the year for 3 years. Compute the PV, assuming an interest rate of 8%.

SOLUTION Ifr = 0.08, the PV is equal to the following sum:

PV =5000e %8 + 5000 082 + 5000e 0983 = 5000(e 098 + e 7016 + £7024) = $12,809.44.

100. Use Eq. (3) of Section 5.8 to show that the PV of an investment which pays out income continuously at a constant

_aIT
rate of R dollars/year for T years is PV = Rf' where r is the interest rate. Use L’Hopital’s Rule to prove that
the PV approaches RT asr — 0.
SOLUTION By Eq. (3) of Section 5.8,
T R T R
PV=  Re'ldt=—e" =Z(@-e¢"T).
0 T o T
Using L’Hépital’s Rule,
R(1—¢e T =T
fim REZE ) _ i RTE oy
r-0 r r-0 1
101. In a first-order chemical reaction, the quantity y(t) of reactant at time t satisfies y = —ky, where k > 0. The

dependence of k on temperature T (in kelvins) is given by the Arrhenius equation k = Ae~Ea/(RT) \where E, is the
activation energy (J-mol™1), R = 8.314 J-mol~1-K~1, and A is a constant. Assume that A = 72 < 1012 hour~! and

Ea = 1.1 x 10°. Calculate a7 for T = 500 and use the Linear Approximation to estimate the change in k if T is raised
from 500 to 510 K.
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SOLUTION Let
k = Ae—Ea/(RT).
Then

dk _ ABa —E./(RT)
dT  RT2

For A=72x 1012 R =8.314 and E5 = 1.1 x 10° we have

1.1x10° 1.32x10%
dk _ 72x10%.11x10%e” B30T 953 x 10e” T
daT 8.314 T2 T2
The derivative for T = 500 is thus
%104
dk _9.53x 1017e~ 550"

- = i =12.27 hours 1K1,
dT 12500 500

Using the linear approximation we find
__dk

= - (510 — 500) = 12.27 - 10 = 122.7 hours™ L.
dT 1=s500

102. Find the interest rate if the PV of $50,000 to be received in 3 years is 43,000.
SOLUTION Letr denote the interest rate. The present value of $50,000 received in 3 years with an interest rate of r is
50000e ~3r . Thus, we need to solve

43000 = 50000 3"

for r. This yields

r=—21n % 2 00503
~ 3850 T

Thus, the interest rate is 5.03%.

103. An equipment upgrade costing $1 million will save a company $320,000 per year for 4 years. Is this a good
investment if the interest rate is r = 5%? What is the largest interest rate that would make the investment worthwhile?
Assume that the savings are received as a lump sum at the end of each year.

SOLUTION With an interest rate of r = 5%, the present value of the four payments is

$320,000 e7005 4 701 4 =015 4 ¢=0.2 _ g1 131 361.78.

As this is greater than the $1 million cost of the upgrade, this is a good investment. To determine the largest interest rate
that would make the investment worthwhile, we must solve the equation

320000 e " +e % +e7% + ™4 = 1000000

for r. Using a computer algebra system, we find r = 10.13%.

104. Calculate the limit:
) 4"
(@ nll,moo 1+ -
1 4n
(b) nll,moo 1+ -
. 4 30
(©) nllqm(>c> 1+ -

SOLUTION
4 n 1 n/4 4 4
i + — = i + — =
(@) n|Lm°o 1 - nILmoo 1 i e”.
4n 1N 4
(b) lim 1+ - = lim 1+ = =e*
n- oo n n- oo n
3n 1 n/a 12 1
. L4 — L+ L —el2
(@) nllmoo 1 - nILmOo 1 74 e



